Format for Advertisement in Website

Notice for appointment of Regular / Rural Retail Outlet Dealerships

HPC proposes to appoint Retail Outlet dealers in KARNATAKA STATE, as per following details:

| SI. No | Name of location | Revenue District | Type of RO | Estimated monthly Sales Potential # | Category | Type of Site* | | imension (in M site (in Sq. M.). | | Finance to b | e arranged by | Mode of Selection | Fixed Fee / Minimum Bid amount | Security Deposit |
|--------|---|------------------|--------------------|--|--|---------------|----------|-------------------------------------|------|--|--|------------------------|--------------------------------------|---------------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | | 8 | | 9a | 9b | 10 | 11 | 12 |
| | | | Regular / Rural | MS+HSD in KLs | SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH | CC / DC / CFS | Frontage | Depth | Area | Estimated working capital requirement for operation of RO | Estimated fund required for development of infrastructur e at RO | Draw of Lots / Bidding | | |
| 1 | On Bannerghatta Road on either side, from St Hopkins MBA College to Vega City Mall towards Bannerghatta, Bangalore | BENGALURU | REGULAR | 250 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 2 | On any main Road in Wilson Garden, Lalbhag and Shanthi nagar, Bangalore | BENGALURU | REGULAR | 250 | ОВС | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 3 | On ORR RHS, from Marathalli Junction to B Narayana Pura Bus Stop towards KR Puram, Banaglore | BENGALURU | REGULAR | 250 | SC | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 4 | On Marenahalli Main Road and 100 Feet Main Road on either side, from Banashankari Bus Stop to Silk Board, Bangalore | BENGALURU | REGULAR | 250 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 5 | On ORR on either side, from Silk Board junction to Intel Ring Road bus stop towards Marathalli, Bangalore | BENGALURU | REGULAR | 250 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 6 | On Kodigehalli Main road from Glen Classic, House of Hiranandani to Bhadrappa Layout Service Road Junction | BENGALURU | REGULAR | 250 | OBC | сс | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 7 | On ORR on either side, from Kasturi Nagar park to Manyata Tech Park Bus Stop towards Hebbal, Bangalore | BENGALURU | REGULAR | 250 | SC | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 8 | On ORR on either side, from Intel Ring Road Bus Stop to Marathalli Jn towards KR Puram, Bangalore | BENGALURU | REGULAR | 250 | OPEN | DC | 16 | 20 | 320 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 9 | On ORR on either side, from Hebbal Junction to Jalahalli Village Gate Bus Stop towards Yeshwanthapur, Bangalore | BENGALURU | REGULAR | 250 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 10 | On SH 33 on RHS within 2 kms from Mellahalli towards Maddur On Jambusavari Dinne Main road on either side, | MANDYA | REGULAR | 120 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 11 | from BK Circle bus stop to Jambu Savari Dinne Bus Stop, Bangalore | BENGALURU | REGULAR | 250 | OPEN | СС | 16 | 20 | 320 | 32 | 12 | BIDDING | 30 | 5 |
| 12 | On Kanakapura Road on either side, from Yediyur Lake to JP Nagar Metrol Station, Bangalore | BENGALURU | REGULAR | 250 | ST | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 13 | On any main Road in Richmond town, Ashok Nagar, Bangalore On any main Road in Basavangudi, Tyagaraja nagar | BENGALURU | REGULAR | 250 | OBC | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 14 | on any main koad in Basavangudi, Tyagaraja nagar and Parvathipuram, Bangalore On Bannerghatta Main Road on either side, from | BENGALURU | REGULAR | 250 | OPEN CC 1 | cc | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 15 | Vega City Mall to Royal Meenakshi Mall towards Bannerghatta, Bangalore | BENGALURU | REGULAR | 250 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 16 | On ORR on eirther side, from Manyata Tech Park Bus Stop to Hebbal Junction, Bangalore | BENGALURU | REGULAR | | SC | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 17 | On MCECHS Layout main Road On Bannerghatta Main Road on either side, from | BENGALURU | REGULAR | 150 | OBC | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 18 | Royal Meenakshi Mall to Nice Road towards Bannerghatta, Bangalore | BENGALURU | REGULAR | 250 | OPEN | сс | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 19 | On Kanakapura Main Road RHS, from JP Nagar Metro station to Vajrahalli Metro Station, Bangalore | BENGALURU | REGULAR | 250 | OPEN | сс | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 20 | On Gottigere Road on either side, from HM World City to Bannerghatta Main Road, Gottigere, Bangalore | BENGALURU | REGULAR | 250 | ST | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 21 | On any Main Road in Peenya, Bangalore North Taluk | BENGALURU | REGULAR | 230 | OBC | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 22 | On Kanakapura Road LHS, from Nice Road Junction to Kaggalipura, Bangalore | BENGALURU | REGULAR | 250 | OPEN | сс | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 23 | On any main Road in Hongasandra, Arekere, Bommanahalli and Bilekahalli, Bangalore | BENGALURU | REGULAR | 250 | OPEN CC 2 | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 24 | On RHS of NH 648 from Doddaballapur Town to Doddabelavangala Village | BENGALURU RURAL | REGULAR | 210 | OBC CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 25 | On Any Main Road in Jayanagar, JP Nagar (1st, 2nd and 3rd phase) and Tavarekere, Bangalore | BENGALURU | REGULAR | 250 | SC CC 1 | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 26 | On any main Road in Banaswadi, Kalyan Nagar, Kasturi Nagar and HRBR Layout, Bangalore On Anjanapura Main Road and Swamy | BENGALURU | REGULAR | 250 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 27 | On Anjanapura Mann Roda and Swamy Vivekananda Rd on either side, comnnesting Kanakpura Road and Nice Road, 9th phase JP Nagar, Bangalore | BENGALURU | REGULAR | 250 | OPEN | сс | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |

| | ON NH-69, LHS WITHIN 2 KM ON EITHER SIDE OF | | 1 | | | | | 1 | 1 | | 1 | 1 | | |
|----------|---|------------------------------------|--------------------|------------|------------|-----------|----------|----------|-------------|---------|---------|-------------------------|---------|---|
| 28 | KADIRINAYAKANAHALLI VILLAGE (CHINTAMANI ROAD) | CHIKKBALLAPURA | REGULAR | 150 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 29 | On HAL Old Airport Road on either side, from Marathalli Junction to Shoolay Circle, Bangalore | BENGALURU | REGULAR | 250 | SC | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 30 | On Kothnur Main Road on either side, connecting Road between Outer Ring Road and Bannerghatta Road, JP Nagar, Bangalore | BENGALURU | REGULAR | 250 | OPEN | сс | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 31 | On Any Main Road in Banashankari (stage one, two and three) and padmanabha nagar, Bangalore | BENGALURU | REGULAR | 250 | OPEN | СС | 16 | 20 | 320 | 32 | 12 | BIDDING | 30 | 5 |
| 32 | On NH 948 (Old NH 209) between Thoraikadanahalli Vill and Dalavaikodihalli Vill on RHS towards Kanakpura | MANDYA | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 33 | On Any Main Road in Banashankari (stage four, five and six), Turahalli and Hosahalli, Bangalore | BENGALURU | REGULAR | 250 | OPEN | сс | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 34 | On any main Road in Begur and Basapura, Bangalore | BENGALURU | REGULAR | 250 | SC | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 35 | On any main Road in BTM Layout, Bangalore | BENGALURU | REGULAR | 250 | OPEN | CC | 15 | 20 | 300 | 32 | 12 | BIDDING | 30 | 5 |
| 36 | On any main road in Nagavara, Kodugondanahalli, HBR Layout and Devara Jeevanahalli, Bangalore | BENGALURU | REGULAR | 250 | ОВС | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 37 | On any main Road in Koramangala, Adugodi and Madiwala, Bangalore | BENGALURU | REGULAR | 250 | OPEN CC 1 | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 38 | On any main Road in RT Nagar, Hebbal and Ganga Nagar, Bangalore | BENGALURU | REGULAR | 250 | SC | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 39 | On Hosur Road on either side, from Madiwala Checkpost to Singasandra Metro Station, Bangalore | BENGALURU | REGULAR | 250 | OBC | сс | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 40 | On any main Road in Bellandur, Yamlur, Kempapura, Murugeshpalya Bangalore | BENGALURU | REGULAR | 250 | OPEN | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 41 | On any main Road in Malleshwaram, Sheshadripuram, Srirampuram, Bangalore | BENGALURU | REGULAR | 250 | OPEN | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 42 | On Hosur Road RHS, from Singasandra Metro Station to Beratena Agrahara Metro Station, Bangalore | BENGALURU | REGULAR | 250 | OBC | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 43 | On Any Main Road in Sanjay Nagar, RMV 2nd Stage, BEL Road and Mathikere, Bangalore | BENGALURU | REGULAR | 250 | SC | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 44 | On any main Road in Rajaji Nagar, Bangalore Hagadur Main Road, On RHS from | BENGALURU | REGULAR | 250 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 45 | Gangadareshwara Temple upto junction with Whitefield Road | BENGALURU | REGULAR | 250 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 46 | On Any Main Road in JP Nagar (4th to 9th phase), Konanakunte and Kothnur Bangalore | BENGALURU | REGULAR | 250 | OBC | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 47 | On any main Road in Halasuru, Indira nagar, Domlur, CV Raman Nagar and Bypanahalli, Bangalore | BENGALURU | REGULAR | 250 | SC | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 48 | On any main Road in Anjanapura, Anjanapura 80ft road, Gottigere and Golahalli, Bangalore | BENGALURU | REGULAR | 250 | OPEN | CC | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 49 | On Mysore Road on either side, from Hudson Circle to Gali Anjaneya Temple, Bangalore | BENGALURU | REGULAR | 250 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 50 | On any main Road in Vasanth Nagar, JC Nagar and Shivaji Nagar, Bangalore | BENGALURU | REGULAR | 250 | OBC PH | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 51 | On Old Madras Road on either side, from Tin Factory to Anil Kumble Circle towards MG Road, Bangalore | BENGALURU | REGULAR | 250 | SC PH | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 52 | On any main Road in Chamrajpet, Chickpet and KR Market, Bangalore | BENGALURU | REGULAR | 250 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 53 | On Hosur Road, either side from Beratena Agrahara Metro Station to Electronic City Toll Plaza, Bangalore | BENGALURU | REGULAR | 250 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 54 | On Kanakapura Road RHS, from Nice Road Junction to Kaggalipura, Bangalore | BENGALURU | REGULAR | 250 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 55 | On Kanakapura Road on either side, from Kaggalipura to Kaggalahalli towards kanakapura, Bangalore | BENGALURU | REGULAR | 250 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 56 57 | On NH 648 , RHS from Hoskote to Vabasandra On SH 82 , from Pilugumpe to Karapanhalli | BENGALURU RURAL BENGALURU RURAL | REGULAR REGULAR | 150 100 | ST OPEN | CFS CC | 35 30 | 35 30 | 1225 900 | 0 32 | 0 12 | DRAW OF LOTS BIDDING | 0 30 | 3 |
| 58 | On any main Road in Hulimavu, Akshaynagar and | BENGALURU | REGULAR | 250 | OBC | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 59 | Devarachikkana Halli, Bangalore On main road , Kithaganur to Garden City University Campus | BENGALURU | REGULAR | 150 | OPEN | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 60 | On Hennur Bagalur Road LHS from Hennur Outer Ring Road junction to Bagaluru Police Station | BENGALURU | REGULAR | 150 | SC | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 61 | On any main Road in Jayamahal, Contonment, Pulikeshi Nagar and Richards Town, Bangalore | BENGALURU | REGULAR | 250 | ОВС | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 62 | On Ajgondhalli Main Road ,On RHS From Vallepura police checkpost to Muneshwara Swamy Temple | BENGALURU | REGULAR | 150 | OPEN | DC | 18 | 18 | 324 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 63 | On NH 75 , LHS from Gottipura Gate to M.Hosahalli towards Kolar | BENGALURU RURAL | REGULAR | 150 | OPEN CC 1 | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 64 | On any main Road in Uttarahalli and Hosakerehalli, Bangalore On either side of ITPL Main road from | BENGALURU | REGULAR | 250 | ОВС | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 65 | Garudacharapalya metro station to Kadugodi Tree Park Metro Station | BENGALURU | REGULAR | 150 | SC | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 66 | On Jigani link Road , from Bommasandra to APC Circle | BENGALURU | REGULAR | 150 | OPEN | сс | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 67 | On 150 feet road from Outer Ring Road to Gunjur | BENGALURU | REGULAR | 150 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 68 | On any main Road in Bettadasanapura, Mylasandra and Vittasandra, Bangalore | BENGALURU | REGULAR | 250 | OBC | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 69 | On LHS Kadugodi Hoskote Road , In between seegehalli Thopu to kannmangala | BENGALURU | REGULAR | 100 | ST | CFS | 20 | 20 | 400 | 0 | 0 | DRAW OF LOTS | 0 | 3 |

| | I | | 1 1 | | | | 1 | | | 1 | | ı | | 1 |
|----------|---|-----------------------|--------------------|------------|--------------|-----------|----------|----------|-------------|----------|----------|-------------------------|----------|--------|
| 70 | On SH 104 , from Bandi Kodigehalli Palya upto junction with NH648 | BENGALURU RURAL | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 71 | On SH 3 , On LHS Within 2 km From Hosakere | | | | | | | | | | | | | _ |
| 72 | towards Padasalahatti On NH, Within 2 km from Huliyar Town Limits | TUMAKURU TUMAKURU | REGULAR REGULAR | 100 150 | OPEN OPEN | CC DC | 30 35 | 30 35 | 900 1225 | 32 32 | 12 95 | BIDDING DRAW OF LOTS | 30 15 | 5 |
| 73 | On any main road in Jagjeevanram Nagar, Binnipete, Doddadahalli and Padarayana pura, | BENGALURU | REGULAR | 250 | OBC CC 1 | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 74 | Bangalore On Gunjur-Kodati Gate - Mullur Road from Kodati | BENGALURU | REGULAR | 150 | ST CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | Gate to Gunjur On Bagalur main road from Bagalur to NH44 | | | | | | | | | | | | | |
| 75 | Junction | BENGALURU | REGULAR | 150 | OPEN PH | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 76 | On any main Road in Kaggadaspura, Doddanekundi and B Narayanapura, Bangalore | BENGALURU | REGULAR | 250 | OBC | CC | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 77 | On NH648, Bagalur Sarjapur Road | BENGALURU | REGULAR | 150 | OPEN | CC | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 78 | Below Cable Bridge in between ITI B Area Gate to cable bridge underpass (Old Madras Road) | BENGALURU | REGULAR | 150 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 79 | On Tumkur - Hagalwadi Road , Within 3 km From Appinayakanahalli Village towards Bellavi | TUMAKURU | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 80 | On Kanakapura Road on either side, from Vajrahalli Metro Station to Nice Road Junction, Bangalore | BENGALURU | REGULAR | 250 | ОВС | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 81 | On NH 544E , On both sides From Aiynahalli to | | | | | | | | | | | | | |
| | Lakshmipura 2 km in Tumkur District. | TUMAKURU | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 82 | From Town Hall Circle to KSPCB Office, Tumkur City | TUMAKURU | REGULAR | 150 | OPEN | DC | 24 | 24 | 576 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 83 | On NH 75 , On LHS from Gangapura to Poojaramanahalli towards Hoskote | BENGALURU RURAL | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 84 | On NH 75 , LHS from Mugabala to Kolathur towards Hoskote | BENGALURU RURAL | REGULAR | 150 | OBC | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 85 | On NH73, On LHS within 2 km From Gubbi | | | | | | | | | | | | | |
| | towards Nittur. On Huskur Road from Huskuru to junction of NH44 | TUMAKURU | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 86 | (Electronic city) | BENGALURU | REGULAR | 100 | OPEN CC 1 | DC | 18 | 18 | 324 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 87 | Anywhere on Ramamurthy Nagar main road Bangalore | BENGALURU | REGULAR | 150 | ST | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 88 | On any Main Road in Kalkere NRI Layout Bengaluru | BENGALURU | REGULAR | 200 | ОВС | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 89 | On SH3 , On LHS Within 2 km from Korategre By | T. 11.44 (V.10.1) | DE C 4 D | 400 | 0.0511 | 200 | 20 | 20 | 200 | 22 | 7. | DD 4111 OF 1 OF | 45 | _ |
| | pass Junction (Mudlapanne) towards Urdigere On Gunjur - Doddakannelli Road , From Carmelram | TUMAKURU | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 90 | Gate to SH35 Junction (Gunjur) | BENGALURU | REGULAR | 150 | OPEN OBC | CC | 35 | 35 18 | 1225 324 | 32 32 | 12 | BIDDING | 30 | 5 |
| 91 92 | On Sampigehalli Main Road On NH 150A, On LHS within 3 Km. from KB Cross | BENGALURU | REGULAR | 150 | OBC | CC | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 93 | towards Turuvekere On SH 87 , Anekal to Tamil Naidu Border | TUMAKURU BENGALURU | REGULAR REGULAR | 150 100 | SC OPEN | CFS CC | 35 30 | 35 30 | 1225 900 | 0 32 | 0 12 | DRAW OF LOTS BIDDING | 0 30 | 3 5 |
| 93 | On Silver Oaks Main Road, LHS from Mukeem | BENGALORO | REGULAR | 100 | OPEN | CC | 30 | 30 | 900 | 52 | 12 | BIDDING | 30 | 3 |
| 94 | Nursery upto junction with Gunjur Panathur Main Road | BENGALURU | REGULAR | 150 | OPEN | CC | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 95 | On SH3 , From chikkahalli, Pavagada Taluk to AP border | TUMAKURU | REGULAR | 150 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 96 | On SH84 , On LHS Within 2 km From Amrutur Village towards Arjunahalli | TUMAKURU | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 97 | On SH95 , LHS From ITC ICML factory to Kattegenhalli cross | BENGALURU RURAL | REGULAR | 150 | OPEN | СС | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 98 | On RHS from Kattamnallur to Hope farm on white | BENGALURU | REGULAR | 150 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 99 | field - Hoskote Road On SH 95 , LHS Within 4 Kms from Hoskote to | BENGALURU RURAL | REGULAR | 150 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| | Malur On Varanasi to Kanaka Nagar circle road in | | | | | | | | | | | | | |
| 100 | between Varnasi village to Puttaswamy layout | BENGALURU | REGULAR | 150 | ST | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 101 | On NH44 , LHS of road from Chandapura Circle to Attibele Toll towards Hosur | BENGALURU | REGULAR | 150 | OPEN | CC | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 102 | On either side of whitefield main road from Hope farm to Varthur Kodi | BENGALURU | REGULAR | 150 | ОВС | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 103 | On Medahalli to Belathur main Road , From Belathur Village to NH 75 junction | BENGALURU | REGULAR | 150 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 104 | On NH44 , LHS of road from Attibele Toll to Chandapura Circle towards Bengaluru | BENGALURU | REGULAR | 150 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 105 | On Main Road , Within 1 km from Virupasandra Villlage towards AP Border (Honnampalli) | TUMAKURU | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 106 | On NH44 , LHS of road from Chandapura Circle to | BENGALURU | REGULAR | 150 | OBC | CC | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 4 |
| - | Electronic City Toll towards Bengaluru On SH 104A Budigere road , LHS From Saint | | | | | | | | | | | | | |
| 107 | Gobain factory to Mandur Village | BENGALURU RURAL | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 108 | On NH 648 , LHS From J.I. Shotra Thellohalli to Balepura Towards Hoskote | BENGALURU RURAL | REGULAR | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 109 | On SH 71 , Within 2 km From Lakkihalli towards Tiptur | TUMAKURU | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 110 | On NH 648 , Thirumashettyhalli Cross to Hoskote Cross | BENGALURU RURAL | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 111 | On NH 648 , LHS From Balepura to Channahalli Towards Devanhalli | BENGALURU RURAL | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 112 | K.NARAYANAPURA ROAD (BETWEEN THANISANDRA MAIN ROAD JN AND HENNUR- BAGALUR ROAD JN) | BENGALURU | REGULAR | 150 | OPEN CC 1 | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 113 | On NH44 , On LHS from Electronic City Toll to | BENGALURU | REGULAR | 150 | OBC | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 4 |
| 114 | Chandapura Circle towards Hosur On BIAL Cargo Road/ Any major Road | BENGALURU RURAL | REGULAR | 100 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 115 | On NH 75 , LHS from Poojaramanahalli to | BENGALURU RURAL | REGULAR | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 116 | Gangapura towards Kolar On NH 44 on either side from Yelankha to | BENGALURU | REGULAR | 320 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 1 | Devanahalli Toll Plaza | SENGALONO | GOLAIN | 320 | JI LIV | | ,,, | | 1223 | 32 | 12 | SIDDIING | 3 | |

| | On NH 948A (Old SH35) , On RHS from Sarjapura | | | | | | | | | | | | | |
|-----|--|-----------------------|---------|------------|------------|-----|----------|----------|-------------|----|----------|--------------------|------|--|
| 117 | police Station to Attibele NH Junction | BENGALURU | REGULAR | 150 | OBC | DC | 30 | 30 | 900 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 118 | On SH 74 from Heggadihalli to Beedikere Colony On LHS of NH 44 from Dasarahalli Village Cross to | BENGALURU RURAL | REGULAR | 180 | SC | CFS | 25 | 25 | 625 | 0 | 12 | DRAW OF LOTS | 0 | 3 |
| 119 | Venkatagiri Kote Cross On RHS of NH 44 from Devanahalli Railway station | BENGALURU RURAL | REGULAR | 247 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 120 | to Venkatagirikote Cross | BENGALURU RURAL | REGULAR | 298 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 121 | On Kogilu Main Road from Kogilu Cross upto junction with SH104 | BENGALURU | REGULAR | 150 | OBC | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 122 | On NITTE Meenakshi College Road, both sides from NCC Urban Misty Woods to Gantiganahalli | BENGALURU | REGULAR | 159 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 123 | On Any main road in Nelamangala Town Municipal | BENGALURU RURAL | REGULAR | 130 | SC CC 1 | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 124 | On IVRI Road from CRPF Yelhanka to | BENGALURU | REGULAR | 180 | OPEN CC 2 | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | Ramagondanahalli On Doddakannelli-Kadubeesanahalli road , from | BENGALONO | KEGOLAK | 100 | OI EN CC 2 | DC | 10 | 10 | 324 | 32 | ,,, | DIAW OF LOTS | - 13 | |
| 125 | ORR NH junction to Carmelram Sub Post Office | BENGALURU | REGULAR | 150 | OBC CC 1 | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 126 | Doddakanelli Via AET Junction On RHS of SH9 from Kelaginajuganahalli Village to | BENGALURU RURAL | REGULAR | 150 | OPEN | DC | 25 | 25 | 625 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 127 | Vaddarahalli Village On LHS of NH 648 from Devanahalli village to | BENGALURU RURAL | REGULAR | 188 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | Nagadenahalli On SH35 , From Dommasandra Gate to Varthur | | | | | | | | | | | | | |
| 128 | Police Station | BENGALURU | REGULAR | 150 | OBC | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 129 | On SH 85 Magadi Main Road, On either side from Chikkagollarahatti to Satya Kamakshi Temple | BENGALURU | REGULAR | 169 | OPEN | сс | 25 | 25 | 625 | 32 | 12 | BIDDING | 30 | 5 |
| 130 | On Any Main road in Kodigehalli,Bangalore North Taluk | BENGALURU | REGULAR | 250 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 131 | On SH35 , On either side of road from Attibele to Anekal Court | BENGALURU | REGULAR | 150 | ОВС | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 132 | On Thindlu Main Road from Railway gate,Kodigehalli to Thindlu circle | BENGALURU | REGULAR | 250 | SC | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 133 | On 100 ft Road, from Visveshwaraya Layout to KLE | BENGALURU | REGULAR | 350 | OPEN | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 134 | Society Law College On RHS of SH 85 from Thavarekere to Kadabgere | BENGALURU | REGULAR | 220 | OPEN | DC | 25 | 25 | 625 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 135 | Cross On KV Jairam Road (Jakkur Road) | BENGALURU | REGULAR | 150 | OBC | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 136 | On Any main road in Bagalkunte,Bangalore North | BENGALURU | REGULAR | 320 | SC | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 137 | Taluk On NH73 , On LHS within 3 km From Kere kodi | | | | | | | | | | | | | |
| 138 | circle towards Arasikere On MC Modi Hospital Road from Shankar Mutt | TUMAKURU BENGALURU | REGULAR | 150 240 | OPEN CC 1 | СС | 35 18 | 35 18 | 1225 324 | 32 | 12 12 | BIDDING BIDDING | 30 | 5 |
| | Chowk to Star Circle On RHS of NH 44 from Devanahalli Toll Plaza to | BENGALURU | | | | | | | | | | | | |
| 139 | Devanahalli Railway Station | BENGALURU RURAL | REGULAR | 260 | OBC | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 140 | On RHS of NH 75 from Nelamangala town to Srinivasapura cross, Bhavikere | BENGALURU RURAL | REGULAR | 250 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 141 | On RHS of NH 48 from Yedehalli village to Hale Nijagal Village | BENGALURU RURAL | REGULAR | 350 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 142 | On NH 75 from Srinivasapura cross, Bhavikere to Seetharam Bhattarapalya | BENGALURU RURAL | REGULAR | 250 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 143 | On RHS of NH 648 from Devanahalli Village to | BENGALURU RURAL | REGULAR | 161 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 144 | Nagadenahalli On Any Main road in Rajrajeshwari | BENGALURU | REGULAR | 220 | OPEN | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| | nagar,Bangalore South Taluk On LHS of SH104 from Neeleri Railway Gate to | | REGULAR | 350 | SC | CFS | 25 | 25 | 625 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 145 | Gnana Deepa Academy Residential School On SH3 , On Pavagada - Bellary Road , Within 3 km | BENGALURU | NEGULAR | 350 | 2C | CFS | 25 | 25 | 025 | U | U | DRAW OF LOTS | U | 3 |
| 146 | From Pavagada Town towards Kalyandurg | TUMAKURU | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 147 | On Andrahalli Main Road between Sri Garudappa Circle and Ganga International School and PU College | BENGALURU | REGULAR | 230 | OBC | сс | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 148 | On LHS of NH 48 from Thippagondanahalli Village to Nelamangala toll plaza | BENGALURU RURAL | REGULAR | 350 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 149 | On Any main road in Yelhanka New town On Ananthapura road from Prestige Monte | BENGALURU | REGULAR | 180 | SC PH | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 150 | Carlo,Yelhanka to Ramagondanahalli | BENGALURU | REGULAR | 180 | OBC PH | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 151 | On RHS of NH 48 fromThippagondanahalli Village to Nelamangala Toll Plaza | BENGALURU RURAL | REGULAR | 350 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 152 | On LHS of NH 48 from Madanayakanhalli to Harsha Hospital,Nelamagala | BENGALURU RURAL | REGULAR | 380 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 153 | On LHS of SH 85 from Kachohalli to Tavarekere | BENGALURU | REGULAR | 220 | OBC | DC | 25 | 25 | 625 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 154 | On RHS of NH 275 from Sri Panchamukhi Ganesh Temple,Kengeri to Kaniminike Toll Plaza | BENGALURU | REGULAR | 300 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 155 | On LHS of NH 275 from Sri Panchamukhi Ganesh Temple,Kengeri to Kaniminike Toll Plaza | BENGALURU | REGULAR | 300 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 156 | On LHS of NH 75 from Nelamangala town to Srinivasapura cross, Bhavikere | BENGALURU | REGULAR | 220 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 157 | On Huskur road from NH 48 junction to Tata Value | BENGALURU | REGULAR | 230 | OBC | DC | 18 | 18 | 324 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 158 | Homes New Haven Bengaluru On RHS of NH 48 from Thippagondanahalli Village | BENGALURU RURAL | REGULAR | 350 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 159 | to Yedahalli Village On Main Road from Kumbalgodu to Devagere via | | | | | | | | | | | | | |
| | Tagachaguppe On Neelamangala Road from Sondekappa to | BENGALURU | REGULAR | 170 | OPEN | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 160 | Thavarekere,Magadi Road | BENGALURU | REGULAR | 150 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 161 | On SH74 from Gadigarapalya Village to Nelamangala Town | BENGALURU RURAL | REGULAR | 110 | OPEN | DC | 25 | 25 | 625 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 162 | On LHS of NH 48 from Yedehalli Village to Hale Nijagal Village | BENGALURU RURAL | REGULAR | 350 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 163 | On LHS of SH 74 from Heggadihalli to Melekote Cross | BENGALURU RURAL | REGULAR | 240 | SC | CFS | 25 | 25 | 625 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 164 | On Pipeline Road from Bovipalya to Cauvery | BENGALURU | REGULAR | 240 | OPEN CC 1 | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | nagara,Basaveshwarnagar | | | | 1 | | 0 | 0 | | | | 5. 2015 | | ــــــــــــــــــــــــــــــــــــــ |

| | On LHS of NH 48 from Thippagondanahalli Village | 2510411211212 | DEC. 40 | 250 | 000 | | 25 | 25 | 4225 | 22 | 4.2 | nunnung. | 20 | |
|------------|---|-----------------|--------------------|-----|-------------|----------|----|----------|------|----------|----------|---------------------------|----------|--------|
| 165 | to Yedehalli Village | BENGALURU RURAL | REGULAR | 350 | OBC | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 166 | On Lakshmipura road from Tumkur Road to Gangadonahalli | BENGALURU | REGULAR | 160 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 167 | On RHS of NH 648 from Muddalinganahalli Village to Dobbaspet Village | BENGALURU RURAL | REGULAR | 210 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 168 | On Any Main road in Rajarajeshwari | BENGALURU | REGULAR | 180 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 160 | Nagar,Bangalore South Taluk On RHS of NH 48 from Madanayakanhalli to | | | | ODC | | | | | | | | | |
| 169 | Harsha Hospital, Nelamagala On Dr. Vishnu Vardhan Road from Mysore Road to | BENGALURU RURAL | REGULAR | 380 | OBC | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 170 | BGS Hospital junction | BENGALURU | REGULAR | 210 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 171 | On Amma Ashrama Main Road from Amma Ashrama Cross to Dodda Basti Main Road | BENGALURU | REGULAR | 170 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 172 | On LHS of NH 648 from Doddaballapur Town to | BENGALURU RURAL | REGULAR | 210 | SC CC 1 | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 173 | Doddabelavangala Village On LHS of SH9 from Kelaginajuganahalli village to | BENGALURU | REGULAR | 230 | OBC CC 1 | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| | Vaddarahalli village On LHS of NH 648 from Doddabelavangala Village | | | | | | | | | | | | | |
| 174 | to Muddalinganahalli Village | BENGALURU RURAL | REGULAR | 210 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 175 | On any Main Road in Sunkadakatte, Bengaluru | BENGALURU | REGULAR | 200 | OPEN PH | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 176 | ON NH-69, WITHIN 2 KM FROM BOYINACHAPALLI VILLAGE TOWARDS CHINTAMANI | KOLAR | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 177 | On Kengeri Kommaghatta road from Surana | BENGALURU | REGULAR | 190 | OBC | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| | college,Kengeri to Sulikere ON SH-82, UPTO 2 KM FROM RAYALPADU X ROAD | DENGALONO | | | | | | | | | | | | |
| 178 | TOWARDS MADANAPALLI | KOLAR | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 179 | On HMT main road between HMT Hospital and National Institute of Design, Yeshwanthpur | BENGALURU | REGULAR | 350 | OBC | CC | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 180 | ON SH-99, WITHIN 2KM FROM BYRAGANAHALLI VILLAGE TOWARDS B.KOTHAKOTA ROAD | KOLAR | REGULAR | 100 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 181 | FROM PARSWAGANAHALLI VILLAGE TO | | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 182 | MUDUVATHI VILLAGE ON SH-99 CHINTAMANI TOWN LIMITS ON ANY MAIN ROAD | KOLAR | DECILIAD. | 100 | OPEN | DC | 24 | 24 | F76 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| | (NOT ON NH/SH) ON NH42, BOTH SIDES FROM MITTAKOTHUR TO J | CHIKKBALLAPURA | REGULAR | | | | | | 576 | | | DRAW OF LOTS | | |
| 183 | K PURAM | KOLAR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 184 | On any Main Road in Rajgopala Nagar, Bangalore North Taluk | BENGALURU | REGULAR | 200 | OBC | CC | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 4 |
| 185 | ON NH-75, LHS WITHIN 2 KMS FROM NANGLI TOLL PLAZA TOWARDS BANGALORE | KOLAR | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 186 | FROM CHIKKAIGGALURU VILLAGE TO MASTI ON | | REGULAR | 100 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| | MALUR - MASTI ROAD ON SH-96, WITHIN 2 KM ON EITHER SIDE OF | KOLAR | | | | | | | | | | | | |
| 187 | VEMGAL NARSAPURA X ROAD | KOLAR | REGULAR | 100 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 188 | On NH 48, From Kallembella to Emmerahalli, RHS towards Sira | TUMAKURU | REGULAR | 150 | ОВС | сс | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 189 | On SH 84 Within 3 km From Chelur Village circle towards kallembella | TUMAKURU | REGULAR | 100 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 190 | ON NH-75 LHS, FROM HALEKUPPA VILLAGE TO | | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| | NANGLI TOLL PLAZA ON NH-69, LHS WITHIN 2 KM ON EITHER SIDE OF | KOLAR | | | | | | | | | | | | |
| 191 | ALAMBAGIRI VILLAGE CHINTHAMANI - SRINIVASAPURA ROAD | KOLAR | REGULAR | 150 | OBC | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 192 | KOLAR CITY LIMITS ON ANY MAIN ROAD | KOLAR | REGULAR | 100 | OPEN | DC | 24 | 24 | 576 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 193 | CHIKKABALLAPUR TOWN LIMITS ON ANY MAIN ROAD | CHIKKBALLAPURA | REGULAR | 100 | OPEN | DC | 24 | 24 | 576 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 194 | IN SIDHALAGATTA TOWN LIMITS ON DIBBURAHALLI ROAD | CHIKKBALLAPURA | REGULAR | 100 | ST | CFS | 24 | 24 | 576 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 195 | MULBAGAL TOWN LIMITS ON ANY MAIN ROAD | KOLAR | REGULAR | 100 | OBC | DC | 24 | 24 | 576 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 196 | IN KOLAR TOWN ON LHS, FROM SRINIVASAPURA X ROAD TO RAILWAY LINE UNDER PASS TOWARDS | | REGULAR | 100 | OPEN | DC | 24 | 24 | 576 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | CHIKKABALLAPUR ON NH 75, LHS FROM NARSAPURA UNDERPASS | KOLAR | | | | | | | | | | | | |
| 197 | TOWARDS NARSAPURA INDUSTRIAL AREA UPTO | | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| | BANGALORE RURAL DISTRICT BORDER In between Diesel Loco Shed Road to ITI B Area | KOLAR | | | | | | | | | | | | |
| 198 | Gate on LHS | BENGALURU | REGULAR | 150 | SC | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 199 200 | MALUR TOWN LIMITS ON ANY SH ROAD ON MALUR-BAGALUR ROAD, FROM SONNUR | KOLAR | REGULAR REGULAR | 100 | OBC OPEN | DC DC | 30 | 30 30 | 900 | 32 32 | 75 75 | DRAW OF LOTS DRAW OF LOTS | 15 15 | 4 5 |
| | VILLAGE TO TAMILNADU BORDER On SH 94, Within 2 km From Kolala village | KOLAR | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | /5 | DRAW OF LOTS | 15 | 5 |
| 201 | towards Katenahalli | TUMAKURU | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 202 | ON NEW BYE-PASS ROAD, BETWEEN MITTENAHALLI VILLAGE TO GAURIBIDANUR- | | REGULAR | 100 | OBC | DC | 24 | 24 | 576 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| | CHIKKABALLAPUR JUNCTION | CHIKKBALLAPURA | | | | | | | | | | | | |
| 203 | ON NH-75, FROM THAMBIHALLI VILLAGE TO BELAGANAHALLI VILLAGE, LHS TOWARDS KOLAR | | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | On Sira Amarapuram Road , On LHS From | KOLAR | | | | | | | | | | | | |
| 204 | Ambedkar Circle to Hanumanthapura | TUMAKURU | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 205 | From Town hall Circle to Railway Station, Tumkur City | TUMAKURU | REGULAR | 150 | OPEN | СС | 24 | 24 | 576 | 32 | 12 | BIDDING | 30 | 5 |
| 206 | ON SH-94, D-PALYA VILLAGE TO NAMAGONDLU VILLAGE | CHIKKBALLAPURA | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 207 | ON PUNGANUR-MULBAGAL ROAD (ON NEW SH) | | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | FROM HEBBANI TO AP BORDER On Sira Amarapura Road, Within 3 km from | KOLAR | | | | | | | | - | | . 2. 20.3 | - | |
| 208 | Lakkanahalli towards Chikkabanagere | TUMAKURU | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 209 | ON NH-44, LHS TOWARDS BENGALURU BETWEEN KM STONE 495 TO KM STONE 499 (NEAR | | REGULAR | 150 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| | MARAGANAHALLI VILLAGE) On Main road Within 1 km from Surigenahalli | CHIKKBALLAPURA | | | | | | | | | | | | |
| 210 | Kaval towards CS Pura circle , Gubbi Taluk | TUMAKURU | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 4 |

| | T | | 1 | | 1 | | 1 | | 1 | | 1 | 1 | | 1 |
|-----|--|----------------|---------|-----|-------------|----------|----|----------|------|----------|----------|---------------------------|----------|--------|
| 211 | ON NH-44, LHS FROM BEECHAGANAHALLI CROSS TO PERASANDRA VILLAGE, LHS TOWARDS BENGALURU | CHIKKBALLAPURA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 212 | On any main road, Tumkur City within Municipal limits | TUMAKURU | REGULAR | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 213 | On NH48 , From Dwaralu to Vujjanakunte on RHS towards Vujjanakunte | TUMAKURU | REGULAR | 150 | OBC | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 214 | ON SH94, FROM MANCHENAHALLI JUNCTION TO GOLLAHALLI | CHIKKBALLAPURA | REGULAR | 100 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 215 | ON NH-44, BETWEEN KM STONE 503 TO KM STONE 506 (NEAR HONNENAHALLI VILLAGE), LHS TOWARDS HYDERABAD | CHIKKBALLAPURA | REGULAR | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 216 | On SH3 , On LHS Within 2 km from Harihararoopa towards Korategere | TUMAKURU | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 217 | On NH48 , From Vasantanarsapura Village to Seebi ,LHS towards Sira | TUMAKURU | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 218 | ON SH-5, WITHIN 2 KMS FROM KONDAVARAMPALLI VILLAGE TOWARDS BAGEPALLI | CHIKKBALLAPURA | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 219 | ON SH-94, WITHIN 2 KM FROM GUDIBANDE TALUK OFFICE TOWARDS GAURIBIDANUR | CHIKKBALLAPURA | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 220 | On NH48 , On either side From Batawadi to Satyamangala Industrial area | TUMAKURU | REGULAR | 150 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 221 | ON SH 5, LHS FROM DHIBURAHALLI VILLAGE TO MITTEMARI VILLAGE | CHIKKBALLAPURA | REGULAR | 100 | ОВС | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 222 | ON NH-75, LHS, FROM TAMAKA TO AJJAPPANAHALLI VILLAGE | KOLAR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 223 | On LHS , Within 2 Km from Kunigal Town Circle towards Hassan on BM Road, Kunigal Town | TUMAKURU | REGULAR | 150 | OPEN CC 2 | DC | 24 | 24 | 576 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 224 | IN CHIKKABALLAPURA TOWN, FROM SIR MVM HIGHSCHOOL TO ANAKANUR VILLAGE ON NH-69. | . C.I., INOITO | REGULAR | 150 | OBC CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| | RHS WITH IN CHIKKABALLAPURA TOWN LIMITS, ON | CHIKKBALLAPURA | | | | | | | | | | 5, 2015 | | · |
| 225 | MANCHANABALLE ROAD FROM NH-69 JUNCTION TOWARDS MANCHANABALLE ON NH-44, FROM BAGEPALLI TO AP BORDER ON | CHIKKBALLAPURA | REGULAR | 100 | SC CC 1 | CFS | 24 | 24 | 576 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 226 | RHS TOWARDS HYDERABAD | CHIKKBALLAPURA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 227 | ON SH-96, GIDDEGOWDANAHALLI ON SH 5, WITHIN 2 KM FROM KURUTHAHALLY | KOLAR | REGULAR | 100 | OPEN OBC | DC DC | 30 | 30 30 | 900 | 32 32 | 75 75 | DRAW OF LOTS DRAW OF LOTS | 15 15 | 5 4 |
| 229 | CROSS TOWARDS CHINTHAMANI ON NH-69, IN SRINIVASAPURA TOWN, BETWEEN CHINTAMANI CIRCLE TO RAILWAY BRIDGE UNDER | CHIKKBALLAPURA | REGULAR | 150 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | PASS Tumkur City , From Kanaka Circle to Junction of | KOLAR | | | | | | | | | | | | |
| 230 | NH48 (Antharasanhalli Jn) ON NH-44, LHS, FROM SUNKALAMMA TEMPLE TO | TUMAKURU | REGULAR | 150 | OPEN | СС | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 231 | DVG ROAD BAGEPALLI On NH73, On LHS within 3 km From Heggere | CHIKKBALLAPURA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 232 | village towards Tumkur FROM D-PALYA CROSS TO VATADAHOSAHALLI ON | TUMAKURU | REGULAR | 150 | OBC | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 233 | GUDIBANDE MAIN ROAD | CHIKKBALLAPURA | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 234 | On SH84 , Mayasandra - Sira Road , On LHS Within 3 km from Nittur Junction towards udde Hosakere | TUMAKURU | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 235 | ON NH-69, LHS FROM CHINTAMANI (BAGEPALLY- VALMIKI CIRCLE- NH/SH JUNCTION) UPTO 3 KM TOWARDS SIDDHALAGHATTA | KOLAR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 236 | ON SH-99, IN SRINIVASAPURA TOWN WITHIN 2 KM FROM KSRTC NEW BUS STAND TOWARDS KOLAR | KOLAR | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 237 | On NH 150 A on LHS within 2 kms from Chamrajnagar towards Nanjangud | CHAMARAJANAGAR | REGULAR | 150 | OPEN CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 238 | On SH 85 on LHS within 2 kms from Nagamangala towards Sharavanbelagola | MANDYA | REGULAR | 120 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 239 | IN KOLAR CITY LIMITS FROM MEKKE CIRCLE TO SRINIVASAPURA X ROAD | KOLAR | REGULAR | 100 | ОВС | DC | 24 | 24 | 576 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 240 | On NH-75, On either side From Bylakere to Yediyur | TUMAKURU | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 241 | On SH 94 on LHS within 2 kms from Ramanagar KSRTC Bus stand towards Magadi | RAMANAGARA | REGULAR | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 242 | On SH47 , On LHS Within 2 km from Harenahalli towards Huliyar | TUMAKURU | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 243 | On SH 85, On LHS within 3 Km from Huliyurudurga towards Chowdanakuppe | TUMAKURU | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 244 | On SH3 , From Bidarakere to AP borer, Madhugiri taluk | TUMAKURU | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 245 | On SH 81 within 2 kms on LHS from Gundlupete to Chamrainagar | CHAMARAJANAGAR | REGULAR | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 75 | DRAW OF LOTS | 15 | 5 |
| 246 | On SH 7 within 3 kms on LHS from Chinakurali | | REGULAR | 120 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 247 | towards KRPete On NH 75 on LHS within 2 kms from Bellur cross | MANDYA | REGULAR | 200 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 248 | towards Hassan On SH 85 (Nagamangala to Mandya) within 2 kms | MANDYA | REGULAR | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 249 | From Mandya circle towards Koudele Within 2 kms of Koppa Village on Koppa Maddur | MANDYA | REGULAR | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 250 | road On SH 92 on LHS within 2 kms from Dodda Allhalli | MANDYA | REGULAR | 120 | OBC PH | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 251 | Circle towards Kanakpura On NH 766 between Arepura Bus stop to Hirikati | RAMANAGARA | REGULAR | 200 | SC PH | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 251 | Bus stop on LHS towards Nanjangud On NH 766 on LHS within 7 kms from Gundlupete | CHAMARAJANAGAR | | | OPEN | | | | | | | | 30 | |
| | Town towards Begur On NH 275 (Old) within 2 kms from Kolli Circle | CHAMARAJANAGAR | REGULAR | 150 | | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | | 5 |
| 253 | Maddur on RHS towards Chennapatana | MANDYA | REGULAR | 150 | OPEN | CC | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |

| | On SH 81 within 2 kms on LHS from Chamrajnagar | | | | | | l | | | | | | | l |
|-----|--|----------------|-----------|-----|-----------|-----|-----|------|------|----|----|--------------|----|---|
| 254 | to Gundlupet On NH 948 (Old NH 209) between KM 312 to KM | CHAMARAJANAGAR | REGULAR | 120 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 255 | 314 LHS towards Chamrajnagar | CHAMARAJANAGAR | REGULAR | 150 | OPEN | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 256 | On SH 48, Within 3 Km from Pavagada towards Kotagudde | TUMAKURU | REGULAR | 150 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 257 | ON NH 275 expressway between KM stone 72 to KM stone 74 on LHS towards Chennapatana | MANDYA | REGULAR | 200 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 258 | On SH 85 on LHS within 2 kms from Magadi | | REGULAR | 120 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 259 | Ramnagar Jn , Magadi towards Bangalore On NH 69, Within 3 km From Hoysalakatte | RAMANAGARA | | | | | | | | | | | | |
| | towards Huliyar ON SH 38 Within 5 Kms from Kollegal towards | TUMAKURU | REGULAR | 150 | OPEN | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 260 | Hannur ON SH 94 Within 3 kms on LHS from Sathnur Circle | CHAMARAJANAGAR | REGULAR | 120 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 261 | towards Kodamballi on Channapatana Sathnur | | REGULAR | 120 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| | road On NH 275 Chennapatana Expressway between | RAMANAGARA | | | | | | | | | | | | |
| 262 | KM stone 60 to KM stone 62 LHS towards Bangalore | RAMANAGARA | REGULAR | 200 | OPEN | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 263 | ON NH 75 on LHS between Talekere Village to | | REGULAR | 200 | OPEN CC 1 | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 264 | Solur Village ON SH 38 between Odeyarplaya to Lokkanhalli on | RAMANAGARA | REGULAR | 120 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| | Kollegal Road On NH 766 on LHS within 3 kms from Begur Village | CHAMARAJANAGAR | | | | | | | | | | | | |
| 265 | towards Gundlupete On NH 275 expressway within 2 kms from Induvalu | CHAMARAJANAGAR | REGULAR | 200 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 266 | towards Srirangapattana | MANDYA | REGULAR | 200 | OPEN | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 267 | On NH 150 A between Lakshmisagara vill and Bellale Vill on LHS towards Nagamangala | MANDYA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 268 | From Sanjaya Circle Mandya within 2 kms towards Chikkamanadya | MANDYA | REGULAR | 150 | ОВС | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 269 | On SH 3 on LHS of Ramanagara to Achalu on Kanakpura Ramnagar road | RAMANAGARA | REGULAR | 120 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 272 | On NH 948 (Old NH 209) on LHS within 3 kms from | I WANAGARA | DEC::: 1- | 150 | OPEN | | 35 | 25 | 4225 | 22 | 42 | DIDC::::C | 20 | _ |
| 270 | Harohalli KSRTC Bus stand towards Kagalahalli | RAMANAGARA | REGULAR | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 271 | On NH 948 (Old NH 209) on LHS within 3 kms from Chamrajnagar bypass junction Somvarpete | | REGULAR | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| | towards Sathyamangala On NH 275 (Old) on LHS from Sugar Factory circle | CHAMARAJANAGAR | | | | | | | | | | | | |
| 272 | to Kiragandur within Mandya Town | MANDYA | REGULAR | 150 | OPEN | CC | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 273 | ON SH 3 Chikkamuduvadi Village (Ramnagar to Kanakpura road) | RAMANAGARA | REGULAR | 120 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 274 | On NH 275 expressway within 3 kms on LHS from Toyota Boshoku India Ltd Bidadi towards | | REGULAR | 200 | ST CC 1 | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | Bangalore On NH 275 (Old) within Bidadi town Limits on both | RAMANAGARA | | | | | | | | | | | | |
| 275 | sides | RAMANAGARA | REGULAR | 200 | OPEN PH | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 276 | On NH 150 A on LHS within 3 kms from Srirangapattana Jn with NH 275 towards | | REGULAR | 200 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| | Pandavapura On NH 275 expressway on LHS within 3 kms from | MANDYA | | | | | | | | | | | | |
| 277 | Srinivasapura towards Maddur On SH 33 on LHS within 2 kms form Kesthur | MANDYA | REGULAR | 200 | OPEN | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 278 | towards Maddur | MANDYA | REGULAR | 120 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 279 | On NH 275 expressway on RHS within 3 kms from Halasagere Village towars Maddur | MANDYA | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 280 | On NH 948 (Old NH 209) within 3 kms on LHS from Kollegal towards Malavalli | CHAMARAJANAGAR | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 281 | On NH48 , From Nandihalli to Manchakalukuppe LHS towards Tumkur | TUMAKURU | REGULAR | 150 | OPEN | cc | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 282 | On NH48 , From Chokkenahalli to Nandihalli LHS | | | | | | | - 55 | | | | | 50 | _ |
| | towards Bangalore Tumkur City on Bangalore Honnavaru raod | TUMAKURU | REGULAR | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 283 | between caltex circle via Shivkumar Swamigalu Circle to Batwadi Junction. | TUMAKURU | REGULAR | 150 | SC | CFS | 20 | 20 | 400 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 284 | On RHS of NH 48 (From Pune to Bangalore Road) | | REGULAR | 150 | OBC | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 207 | Between Km Stone No. 403 And Km Stone No. 399 | DHARWAD | GOLAN | 130 | 550 | | ,,, | | 1223 | 52 | 12 | SIDDING | 30 | |
| 285 | Within 2 Kms From Raibag Town NWKRTC Bus Stand (Entrance Facing Chinchali Road) Towards | | REGULAR | 100 | OPEN | DC | 30 | 25 | 750 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | Kabbur On SH On Yellapur-Haliyal SH Road within Haliyal Taluk | BELAGAVI | | | 005:::::: | | | | | | | | | _ |
| 286 | Limits | UTTARA KANNADA | REGULAR | 100 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 287 | Within 4Km From Chatrapati Shivaji Statue Near Sankeshwar Bus Stand Towards Hukkeri. | BELAGAVI | REGULAR | 150 | ST | CFS | 20 | 20 | 400 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 288 | 3 Km from Bhakta Kanakadasa Circle on Old Belagavi-Gokak Road towards Gokak | BELAGAVI | REGULAR | 150 | ОВС | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 289 | Within 3 Km Radius From Appachivadi Cross, On LHS Of NH 48 From Belagavi To Kolhapur | BELAGAVI | REGULAR | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 290 | Kalloli Village Limits On SH 31 | BELAGAVI | REGULAR | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 291 | Within 10 Kms from Kittur Rani Channamma Zoo Gate On RHS towards Pune on NH 48 | BELAGAVI | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 292 | Within 3 km from RTO Office at Ramdurg towards Halagatti on LHS of SH 34 | BELAGAVI | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 293 | Within 4 Km From Tavandi Ghat(Goa Ves Junction) Towards Belagavi On LHS Of NH 48 | BELAGAVI | REGULAR | 155 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 27. | Within 2km from Karnataka Lodge at Harugeri | DELAGAVI | 250 | 45- | 0.5 | | | | | | | | | _ |
| 294 | Town towards Badabyakud, not on SH, Taluka: Raibag | BELAGAVI | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 295 | From Ganebail Toll Plaza to Honakal Village Limit on NH 748 | BELAGAVI | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 296 | Belgal Village On NH 50 | BAGALKOT | REGULAR | 225 | SC | CFS | 35 | 45 | 1575 | 0 | 0 | DRAW OF LOTS | 0 | 3 |

| 1 | Miletia Than France Than Ambali Balian Canalina | | 1 | 1 | ı | | | | | | | | | |
|--|--|--|---|---|--|---|--|--|---|---|--|--|---|--|
| 297 | Within 7Km From The Ankali Police Station Towards Chikkodi On NH 548B, Chikkodi Taluk | BELAGAVI | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| | With In 2 Kms From Inspection Bunglow In Kagwad | | | | | | | | | | _ | | | |
| 298 | Town Towards Chikkodi On RHS,Kagwad Taluk | BELAGAVI | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 299 | Ankola Town Limits Not On NH | UTTARA KANNADA | REGULAR | 100 | OBC | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 300 | Yamgurni Village Limits On LHS Of NH 48,Belagavi | | REGULAR | 150 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | To Kolhapur On NH 66 Between Venkatapur River Bridge And | BELAGAVI | | | | | | | | | | | | |
| 301 | Sharavati River Bridge | UTTARA KANNADA | REGULAR | 150 | OPEN | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 302 | Between Damro Furniture, Belagavi and Kangrali | | REGULAR | 150 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| | Bridge on Kangrali Road From Hukkeri Police Station To Hukkeri Bus Depot | BELAGAVI | | | | | | | | | | | | |
| 303 | On SH 44 | BELAGAVI | REGULAR | 140 | OPEN | DC | 25 | 25 | 625 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | Within 2Km Radius From Suttati Cross Near | | | | | | | | | | | | | _ |
| 304 | Swamy Viveknanda Educational On LHS Of SH 53, Harugeri To Kudachi | BELAGAVI | REGULAR | 110 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 305 | Within Jalikoppa Village limit on State Highway, | DEDITORY | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 303 | Taluka: Bailhongal | BELAGAVI | REGULAR | 100 | 30 | CF3 | 30 | 30 | 900 | U | U | DRAW OF LOTS | - | 3 |
| 306 | Within 4Km Radius From Hukkeri Court Circle On Chikkodi- Belagavi Road. | BELAGAVI | REGULAR | 105 | OBC | DC | 25 | 25 | 625 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 307 | Ananthapur Village Limits On SH 31,Athani Taluk | | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | | BELAGAVI | KEGOLAK | 130 | OFLIN | ЪС | 30 | 30 | 900 | 32 | /3 | DIVAVO OI EO13 | 15 | , |
| 308 | Within 2 Km From Chatrapati Shivaji Circle in Gokak Town | BELAGAVI | REGULAR | 165 | OPEN | DC | 25 | 25 | 625 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 309 | Within 3 Kms from Lotus Hospital, Dwarka Nagar | - | REGULAR | 150 | SC | CFS | 20 | 20 | 400 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 309 | towatrds Mandoli | BELAGAVI | REGOLAR | 130 | 30 | CIS | 20 | 20 | 400 | 0 | 0 | DIVAVO OI EO13 | | , |
| 310 | From 3rd Railway Gate To ICMR National Institute Of Traditonal Medicine In Belagavi City Limit on | | REGULAR | 150 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| | NH 748 | BELAGAVI | <u> </u> | | | | | | | | | | <u> </u> | |
| 311 | Within 2Km From Shri Bagiratha Cricle In Gokak | DELACAN" | REGULAR | 110 | OPEN | CC | 20 | 25 | 500 | 32 | 12 | BIDDING | 30 | 5 |
| 312 | Town Towards Koujalgi,Gokak Taluk Gokarna Town Limits Not on NH | BELAGAVI UTTARA KANNADA | REGULAR | 150 | OPEN CC 1 | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 313 | Within 2 Km From Ankalgi Bus Stand Towards | | REGULAR | 120 | OBC | DC | 25 | 25 | 625 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 314 | Yaddalagudda On SH 54 | BELAGAVI BELAGAVI | REGULAR | | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | Saundatti Town Limits From Bugatealur Govt. Hospital Towards Ajara On | DELAUAVI | | 100 | | | | | | | | | | |
| 315 | Shippur To Ajara Main Road, Hukkeri Taluk | BELAGAVI | REGULAR | 110 | OPEN | DC | 30 | 20 | 600 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 316 | Manakapur Village Limits On Huppari To | DELACAVII | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | Ichalkaranji Road,Nipani Taluk | BELAGAVI | | | | | | | | | | | | |
| 317 | From Chatrapati Shivaji Statue Near Sankeshwar Bus Stand Towards Gadhinglaj,Hukkeri Taluk | | REGULAR | 116 | OBC | DC | 25 | 25 | 625 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| | Sus Statia (Swaras Saatingla), lakkeri ratak | BELAGAVI | | | | | | | | | | | | |
| 318 | Within 2Kms From Chatrapaji Shambaji Circle Near | | REGULAR | 115 | SC | CFS | 25 | 25 | 625 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | Nipani Town Bus Stand, Towards Pattankudi | BELAGAVI | | | | | | | | | | | <u> </u> | |
| 319 | Tangadi Village Limts On SH-72, Ugar To Athani Road. | BELAGAVI | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | Within 2 Kms from Vivekananda Circle in | DELAGAVI | | | | | | | | | | | | |
| 320 | Ugarkhurd town towards Mangsuli on SH 73, | | REGULAR | 120 | OPEN | DC | 25 | 25 | 625 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 321 | Kagwad Taluk Kumta Town Limits Not On NH | BELAGAVI UTTARA KANNADA | REGULAR | 100 | OBC | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 322 | Within Kodani Village Gram Panchayat Limits On | | REGULAR | 120 | OPEN | DC | 25 | 30 | 750 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 322 | Nippani To Murgod State Highway | BELAGAVI | KEGOLAK | 120 | OFLIN | DC | 23 | 30 | 730 | 32 | /3 | DIVAVO OI EO13 | 15 | , |
| 323 | 2 Km Radius from KLE Technological University's Dr. M S Sheshgiri College of Engineering and | | REGULAR | 100 | SC CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | ' | 3 |
| | Technology within Belagavi City Limits | BELAGAVI | | 200 | | | | | | - | - | | . 0 | |
| 324 | | | | | | | | | | | | | 0 | 3 |
| | From Ankola To Hubli On National Highway Within | | REGULAR | 150 | OPEN CC 2 | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| | Yellapur Taluk Limits | UTTARA KANNADA | REGULAR | | | | | | | | | | 15 | 5 |
| 325 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits | | REGULAR REGULAR | 150 150 | OPEN CC 2 | DC DC | 35 35 | 35 35 | 1225 1225 | 32 32 | 95 95 | DRAW OF LOTS DRAW OF LOTS | | |
| 325 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk | UTTARA KANNADA | REGULAR | 150 | OBC CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 15 | 5 |
| | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits | UTTARA KANNADA DHARWAD | | | | | | | | | | | 15 | 5 |
| 325 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj | UTTARA KANNADA DHARWAD HAVERI | REGULAR | 150 250 | OBC CC 1 OPEN | DC CC | 35 35 | 35 35 | 1225 1225 | 32 | 95 | DRAW OF LOTS BIDDING | 15 15 30 | 5 4 5 |
| 325 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 | UTTARA KANNADA DHARWAD | REGULAR | 150 | OBC CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS BIDDING DRAW OF LOTS | 15 15 | 5 |
| 325 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj | UTTARA KANNADA DHARWAD HAVERI | REGULAR | 150 250 | OBC CC 1 OPEN | DC CC | 35 35 | 35 35 | 1225 1225 | 32 | 95 | DRAW OF LOTS BIDDING | 15 15 30 | 5 4 5 |
| 325 326 327 328 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA | REGULAR REGULAR REGULAR | 150 250 150 120 | OBC CC 1 OPEN ST OBC | DC CC CFS DC | 35 35 35 25 | 35 35 35 25 | 1225 1225 1225 625 | 32 32 0 32 | 95 12 0 55 | DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS | 15 15 30 0 | 5 4 5 3 4 |
| 325 326 327 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI | REGULAR REGULAR | 150 250 150 | OBC CC 1 OPEN ST | DC CC CFS | 35 35 35 | 35 35 35 | 1225 1225 1225 | 32 32 0 | 95 12 0 | DRAW OF LOTS BIDDING DRAW OF LOTS | 15 15 30 | 5 4 5 |
| 325 326 327 328 329 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circe Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA | REGULAR REGULAR REGULAR REGULAR | 150 250 150 120 | OBC CC 1 OPEN ST OBC OPEN | CC CFS DC DC | 35 35 35 25 20 | 35 35 35 25 20 | 1225 1225 1225 625 400 | 32 32 0 32 32 | 95 12 0 55 55 | DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 15 15 30 0 15 | 5 4 5 3 4 5 |
| 325 326 327 328 329 330 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From Ksrtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI HAVERI | REGULAR REGULAR REGULAR REGULAR REGULAR | 150 250 150 120 140 | OBC CC 1 OPEN ST OBC OPEN OPEN | DC CC CFS DC DC | 35 35 35 25 20 | 35 35 35 25 20 | 1225 1225 1225 1225 625 400 | 32 32 0 32 32 32 | 95 12 0 55 55 | DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 15 15 30 0 15 15 | 5 4 5 3 4 5 |
| 325 326 327 328 329 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From Ksrtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI | REGULAR REGULAR REGULAR REGULAR | 150 250 150 120 | OBC CC 1 OPEN ST OBC OPEN | CC CFS DC DC | 35 35 35 25 20 | 35 35 35 25 20 | 1225 1225 1225 625 400 | 32 32 0 32 32 | 95 12 0 55 55 | DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 15 15 30 0 15 | 5 4 5 3 4 5 |
| 325 326 327 328 329 330 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From Ksrtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 Within 4 Kms From Raibag Town Ambedkar Statue | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI HAVERI | REGULAR REGULAR REGULAR REGULAR REGULAR | 150 250 150 120 140 | OBC CC 1 OPEN ST OBC OPEN OPEN | DC CC CFS DC DC | 35 35 35 25 20 | 35 35 35 25 20 | 1225 1225 1225 1225 625 400 | 32 32 0 32 32 32 | 95 12 0 55 55 | DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 15 15 30 0 15 15 | 5 4 5 3 4 5 |
| 325 326 327 328 329 330 331 | Vellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circe Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From Ksrtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 Within 4 Kms From Raibag Town Ambedkar Statue Near Police Station, Towards Kabbur On SH-73. | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI HAVERI | REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR | 150 250 150 120 140 125 110 | OBC CC 1 OPEN ST OBC OPEN OPEN OPEN | DC CCFS DC DC DC | 35 35 35 25 20 20 30 | 35 35 35 25 20 20 30 | 1225 1225 1225 625 400 400 | 32 32 0 32 32 32 32 | 95 12 0 55 55 55 75 | DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 15 15 30 0 15 15 15 | 5 4 5 3 4 5 5 |
| 325 326 327 328 329 330 331 332 | Vellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From KSTtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 Within 4 Kms From Raibag Town Ambedkar Statue Near Police Station, Towards Kabbur On SH-73. | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI HAVERI BELAGAVI | REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR | 150 250 150 120 140 125 110 | OBC CC 1 OPEN ST OBC OPEN OPEN OBC SC | DC CCFS DC DC DC CFS | 35 35 35 25 20 20 30 25 | 35 35 35 25 20 20 30 25 | 1225 1225 1225 625 400 400 900 625 | 32 0 32 32 32 32 32 0 | 95 12 0 55 55 75 0 | DRAW OF LOTS BIDDING DRAW OF LOTS | 15 15 30 0 15 15 15 15 | 5 4 5 3 4 5 5 4 3 |
| 325 326 327 328 329 330 331 | Vellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circe Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From Ksrtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 Within 4 Kms From Raibag Town Ambedkar Statue Near Police Station, Towards Kabbur On SH-73. | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI HAVERI BELAGAVI | REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR | 150 250 150 120 140 125 110 | OBC CC 1 OPEN ST OBC OPEN OPEN OPEN | DC CCFS DC DC DC | 35 35 35 25 20 20 30 | 35 35 35 25 20 20 30 | 1225 1225 1225 625 400 400 | 32 32 0 32 32 32 32 | 95 12 0 55 55 55 75 | DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 15 15 30 0 15 15 15 | 5 4 5 3 4 5 5 |
| 325 326 327 328 329 330 331 332 | Vellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From Ksrtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 Within 4 Kms From Raibag Town Ambedkar Statue Near Police Station, Towards Kabbur On SH-73. Within Motebennur Village On LHS From NH48 Km Stone No.318 Towards Bangalore (Not Abutting Fly Over Bridge) On Yellapur-Sirsi SH Road Within Yellapur Taluk | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI BELAGAVI BELAGAVI BELAGAVI | REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR | 150 250 150 120 140 125 110 | OBC CC 1 OPEN ST OBC OPEN OPEN OBC SC | DC CCFS DC DC DC CFS | 35 35 35 25 20 20 30 25 | 35 35 35 25 20 20 30 25 | 1225 1225 1225 625 400 400 900 625 | 32 0 32 32 32 32 32 0 | 95 12 0 55 55 75 0 | DRAW OF LOTS BIDDING DRAW OF LOTS | 15 15 30 0 15 15 15 15 | 5 4 5 3 4 5 5 4 3 |
| 325 326 327 328 329 330 331 332 333 334 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From Ksrtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 Within 4 Kms From Raibag Town Ambedkar Statue Near Police Station, Towards Kabbur On SH-73. Within Motebennur Village On LHS From NH48 Km Stone No.318 Towards Bangalore (Not Abutting Fly Over Bridge) On Yellapur-Sirsi SH Road Within Yellapur Taluk Limits | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI BELAGAVI BELAGAVI | REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR | 150 250 150 120 140 125 110 120 250 | OBC CC 1 OPEN ST OBC OPEN OPEN OBC SC OPEN | DC CCFS DC DC DC CFS CCFS CC | 35 35 35 25 20 20 30 25 40 | 35 35 35 25 20 20 30 25 45 | 1225 1225 1225 625 400 400 900 625 1800 | 32 32 0 32 32 32 32 0 32 32 32 | 95 12 0 55 55 75 0 12 | DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING BIDDING | 15 15 30 0 15 15 15 15 0 30 30 | 5 4 5 3 4 5 5 4 3 5 |
| 325 326 327 328 329 330 331 332 | Vellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From Ksrtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 Within 4 Kms From Raibag Town Ambedkar Statue Near Police Station, Towards Kabbur On SH-73. Within Motebennur Village On LHS From NH48 Km Stone No.318 Towards Bangalore (Not Abutting Fly Over Bridge) On Yellapur-Sirsi SH Road Within Yellapur Taluk | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI BELAGAVI BELAGAVI BELAGAVI | REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR | 150 250 150 120 140 125 110 120 | OBC CC 1 OPEN ST OBC OPEN OPEN SC OPEN OPEN OBC SC | DC CCFS DC DC DC CFS CCFS CC | 35 35 35 25 20 20 30 25 40 | 35 35 35 25 20 20 30 25 | 1225 1225 1225 625 400 400 900 625 | 32 32 0 32 32 32 32 0 32 | 95 12 0 55 55 75 0 12 | DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING | 15 15 30 0 15 15 15 15 15 30 30 30 | 5 4 5 3 4 5 5 4 3 |
| 325 326 327 328 329 330 331 332 333 334 | Vellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From Ksrtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 Within 4 Kms From Raibag Town Ambedkar Statue Near Police Station, Towards Kabbur On SH-73. Within Motebennur Village On LHS From NH48 Km Stone No. 318 Towards Bangalore (Not Abutting Fly Over Bridge) On Yellapur-Sirsi SH Road Within Yellapur Taluk Limits On Old Pune-Bangalore Road Of Nipani Town, Nijapani Taluka Hirekudi Village Limits On SH 72, Chikkodi Taluk. | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI BELAGAVI BELAGAVI HAVERI BELAGAVI | REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR | 150 250 150 120 140 125 110 120 250 | OBC CC 1 OPEN ST OBC OPEN OPEN OBC SC OPEN | DC CCFS DC DC DC CFS CCFS CC | 35 35 35 25 20 20 30 25 40 | 35 35 35 25 20 20 30 25 45 | 1225 1225 1225 625 400 400 900 625 1800 | 32 32 0 32 32 32 32 0 32 32 32 | 95 12 0 55 55 75 0 12 | DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING BIDDING | 15 15 30 0 15 15 15 15 0 30 30 | 5 4 5 3 4 5 5 4 3 5 |
| 325 326 327 328 329 330 331 332 333 334 335 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From Ksrtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 Within 4 Kms From Raibag Town Ambedkar Statue Near Police Station, Towards Kabbur On SH-73. Within Motebennur Village On LHS From NH48 Km Stone No.318 Towards Bangalore (Not Abutting Fly Over Bridge) On Yellapur-Sirsi SH Road Within Yellapur Taluk Limits On Old Pune-Bangalore Road Of Nipani Town, Nipani Taluka Withir Kodiyal Town Of Ranebennur Taluk On | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI BELAGAVI BELAGAVI UTTARA KANNADA BELAGAVI | REGULAR | 150 250 150 120 140 125 110 120 250 100 140 | OBC CC 1 OPEN ST OBC OPEN OPEN OBC SC OPEN OPEN OPEN | DC CFS DC DC CFS CC CC DC | 35 35 35 25 20 20 30 25 40 30 20 | 35 35 35 25 20 20 30 25 45 30 20 | 1225 1225 1225 625 400 400 900 625 1800 900 400 | 32 32 0 32 32 32 32 0 32 32 32 32 32 | 95 12 0 55 55 75 0 12 12 12 55 | DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS | 15 15 30 0 15 15 15 15 0 30 30 15 | 5 4 5 5 4 3 5 5 4 4 |
| 325 326 327 328 329 330 331 332 333 334 335 336 337 | Vellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From Ksrtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 Within 4 Kms From Raibag Town Ambedkar Statue Near Police Station, Towards Kabbur On SH-73. Within Motebennur Village On LHS From NH48 Km Stone No. 318 Towards Bangalore (Not Abutting Fly Over Bridge) On Yellapur-Sirsi SH Road Within Yellapur Taluk Limits On Old Pune-Bangalore Road Of Nipani Town, Nijapani Taluka Hirekudi Village Limits On SH 72, Chikkodi Taluk. | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI BELAGAVI HAVERI UTTARA KANNADA BELAGAVI HAVERI UTTARA KANNADA BELAGAVI HAVERI HAVERI | REGULAR | 150 250 150 120 140 125 110 120 250 100 140 110 | OBC CC 1 OPEN ST OBC OPEN OPEN OBC SC OPEN OBC SC OPEN OBC SC OPEN | DC CCFS DC DC DC CFS CC CC CC CC CC CC CC | 35 35 35 25 20 20 30 25 40 30 20 30 25 | 35 35 35 25 20 20 30 25 45 30 20 30 25 | 1225 1225 1225 625 400 400 900 625 1800 900 400 900 625 | 32 32 0 32 32 32 32 0 32 32 32 0 32 32 32 32 32 32 32 32 32 32 | 95 12 0 55 55 75 0 12 12 55 0 12 | DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS BIDDING | 15 15 30 0 15 15 15 15 15 0 30 30 15 0 30 | 5 4 5 3 4 5 5 4 3 5 4 3 5 |
| 325 326 327 328 329 330 331 332 333 334 335 336 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From Ksrtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 Within 4 Kms From Raibag Town Ambedkar Statue Near Police Station, Towards Kabbur On SH-73. Within Motebennur Village On LHS From NH48 Km Stone No.318 Towards Bangalore (Not Abutting Fly Over Bridge) On Yellapur-Sirsi SH Road Within Yellapur Taluk Limits On Old Pune-Bangalore Road Of Nipani Town,Nipani Taluka Hirekudi Village Limits On SH 72, Chikkodi Taluk. Within Kodiyal Town Of Ranebennur Taluk On State Highway From Rona Village To Kotabal Village On Belur | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI BELAGAVI BELAGAVI UTTARA KANNADA BELAGAVI | REGULAR | 150 250 150 120 140 125 110 120 250 100 140 100 | OBC CC 1 OPEN ST OBC OPEN OPEN OBC SC OPEN OPEN OBC SC SC SC | DC CCS DC DC DC CFS CCC CCS CCC CCC | 35 35 35 25 20 20 30 25 40 30 20 30 | 35 35 35 25 20 20 30 25 45 30 20 30 | 1225 1225 1225 625 400 400 900 625 1800 900 400 | 32 32 0 32 32 32 32 0 32 32 0 32 0 | 95 12 0 55 55 75 0 12 12 55 0 | DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS DRAW OF LOTS | 15 15 30 0 15 15 15 15 0 30 30 15 0 | 5 4 5 3 4 5 5 4 3 5 4 3 |
| 325 326 327 328 329 330 331 332 333 334 335 336 337 338 | Vellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From Ksrtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 Within 4 Kms From Raibag Town Ambedkar Statue Near Police Station, Towards Kabbur On SH-73. Within Motebennur Village On LHS From NH48 Km Stone No.318 Towards Bangalore (Not Abutting Fly Over Bridge) On Yellapur-Sirsi SH Road Within Yellapur Taluk Limits On Old Pune-Bangalore Road Of Nipani Town,Nipani Taluka Hirekudi Village Limits On SH 72, Chikkodi Taluk. Within Kodiyal Town Of Ranebennur Taluk On State Highway From Rona Village To Kotabal Village On Belur Road Within Tevarmellihalli Village Of Savanur Taluk On | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI BELAGAVI HAVERI UTTARA KANNADA BELAGAVI HAVERI UTTARA KANNADA BELAGAVI HAVERI HAVERI | REGULAR | 150 250 150 120 140 125 110 120 250 100 140 100 110 | OBC CC 1 OPEN ST OBC OPEN OPEN OBC SC OPEN OBC SC OPEN OPEN OBC SC OPEN OPEN OBC | DC CCS DC DC DC CFS CC CCC CCC DC CFS CC | 35 35 35 25 20 20 30 25 40 30 20 30 25 30 | 35 35 35 25 20 20 30 25 45 30 20 30 25 30 | 1225 1225 1225 625 400 400 900 625 1800 900 400 900 625 900 | 32 32 0 32 32 32 32 32 32 32 32 32 32 | 95 12 0 55 55 55 75 0 12 12 55 0 12 75 | DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING | 15 15 30 0 15 15 15 15 0 30 30 15 0 30 15 | 5 4 5 3 4 5 5 4 3 5 4 3 5 5 |
| 325 326 327 328 329 330 331 332 333 334 335 336 337 | Yellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From Ksrtc Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 Within 4 Kms From Raibag Town Ambedkar Statue Near Police Station, Towards Kabbur On SH-73. Within Motebennur Village On LHS From NH48 Km Stone No.318 Towards Bangalore (Not Abutting Fly Over Bridge) On Yellapur-Sirsi SH Road Within Yellapur Taluk Limits On Old Pune-Bangalore Road Of Nipani Town,Nipani Taluka Hirekudi Village Limits On SH 72, Chikkodi Taluk. Within Kodiyal Town Of Ranebennur Taluk On State Highway From Rona Village To Kotabal Village On Belur | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI BELAGAVI HAVERI UTTARA KANNADA BELAGAVI HAVERI UTTARA KANNADA BELAGAVI HAVERI HAVERI | REGULAR | 150 250 150 120 140 125 110 120 250 100 140 110 | OBC CC 1 OPEN ST OBC OPEN OPEN OBC SC OPEN OBC SC OPEN OBC SC OPEN | DC CCFS DC DC DC CFS CC CC CC CC CC CC CC | 35 35 35 25 20 20 30 25 40 30 20 30 25 | 35 35 35 25 20 20 30 25 45 30 20 30 25 | 1225 1225 1225 625 400 400 900 625 1800 900 400 900 625 | 32 32 0 32 32 32 32 0 32 32 32 0 32 32 32 32 32 32 32 32 32 32 | 95 12 0 55 55 75 0 12 12 55 0 12 | DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS BIDDING | 15 15 30 0 15 15 15 15 15 0 30 30 15 0 30 | 5 4 5 3 4 5 5 4 3 5 4 3 5 |
| 325 326 327 328 329 330 331 332 333 334 335 336 337 338 | Vellapur Taluk Limits On Dharwad-Goa National Highway With In Dharwad-Goa National Highway With In Dharwad Taluk Limits On RHS From Hulihalli Village of Ranebennur Taluk to Halageri Cross On NH48 (Not Abutting Fly Over Bridge) Within 6 Km From Chatrapathi Shivaji Maharaj Circle, Ramnagar, Taluk: Joida on NH 748 Within 3 Km Radius From Basava Circle Near Chikkodi Court On Nippani To Kabbur Road Within Ranebennur Municipality On LHS From KSTC Bus Complex Towards Haveri On Old PB Road Within Ranebennur Municipality On Gangapur Road Ainapur Village Limits On SH-72 Within 4 Kms From Raibag Town Ambedkar Statue Near Police Station, Towards Kabbur On SH-73. Within Motebennur Village On LHS From NH48 Km Stone No. 318 Towards Bangalore (Not Abutting Fly Over Bridge) On Yellapur-Sirsi SH Road Within Yellapur Taluk Limits On Old Pune-Bangalore Road Of Nipani Town, Nipani Taluka Hirekudi Village Limits On SH 72, Chikkodi Taluk. Within Kodiyal Town Of Ranebennur Taluk On State Highway From Rona Village To Kotabal Village On Belur Road Within Tevarmellihalli Village Of Savanur Taluk On RHS Of Pune-Bangalore National Highway (Not | UTTARA KANNADA DHARWAD HAVERI UTTARA KANNADA BELAGAVI HAVERI BELAGAVI HAVERI UTTARA KANNADA BELAGAVI HAVERI HAVERI UTTARA KANNADA BELAGAVI HAVERI GADAG | REGULAR | 150 250 150 120 140 125 110 120 250 100 140 100 110 | OBC CC 1 OPEN ST OBC OPEN OPEN OBC SC OPEN OBC SC OPEN OPEN OBC SC OPEN OPEN OBC | DC CCS DC DC DC CFS CC CCC CCC DC CFS CC | 35 35 35 25 20 20 30 25 40 30 20 30 25 30 | 35 35 35 25 20 20 30 25 45 30 20 30 25 30 | 1225 1225 1225 625 400 400 900 625 1800 900 400 900 625 900 | 32 32 0 32 32 32 32 32 32 32 32 32 32 | 95 12 0 55 55 55 75 0 12 12 55 0 12 75 | DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING | 15 15 30 0 15 15 15 15 0 30 30 15 0 30 15 | 5 4 5 3 4 5 5 4 3 5 4 3 5 5 |

| | lugue ay a le a castle | | | | | | | | | | | 1 | | |
|-----|---|----------------|---------|-----|-----------|-----|-----|------|------|----|----|--------------|----|---|
| 341 | Within 1Km Radius From Smt.Fakkiramma Mantrodi Girls High School Of Shiggaon On LHS Of Shiggaon- Hulgur State Highway | HAVERI | REGULAR | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 342 | On RHS NH 48 (From Pune to Bangalore) Between Km Stone No. 446 And Km Stone No.448 | DHARWAD | REGULAR | 250 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 343 | Within Antaravalli Village Of Ranebennur Taluk On LHS Of Halageri To Honnali Highway | HAVERI | REGULAR | 120 | ОВС | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 344 | Within Lingadevarakoppa Village Of Rattihalli Taluk | | REGULAR | 110 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 345 | On RHS Of Kod-Ranebennur Highway Within 2Kms From Borgaon Bus Stand Circle | HAVERI | REGULAR | 140 | SC | CFS | 20 | 20 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 345 | Towards Ichalkaranji, Nipani Taluk. On Hangal Road Between Hosamani Siddappa | BELAGAVI | REGULAR | 140 | 30 | CF3 | 30 | 30 | 900 | U | U | DRAW OF LOTS | U | 3 |
| 346 | Circle And NH Over Pass Bridge, Haveri Municipality | HAVERI | REGULAR | 130 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 347 | On RHS(Hubli to Dharwad BRTS Road), From Unakal BRTS Station To Vidyagiri BRTS Station | DHARWAD | REGULAR | 150 | OBC | CC | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 4 |
| 348 | Within Haveri Taluk, On RHS From Devagiri Village Towards Bangalore On NH 48 (Not Abutting Fly Over Bridge) | HAVERI | REGULAR | 240 | OPEN | DC | 40 | 45 | 1800 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 349 | On LHS, from Chainage 255 To 257 on NH-50 towards Nidgundi | VIJAYAPURA | REGULAR | 160 | SC PH | CFS | 45 | 45 | 2025 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 350 | On RHS NH48 (From Pune to Bangalore Road) | | DECLUAD | 150 | OBC PH | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| | Between Km Stone No.384 And Km Stone No. 388 | DHARWAD | REGULAR | 150 | | | | | | | | | | |
| 351 | Village Mooruru, On Kumta-Siddapur SH Road Within Ranebennur Municipality On RHS From | UTTARA KANNADA | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 352 | KSRTC Bus Complex Towards Davanagere On Old PB Road | HAVERI | REGULAR | 120 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 353 | Within Nargund Taluk On LHS From Nargund KSRTC Bus Station Towards Hubli On National Highway | GADAG | REGULAR | 150 | OBC | DC | 35 | 40 | 1400 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 354 | Nerli Village Limits On SH 44, Hukkeri Taluk From Mavinatop Village To Harogoppa Village On | BELAGAVI | REGULAR | 120 | SC | CFS | 25 | 25 | 625 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 355 | Ratihalli-Halageri National Highway | HAVERI | REGULAR | 155 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 356 | Within Gadag-Betageri Municipal Limits not on National Highway | GADAG | REGULAR | 130 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 357 | From Kakaleshwar Circle In Gajendragad To Rajur Village On Rona Highway | GADAG | REGULAR | 155 | OBC | DC | 35 | 40 | 1400 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 358 | From Krishna River Bridge To Nidugundi Bus Stand On LHS Of NH 50 Towards Vijayapura | VIJAYAPURA | REGULAR | 160 | ST | CFS | 35 | 45 | 1575 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 359 | Within Mamadapur Village Taluk: Shiggaon On LHS From Tadas To Mundgod Road | HAVERI | REGULAR | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 360 | On Honnavar To Shivmoga National Highway, Within Melinamodakani Village Limits | UTTARA KANNADA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 361 | Within 4 KM from Ambedkar Circle at Almel towards Afzalpur | VIJAYAPURA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 362 | From Rona Village To Chikkmannur Village On Belavaniki Road | GADAG | REGULAR | 115 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 363 | Within Chabbi Village Of Shirahatti Taluk On State Highway | GADAG | REGULAR | 120 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 364 | From Hittinahalli village to Vijayapura Toll plaza towards Solapur on NH- 50 | VIJAYAPURA | REGULAR | 150 | OPEN CC 1 | DC | 35 | 45 | 1575 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 365 | From Byadgi APMC Market To Shidenur Village On Haunsbhavi Highway | HAVERI | REGULAR | 110 | ОВС | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 366 | From Tidgundi Village To ARJ International School Towards Vijayapura On LHS of NH-52 | VIJAYAPURA | REGULAR | 160 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 367 | Within Divagihalli Village Of Hirekerur Taluk On RHS Of Haunsbhavi-Hirekerur Highway | HAVERI | REGULAR | 120 | SC | CFS | 25 | 25 | 625 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 368 | From Banjara Cross To Bhutanal Corss Via B M | | REGULAR | 125 | OPEN | СС | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 369 | Patil Road Circle, Vijayapura On Dharwad-Goa National Highway Within | VIJAYAPURA | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| | Alnavar Taluk Limits From Basaveshwar Circle To Ibrahimpura Railway | DHARWAD | ACCOUNT | -30 | | | | - 55 | | 32 |), | | | |
| 370 | Gate Via District Court On Bagalkot Road, Vijayapura On LHS, within 5 KM from Managoli village cross | VIJAYAPURA | REGULAR | 125 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 371 | road Towards Vijayapura on NH-50 | VIJAYAPURA | REGULAR | 160 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 372 | Within 3Km From Zalki junction towards Chadchan on Zalki-Chadchan road | VIJAYAPURA | REGULAR | 120 | SC CC 1 | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 373 | Within Dharwad City Limits Within 3 KM from Nidugundi KSRTC Bus stand | DHARWAD | REGULAR | 150 | OBC CC 1 | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 374 | towards Vijayapura on RHS of NH 50 | VIJAYAPURA | REGULAR | 160 | OPEN | CC | 35 | 45 | 1575 | 32 | 12 | BIDDING | 30 | 5 |
| 375 | From Athani Town Police Station To Murugundi Village Limits On NH-548B | BELAGAVI | REGULAR | 150 | OPEN PH | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 376 | From Aladakatti Village To Gourapura Village On Haveri-Hangal Highway | HAVERI | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 377 | Within Gadag Taluk On LHS Of NH67 From Binkadkatti Village Towards Hubli(Not Abutting Fly Over Bridge) | GADAG | REGULAR | 160 | OBC | DC | 35 | 40 | 1400 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 378 | Within 3 KM from Muddebihal Town-Bashveshwar Circle Towards Hungund on Muddebihal-Hungund road | VIJAYAPURA | REGULAR | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 379 | Within Ranebennur Taluk, On RHS from Chalageri Toll Plaza towards Bangalore on NH 48 | HAVERI | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 380 | From Chainage 246 to 250 on NH 50, towards Gulbarga, Sindagi Taluk | VIJAYAPURA | REGULAR | 160 | ST | CFS | 35 | 45 | 1575 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 381 | Within 3 KM from Sindagi town-Ambedkar cicle towards almel on Sindagi-Almel road | VIJAYAPURA | REGULAR | 125 | OPEN | СС | 20 | 25 | 500 | 32 | 12 | BIDDING | 30 | 5 |
| 382 | Nalatvad Village Limit On SH-41, Muddebihal Taluk | VIJAYAPURA | REGULAR | 160 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 383 | From Vijayapura SP Office to Shri Sardar Vallabhai | | REGULAR | 115 | OPEN | DC | 25 | 25 | 625 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| | Patel Cricle On Bableshwar Road | VIJAYAPURA | OOLAIN | 113 | J. 214 | 50 | 2.5 | | U-2 | | | 0. 2013 | | |

| | | | | | | | | | 1 | | 1 | | | |
|-----|--|----------------|---------|-----|-----------|-----|----|----|------|----|----|---------------|----|---|
| 384 | Wihtin 4KM from Sindagi town Basaveshwara Circle towards Yankanchi Sindagi-Yankanchi road | VIJAYAPURA | REGULAR | 115 | ОВС | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 385 | From Hulihalli Village To Ranebennur Town On LHS Of Pune To Bangalore,NH48 (Not Abutting Flyover Bridge) | HAVERI | REGULAR | 170 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 386 | On LHS, Within 3 KM from Bhutanal Tanda cross towards Vijayapura on NH-52 | VIJAYAPURA | REGULAR | 160 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 387 | From Hubli-Savanur Cross in Laxmeshwar To Ramageri Village On Laxmeshwar-Hubli Highway | GADAG | REGULAR | 120 | OPEN CC 1 | DC | 25 | 25 | 625 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 388 | Within 3 KM from Babalad cross on SH 55 towards Galagali | VIJAYAPURA | REGULAR | 110 | OBC | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 389 | Within Basavanakatti-Somanakatti Village Of Haveri Taluk On LHS Of Haveri To Guttal Highway | HAVERI | REGULAR | 110 | ST | CFS | 25 | 25 | 625 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 390 | From Devarhulagabal village to Jammaladinni vilage on SH 124 | VIJAYAPURA | REGULAR | 115 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 391 | On Hubli to Karwar Road, Between Indi Pump Circle and Hubli Ring Road Under pass within Hubli City Limits | DHARWAD | REGULAR | 150 | OBC | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 392 | From Kanamadi Village to Karnataka-Maharashtra Border On NH 166E | VIJAYAPURA | REGULAR | 160 | OPEN | СС | 35 | 45 | 1575 | 32 | 12 | BIDDING | 30 | 5 |
| 393 | On NH 66 Within Bargi Village Limits | UTTARA KANNADA | REGULAR | 150 | OPEN | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 394 | On Yellapur-Mundgod SH Road With In Yellapur | | REGULAR | 100 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 395 | Taluk Limits Within 3 Kms from Ambedkar Circle at Basavan Bagewadi towards Nidgundi on Basavan Nagar | UTTARA KANNADA | REGULAR | 125 | ОВС | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 396 | Road Wihtin 5KM from Jumanal-Dadamati Road cross to towards Vijayapura on LHS of NH 52 | VIJAYAPURA | REGULAR | 150 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 397 | On Kumta-Siddapur SH Road, within 3 km from NH 66 Junction | UTTARA KANNADA | REGULAR | 100 | OPEN | DC | 25 | 25 | 625 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 398 | From Ingalagi Road Cross To Mudhol- Mantur Road Cross On Mudhol Bypass Road | BAGALKOT | REGULAR | 135 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 399 | From Mulwad village to Ronihal Village on NH-52 | VIJAYAPURA | REGULAR | 160 | OBC | DC | 35 | 45 | 1575 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 400 | On LHS, From Narayan Hyundai show room to IOCL Vijayapura Depot on Service road of National Highway. | VIJAYAPURA | REGULAR | 150 | OPEN | DC | 35 | 40 | 1400 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 401 | On LHS, From Chainage 49 to 53 On NH 52 towards Vijayapura | VIJAYAPURA | REGULAR | 170 | OPEN | CC | 35 | 45 | 1575 | 32 | 12 | BIDDING | 30 | 5 |
| 402 | Hanchinal Village to Gabasavalagi village on NH 50 | VIJAYAPURA | REGULAR | 160 | OBC | DC | 35 | 45 | 1575 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 403 | Vijayapura Town -On LHS, from Shri Sardar Vallabhai Patel Cricle to Sir M Vishveshvarayya Circle on Jamkhandi Road | VIJAYAPURA | REGULAR | 150 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 404 | On LHS, From Chainage 50 To 53 On NH 52 Towards Solapur | VIJAYAPURA | REGULAR | 170 | OPEN | СС | 35 | 45 | 1575 | 32 | 12 | BIDDING | 30 | 5 |
| 405 | On LHS Of NH48 (From Pune to Bangalore Road) Between Km Stone No. 449 And Km Stone No.452 | DHARWAD | REGULAR | 200 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 406 | Rugi Village Limit on Vijayapura -Indi road | VIJAYAPURA | REGULAR | 160 | OBC | DC | 35 | 45 | 1575 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 407 | From Sarawad village To Bableshwar On SH 34 On LHS Of NH48 (From Pune to Bangalore Road), | VIJAYAPURA | REGULAR | 115 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 408 | Between Narendra Toll Plaza and Gabbur Toll Plaza | DHARWAD | REGULAR | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 409 | On RHS Of NH48 (From Pune to Bangalore Road, Between Narendra Toll Plaza and Gabbur Toll Plaza | DHARWAD | REGULAR | 200 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 410 | Within 3 Km From Devarhippargi Ambedkar Statue towards Indi On Devarhippargi-Indi road | VIJAYAPURA | REGULAR | 125 | OBC | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 411 | On LHS Of NH48 (From Pune to Bangalore Road) Between Km Stone No.384 And Km Stone No. 388 | DHARWAD | REGULAR | 200 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 412 | Within Sirsi Taluk Limits On Sirsi-Haveri Road, NH 766E | UTTARA KANNADA | REGULAR | 150 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 413 | From Tumbgi Village to BB Ingalalgi Village on Talikoti-Devarhippargi road | VIJAYAPURA | REGULAR | 125 | OBC | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 414 | From Rampur Village to Korhalli Village on Sindagi -Almel Road | VIJAYAPURA | REGULAR | 120 | OPEN CC 1 | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 415 | On RHS Of NH48 (From Pune to Bangalore Road) Between Km Stone No.397 And Km Stone No.399 | DHARWAD | REGULAR | 200 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 416 | Vijayapura Town - From Shri Siddeshwar Temple To Ashram Bus Stop Via Blde Engg. College On Ashram Road. | VIJAYAPURA | REGULAR | 120 | SC | CFS | 20 | 25 | 500 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 417 | On either side within 2 KM from Peerapur Village on SH-60 | VIJAYAPURA | REGULAR | 115 | OBC | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 418 | From South Western Railway Central Hospital at Hubli towards Gadag on Hubli to Gadag Road Within Hubli City Limits | DHARWAD | REGULAR | 150 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 419 | On LHS Of Hubli Ring Road From Village Kusugal Junction Towards Village Anchatgeri Between Km Stone 141 And Km Stone 143 | DHARWAD | REGULAR | 200 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 420 | Adi Village Limits On SH 98, Nippani Taluk. | BELAGAVI | REGULAR | 100 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 421 | Mangoli Village On SH-61 (Vijayapura-Basavan Bagewadi Road) | VIJAYAPURA | REGULAR | 120 | OBC | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 422 | On RHS Of Hubli Ring Road From Village Kusugal Junction To Village Anchatgeri | DHARWAD | REGULAR | 200 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 423 | Mundgod Town Limits not on NH | UTTARA KANNADA | REGULAR | 100 | OPEN CC 2 | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 424 | Within 3 Km from Zalki junction towards Indi on Zalki-Indi road | VIJAYAPURA | REGULAR | 170 | OBC CC 1 | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 425 | On LHS NH 48 (From Pune to Bangalore Rd) | | REGULAR | 150 | SC CC 1 | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 723 | Between Km Stone 403 And Km Stone No.388 | DHARWAD | ALGULAR | 130 | 30.00.1 | cro | 33 | 33 | 1223 | J | U | DIMAN OF LOTS | U | 3 |

| 406 | In the second of the second | BUARWAR | 05011140 | 450 | ODEN | | 20 | 20 | 400 | 22 | 42 | I NORWO I | 20 | - |
|------|---|------------------------------|--------------------|------------|-----------|------|----|----|------|----------|----------|--------------------|----------|----------|
| 426 | Hosayellapura M Within Dharwad City Limits Village Bhadrapur On NH 67, Hubli-Gadag Road, | DHARWAD | REGULAR | 150 | OPEN | CC | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 427 | Taluk Annigere | DHARWAD | REGULAR | 200 | OPEN | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 428 | From Village Anchatgiri To Kalghatgi On Hubli- Karwar National Highway | DHARWAD | REGULAR | 200 | ОВС | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 429 | On RHS, from Chainage 81 to 83 on NH-52 towards | DIANWAD | REGULAR | 160 | sc | CFS | 45 | 45 | 2025 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 430 | Vijayapura On Devar Gudihal Road Within Hubli City Limits | VIJAYAPURA | | | OPEN | CC | 20 | | 400 | | | | | 5 |
| 430 | Byridevarakoppa on Hubli-Dharwad BRTS Road | DHARWAD DHARWAD | REGULAR REGULAR | 150 150 | OPEN | cc | 20 | 20 | 400 | 32 32 | 12 12 | BIDDING BIDDING | 30 30 | 5 |
| 432 | On Bhatkal To Siddapur SH Road Within Bhatkal | DID WAYNE | REGULAR | | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 432 | Taluk Limits | UTTARA KANNADA | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | /3 | DRAW OF LOTS | 15 | 4 |
| 433 | On Hubli-Mavanur Road Between NH 48 Underpass And Hubli Ring Road Underpass | DHARWAD | REGULAR | 150 | OPEN | CC | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 434 | On RHS, From KM Stone 247 to KM Stone 251 on | | REGULAR | 150 | SC | CFS | 35 | 45 | 1575 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 435 | NH 50 towards Nidgundi | VIJAYAPURA UTTARA KANNADA | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| | Sirsi Town Limits not on NH On Honnavar To Shivmoga National Highway, | OTTAKA KAININADA | | | | | | | | | | | | |
| 436 | Within 15 Km From NH66 Junction | UTTARA KANNADA | REGULAR | 150 | OBC | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 437 | Marsanahalli to Nad KD on Almel-Indi road | VIJAYAPURA | REGULAR | 150 | OPEN CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 438 | From Netaji Subhaschandra Bose Circle to Bableshwar cross road on Vijayapura Ring Road | VIJAYAPURA | REGULAR | 160 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 439 | On NH 66, Within Karwar Taluk Limits | UTTARA KANNADA | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 440 | On LHS(Hubli to Dharwad BRTS Road) From APMC | | DECLUAD. | 150 | ODEN | СС | 20 | 20 | 400 | 22 | 12 | DIDDING | 20 | - |
| 440 | Third Gate BRTS Station to Vidyagiri BRTS Station | DHARWAD | REGULAR | 150 | OPEN | CC | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 441 | From Jubliee Circle To Pepsi Factory on Dharwad- | | REGULAR | 150 | OPEN | СС | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 771 | Belagavi Road | DHARWAD | NEGGEAR | 120 | OFLIN | CC | 20 | 20 | +00 | 34 | 14 | מאווסמוט | 30 | , |
| 442 | With In 2.5 Kms From Ayyappa Swami Temple Towrads Byahatti On Dharwad-Byahatti State | | REGULAR | 150 | ОВС | CC | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 4 |
| | Highway | DHARWAD | | | | | | | | | | | | |
| 443 | On RHS, from Chainage 55 To 58 on NH-52 | MINABURA | REGULAR | 160 | SC | CFS | 45 | 45 | 2025 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 444 | towards Vijayapura On Gokul Road Within Hubli City Limit | VIJAYAPURA DHARWAD | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 445 | Within Bhatkal Town Limit On NH 66 (Karwar- | | REGULAR | 150 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| | Mangalore) | UTTARA KANNADA | | 130 | 3.214 | | 33 | 33 | 500 | 52 | | 2.5540 | 33 | |
| 446 | On Hubli-Kusugal Road From Rani Chennamma Circle To Hubli Ring Road Junction | DHARWAD | REGULAR | 150 | OBC | CC | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 4 |
| | On Either side of NH 48 (Pune to Bangalore), | | | | | | | | | | | | | |
| 447 | Between Km Stone No. 434 And Km Stone No. 437 | DHARWAD | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 448 | Siddapur Town Limits not on NH | UTTARA KANNADA | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 449 | Within 5 kms from Military Mahadev Temple | | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | Entrance on Savgaon Road Within Kalghatgi Town Limits On Kalghatgi- | BELAGAVI | | | | | | | | | | | | |
| 450 | Mundgod SH Road | DHARWAD | REGULAR | 100 | OBC PH | CC | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 4 |
| 451 | From Kondoji Village To Makarvalli Village On | | REGULAR | 120 | SC PH | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | Hangal-Shiralakoppa Highway Within 7 Km from Fairfield Marriott Hotel On LHS | HAVERI | | | | | | - | | | | | | \vdash |
| 452 | Of NH 48(Pune-Bangalore Road) | BELAGAVI | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| | Within 2 Km From Govt Primary School Soppadla | | | | | | | | | | | | | _ |
| 453 | on RHS towards Yeragatti on State Highway, Taluka: Yeragatti | BELAGAVI | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 454 | Kulgod Village Limits On SH-44 | BELAGAVI | REGULAR | 140 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 455 | From Savargaali Village Limit to Gunji Village Limit | BELACAL | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| | on NH 748 From Baleguli Cross At Ankola To Yellapur On | BELAGAVI | | | | | | | | | | | | |
| 456 | National Highway Taluk: Ankola | UTTARA KANNADA | REGULAR | 150 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 457 | Within 3 km from Sambra Bridge on Airport Road | BELAGAVI | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 450 | Within 5 Kms From Basava Circle Near Chikkodi | BELAGAVI | 05011140 | 460 | 000 | 200 | 25 | 25 | 4225 | 22 | 05 | 55444 654 676 | 4.5 | |
| 458 | Court Towards Ankali | BELAGAVI | REGULAR | 160 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 459 | Within 2 km radius from Nath Pai circle in Shahapur other than Vadgaon Road, Belagavi City | | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 709 | Limits | BELAGAVI | ALGULAR | 130 | OFEN | DC. | 20 | 20 | 400 | 32 | /3 | DIMAN OF LOTS | 13 | 3 |
| | Within Shiggaon Taluk On RHS From Shiggaon | | | | | | | | | | | | | |
| 460 | Village Towards Hubli On NH 48(Not abutting Flyover Bridge) | HAVERI | REGULAR | 150 | SC | CFS | 40 | 40 | 1600 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 461 | From U.Khanapur Village Limits To Honnihalli | HAVEN | DECT!! 15 | 450 | OBC | 500 | 25 | 45 | 1575 | 22 | 0.5 | DRAW OF LOT | 45 | |
| 461 | Cross On LHS Of NH 48 | BELAGAVI | REGULAR | 150 | OBC | DC | 35 | 45 | 1575 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 462 | From Tegur Village Limits To Kittur Village Limits On LHS Of NH 48 | BELAGAVI | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 463 | Within Hubli City Limits | DHARWAD | REGULAR | 150 | OPEN CC 1 | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 464 | From Sankeshwar Town Limits To Hattergi Toll | | REGULAR | 155 | ОВС | DC | 35 | 45 | 1575 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| | Plaza On LHS Of NH 48 Within 2 Km radius from Bharat Benz Sales & | BELAGAVI | | | | | | - | | | | | | \vdash |
| 465 | Service at Kolikopp on NH 48, LHS from Bangalore | | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | to Pune | BELAGAVI | | | | | | | | | | | | igsquare |
| 466 | From Junction at Damro Furnitures towards Sulga on Bauxite Road | BELAGAVI | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 467 | Within 3 Km From New APMC Market Belagavi | SELIGINII | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 467 | Towards Hubli On LHS Of NH 48 | BELAGAVI | REGULAR | 150 | OPEN | υL | 55 | 35 | 1225 | 52 | 35 | PLYANS OF FOLK | 12 | 3 |
| 468 | From Hulikatti Village Limits To Makkalageri Village Limits On SH-1 | BELAGAVI | REGULAR | 100 | ОВС | DC | 20 | 30 | 600 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 469 | On Yellapur-Sirsi SH Road Within Sirsi Taluk Limits | | REGULAR | 100 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| -109 | · | UTTARA KANNADA | COLAR | 100 | 31 | C1 3 | 30 | 30 | 500 | | | SIMIN OF EOTS | 3 | , |
| 470 | Within 3 KM From Roopali Convention center on LHS towards NH48, on Old PB Road | BELAGAVI | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 471 | Within 6 KM From Shivaji Maharaj Chowk at | | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 7/1 | Peeranwadi on RHS towards Desur | BELAGAVI | NEGGEAR | 120 | OFLIN | DC | 33 | رد | 1443 | 34 | 93 | SIMMY OF LOTS | 1.0 | , |
| 472 | From Shahapur Police Station to Annapurneshwari Marriage Hall on Yellur Road | BELAGAVI | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 473 | Sapthapura within Dharwad City Limits | DHARWAD | REGULAR | 150 | OBC CC 1 | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 474 | Mantur Village On SH 55 | BAGALKOT | REGULAR | 125 | ST CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 475 | With In 3.5 Km From Padmavati Circle In Ugarbudruk Town On SH-53 Towards Shedbal | BELAGAVI | REGULAR | 110 | OPEN PH | DC | 25 | 25 | 625 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | | | | | | | | - | | | | | | |

| | Within 2 Kmc From Notro Dorchan Coosiality Evo | | | | 1 1 | | | | 1 | 1 | 1 | 1 | | |
|------------|---|----------------------------|--------------------|------------|-------------------|-----------|----------|----------|-------------|----------|----------|---------------------------|----------|--------|
| 476 | Within 2 Kms From Netra Darshan Speciality Eye Hospital on Angol Main Road | BELAGAVI | REGULAR | 150 | OBC | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 477 | With in 2 KM from Podar International school on Airport Road on RHS towards Airport | BELAGAVI | REGULAR | 150 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 478 | Within 1 Km from Shirur Park Circle,On Hosur- | BLLAGAVI | REGULAR | 150 | SC | CFS | 20 | 20 | 400 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | Unakal Bypass Road From Athani Town Police Station To Hyundai | DHARWAD | REGOLAR | 130 | 50 | CIS | 20 | 20 | 400 | | | DIVAVOI EO15 | | |
| 479 | Showroom In Athani Town, Athani Taluk. | BELAGAVI | REGULAR | 150 | OPEN | CC | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 480 | Within Budrakatti Village Limit on SH 73 Taluka: Bailhongal | BELAGAVI | REGULAR | 110 | OBC | CC | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 4 |
| 481 | Within 2km from Mugalkhod Town Inspection | BELAGAVI | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| | Bunglow towards Handigund, Raibag Taluk Within 2.5 Kms From Raibag Town Ambedkar | BELAGAVI | REGOLAR | 100 | OFEN | | | 20 | 400 | 32 | 33 | DIVAVOI E013 | 15 | |
| 482 | Statue Near Police Station Towards Alagwadi | BELAGAVI | REGULAR | 100 | OPEN | DC | 25 | 25 | 625 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 483 | From Milestones no. 203 to Milestones no. 206 on RHS towards Jamboti On SH 31 within Khanapur | | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | Taluk | BELAGAVI | | 100 | | | | | | _ | | | | |
| 484 | From Haveri To Chikklingadalli Village On State Highway | HAVERI | REGULAR | 110 | OBC | DC | 25 | 25 | 625 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 485 | Belagali Village On Belagali- Mahalingpur State | | REGULAR | 135 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 486 | Highway Village Unakal With In Hubli City Limits | BAGALKOT DHARWAD | REGULAR | 150 | OPEN CC 1 | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 487 | From Murkibhavi Village Limits to Nagnur cross on | DELACAVII | REGULAR | 100 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 488 | SH in Bailonghal Taluka Vidyagiri Within City Limits | BELAGAVI BAGALKOT | REGULAR | 125 | OBC | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 489 | From Chainage 326 To 328 On NH 50 On LHS Of | DACALKOT | REGULAR | 175 | OPEN | CC | 35 | 45 | 1575 | 32 | 12 | BIDDING | 30 | 5 |
| 400 | Ilkal To Hungund From Ingalagi Road Cross To Mudhol- Lokapur | BAGALKOT | DECLUAD. | 405 | OPEN | D.C. | 20 | 20 | 000 | 22 | 75 | DRAW OF LOTS | 15 | 5 |
| 490 491 | Road Cross On Mudhol Bypass Road Katarki, Taluka- Bilagi On SH 53 | BAGALKOT BAGALKOT | REGULAR REGULAR | 135 130 | OPEN OBC | DC DC | 30 30 | 30 30 | 900 | 32 32 | 75 75 | DRAW OF LOTS | 15 15 | 4 |
| 492 | From Hoolageri To Yaragoppa Inam On Bagalkot- | | REGULAR | 188 | SC | CFS | 35 | 45 | 1575 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | Hubli Road NH 52 | BAGALKOT | | 100 | 5.0 | | - 55 | | 13,3 | | | or Lo13 | | , |
| 493 | From Nagarhalla Toll Plaza To Kudalsangam Cross On NH 50 On RHS From Vijayapura To Ilkal | | REGULAR | 165 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| | Hungund Within City Limits But Not On Amravati | BAGALKOT | | | | | | | | | | | | |
| 494 | Road | BAGALKOT | REGULAR | 125 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 495 496 | Kumbarahall Village On SH 34 Kelawadi Village On SH 44 | BAGALKOT BAGALKOT | REGULAR REGULAR | 130 130 | OBC SC | DC CFS | 30 30 | 30 30 | 900 900 | 32 0 | 75 0 | DRAW OF LOTS DRAW OF LOTS | 15 0 | 3 |
| 497 | Kansageri Village On RHS Towards JK Cement | BAGALKOT | REGULAR | 130 | OPEN | CC | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 498 | Factory On SH 44 Navanagar Within City Limits | BAGALKOT | REGULAR | 160 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 499 | From Shirol To Siddapur On SH 34 | BAGALKOT | REGULAR | 125 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 500 501 | Hungund On NH 50 On Either Side Terdal Within Town Limits | BAGALKOT BAGALKOT | REGULAR REGULAR | 180 120 | ST OPEN | CFS DC | 35 20 | 45 20 | 1575 400 | 0 32 | 0 55 | DRAW OF LOTS DRAW OF LOTS | 0 15 | 3 5 |
| 502 | Within 3 Kms From Kulgeri Cross Towards Badami | BAGALIOT | REGULAR | 135 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 502 | On SH 14 | BAGALKOT | REGULAR | 135 | OBC | DC | 30 | 30 | 900 | 32 | /5 | DRAW OF LOTS | 15 | 4 |
| 503 | Within 2 Kms Of Kerur Road Cross On LHS Towards Bagalkot On Bagalkot-Hubli Road NH 52 | | REGULAR | 160 | OPEN | CC | 35 | 45 | 1575 | 32 | 12 | BIDDING | 30 | 5 |
| | Within 2 Kms On LHS From Badami Bus Stand | BAGALKOT | | | | | | | | | | | | |
| 504 | Towards Badami Railway Station On Bus Stand- | | REGULAR | 160 | OPEN | CC | 35 | 45 | 1575 | 32 | 12 | BIDDING | 30 | 5 |
| | Railway Station Road | BAGALKOT | | | | | | | | | | | | |
| 505 | Within 2 Kms From Ambedkar Circle At Jamkhandi Towards Jambagi On Jamkhandi- Jambagi Road | | REGULAR | 120 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | Within 3 Kms On Either Side Of Mugalkhod Cross | BAGALKOT | 25011142 | | 000 | | | | 200 | | 7. | DD444 OF 1 OTS | 45 | |
| 506 | On Mudhol-Mahalingpur Road Sh 18 | BAGALKOT | REGULAR | 135 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 507 | Within 3 Kms From Basaveshwar Circle At Jamkhandi On LHS Towards Vijayapura On | | REGULAR | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | Jamkhandi-Vijayapura Road Sh 34 | BAGALKOT | | | | | | | | | | | | |
| | Within 3 Kms On Either Side Of Kulgeri Cross On NH 52 | BAGALKOT | REGULAR | 203 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 509 | Within 2 Kms From Basaveshwar Circle At Mahalingpur Towards Dhavaleshwar On Sh 54 | BAGALKOT | REGULAR | 130 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 510 | Ilkal within city limits | BAGALKOT | REGULAR | 130 | OBC | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 511 | Within 4 Kms From Bagalkot Railway Station Towards Vidyagiri Via Rotary Circle And Inner | | REGULAR | 135 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| | Wheel Circle | BAGALKOT | | | | | | | | | | | | |
| 512 | Within 4 km From Shivaji Maharaj Chowk in Pereanwadi Cross towards Jamboti on SH 54 | BELAGAVI | REGULAR | 150 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 513 | With In Ankola Taluk Limits On NH 66(Mangalore- | | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| | Goa Road) Within 2 Kms From Division Office Cross At | UTTARA KANNADA | | | | | | | | | | | | |
| 514 | Navanagar Towards Sigikeri Within 4 Kms From Bilgi Cross On RHS Of NH 52 | BAGALKOT | REGULAR | 140 | SC | CFS | 20 | 20 | 400 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 515 | Towards Bagalkot | BAGALKOT | REGULAR | 170 | OPEN | CC | 35 | 45 | 1575 | 32 | 12 | BIDDING | 30 | 5 |
| 516 | Within 5 Kms From A.G. Desai Circle, Jamkhandi Towards Banahatti On SH 53 | BAGALKOT | REGULAR | 160 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 517 | Within 2 KMs on either side of Yadahalli cross on | | REGULAR | 133 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 517 | Jamkhandi- Bilgi State Highway Bammapura within Hubli City Limits | BAGALKOT UTTARA KANNADA | REGULAR | 150 | SC | CFS | 20 | 20 | 400 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 519 | Within 5 Kms From Bilgi Cross Towards Vijayapura | | REGULAR | 160 | OPEN | DC | 35 | 45 | 1575 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| | On NH 52 Within 8.5 Kms From Rani Chennamma Circle, | BAGALKOT | | | | | | | | | | | | |
| 520 | Mahalingpur Towards Rabkavi On SH 54 | BAGALKOT | REGULAR | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 521 | Kaladgi On State Highway | BAGALKOT | REGULAR | 125 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 522 | | 1 | REGULAR | 165 | OPEN | CC | 35 | 45 | 1575 | 32 | 12 | BIDDING | 30 | 5 |
| | Chikkanasabi Village On Badami- Mushigeri Road | BAGALKOT | | | | | | | | | | | | 1 |
| | Chikkanasabi Village On Badami- Mushigeri Road Within 2Kms Radius From Bedkihal-Shamanewadi Circle On SH-97 | BAGALKOT BELAGAVI | REGULAR | 105 | SC CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | Within 2Kms Radius From Bedkihal-Shamanewadi Circle On SH-97 Within Siddapur Taluk Limits On NH 69 (Honnavar- | BELAGAVI | REGULAR REGULAR | 105 150 | SC CC 1 OPEN CC 2 | CFS DC | 30 35 | 30 35 | 900 1225 | 0 32 | 0 95 | DRAW OF LOTS | 0 15 | 3 5 |
| 523 | Within 2Kms Radius From Bedkihal-Shamanewadi Circle On SH-97 | | | | | | | | | | | | | |

| 526 | With in Kudremani Village Limit on SH under | BELAGAVI | REGULAR | 100 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
|------------|--|----------------------|--------------------|------------|-------------|-----------|----|----------|------|----------|----------|--------------|----------|--------|
| | Belagavi District From Meridimath Cross Near Konnur New | DELAGAVI | DECT!! *5 | 450 | | CEC | 35 | 25 | 625 | | | DRAW OF 107 | | 2 |
| 527 | Purasabha Karyalaya To Markandi Bridge(Chikkoddi Phool) Gokak, Gokak Taluk | BELAGAVI | REGULAR | 150 | ST | CFS | 25 | 25 | 625 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 528 | Within 2 Kms From Mugalkhod Town Inspection Bungalow Towards Handigund, Raibag Taluka | BELAGAVI | REGULAR | 120 | OBC | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 529 | On Ramnagar To Karwar State Highway(SH 34) Within Karwar Taluk Limits | UTTARA KANNADA | REGULAR | 100 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 530 | From Goaves Circle near LIC Office on Kulkarni Galli Road upto Patson Ford, Old PB Road,Belagavi | BELAGAVI | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 531 | Umrani Village Limits to Bellkud Village Limits on SH-18, Chikkodi Taluk | BELAGAVI | REGULAR | 121 | OBC | DC | 25 | 25 | 625 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 532 | WITHIN 4 KM FROM SHIRALAKOPPA BUS STAND TOWARDS SHIRALAKOPPA TO | SHIVAMOGGA | REGULAR | 150 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 533 | HIREKERUR ROAD ON SH 62 (RHS) IN BETWEEN SHIMOGA PACE PU COLLEGE AND HOLALUR ON SH 25 | SHIVAMOGGA | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 534 | BETWEEN SHIMOGA TOWN RAILWAY STATION TO FREEDOM PARK VIA 100FT ROAD | SHIVAMOGGA | REGULAR | 200 | OPEN | СС | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 535 | WITHIN ANUPINAKATTE VILLAGE, SHIMOGA TALUKA ON NH 69 | SHIVAMOGGA | REGULAR | 160 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 536 | WITHIN MAVALI VILLAGE ON SH 48 (LHS OF SHIRALAKOPPA TO SORABA ROAD) | SHIVAMOGGA | REGULAR | 150 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 537 | ON ANY MAJOR ROADS WITHIN SHIMOGA CITY LIMITS (NOT ON NH/SH) | SHIVAMOGGA | REGULAR | 200 | OPEN | CC | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 538 | ON MAJOR ROADS WITHIN SAGARA MUNICIPAL LIMITS (NOT ON NH/ SH) | SHIVAMOGGA | REGULAR | 140 | OPEN CC 1 | DC | 24 | 24 | 576 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 539 | ON ANY MAJOR ROADS, WITHIN SHIMOGA CITY CORPORATION LIMITS (NOT ON NH/SH) | SHIVAMOGGA | REGULAR | 150 | OBC | CC | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 4 |
| 540 | BETWEEN KALMANE TO SALURU ON SH 148 | SHIVAMOGGA | REGULAR | 150 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 541 | FROM SHIKARIPURA TO MASUR ROAD ON NH 766 C (LHS) | SHIVAMOGGA | REGULAR | 160 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 542 | ON SH 62, WITHIN 11 KM OF SHIRALAKOPPA BUS STAND, LHS TOWARDS HIREKERUR | SHIVAMOGGA | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 543 | ON MAJOR ROADS WITHIN BHADRAVATHI TOWN LIMITS (NOT ON NH/SH) | SHIVAMOGGA | REGULAR | 140 | OBC | DC | 24 | 24 | 576 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 544 | ON OUTERRING ROAD WITHIN SHIMOGA BHADRVATHI URBAN DEVELOPMENT AUTORITY LIMITS (NH 69) LHS TOWARDS BHADRAVATHI | SHIVAMOGGA | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 545 | WITHIN NELAVAGILU VILLAGE LIMITS ON NH 766C (SHIKARIPURA TALUK) | SHIVAMOGGA | REGULAR | 170 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 546 | WITHIN THOGARSI VILLAGE ON SH1 (SHIKARIPURA TALUKA) | SHIVAMOGGA | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 547 548 | THIRTHAHALLI TO NAGARA ON SH 52 BASAVANAGUDI TO RANGANATHAPURA ON | SHIVAMOGGA | REGULAR REGULAR | 150 180 | OBC OPEN | DC DC | 30 | 30 30 | 900 | 32 32 | 75 75 | DRAW OF LOTS | 15 15 | 4 5 |
| 549 | SH 116, (BHADRAVATHI TALUK) WITHIN 3KM FROM MASAGODU POST OFFICE, SOMWARPET ON SH85 TOWARDS RAMANATHPURA | SHIVAMOGGA KODAGU | REGULAR | 140 | SC PH | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 550 | BETWEEN SHIMOGA AIRPORT TO MRS CIRCLE JUNCTION ON SH 57 (RHS) | SHIVAMOGGA | REGULAR | 160 | OBC PH | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 551 | BETWEEN ANANDAPURA TO SAGARA ON NH | SHIVAMOGGA | REGULAR | 180 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 552 | BETWEEN SHIMOGA BUS STAND AND MALLIGANAHALLI BUS STAND ON NH 69 | SHIVAMOGGA | REGULAR | 220 | OPEN | cc | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 553 | WITHIN SHIMOGA BHADRVATHI URBAN DEVELOPMENT AUTHORITY LIMITS, RHS TOWARDS BHADRAVATHI ON NH69 | SHIVAMOGGA | REGULAR | 220 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 554 | BETWEEN ANANDAPURA TO AYANUR ON NH 69 | SHIVAMOGGA | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 555 | BETWEEN SAGAR RAILWAY STATION CIRCLE AND JOG WATER FALLS ON NH 69 BETWEEN ANANDAPURA TO HOSANAGARA | SHIVAMOGGA | REGULAR | 180 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 556 | ON NH 766C | SHIVAMOGGA | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 557 | BETWEEN SHIMOGA AND HOLEHONNUR ON NH 369 (LHS TOWARDS HOLEHONNUR) | SHIVAMOGGA | REGULAR | 180 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 558 | BETWEEN LADYHILL CIRCLE AND SULTAN BATTERI | DAKSHINA KANNADA | REGULAR | 200 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 559 | WITHIN 3 KM FROM SHIKARIPURA JUNCTION TOWARDS HOSUR, ON HONALI ROAD | SHIVAMOGGA | REGULAR | 180 | OPEN | CC | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 560 | THEERTHAHALLI TO AGUMBE ON NH 169 A | SHIVAMOGGA | REGULAR | 180 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 561 | ON MAJOR ROADS WITHIN THEERTHAHALLI PANCHAYATH TOWN LIMITS | SHIVAMOGGA | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 562 | BETWEEN HOSANAGARA TO NAGARA ON NH 766C | SHIVAMOGGA | REGULAR | 160 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 563 | ON SH 1 KUTRAHALLI TO UDUGANI, RHS TOWARDS SHIRALAKOPPA | SHIVAMOGGA | REGULAR | 160 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 564 | BETWEEN AYANUR TO CHINNAMANE ON SH 52 (148) KUNDAPURA-SHIMOGA ROAD BETWEEN SHIVAMOGGA TO THIRTHAHALLI | SHIVAMOGGA | REGULAR | 150 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 565 | ON NH 169 BETWEEN GOWTAMPURA TO DARAKOPPA | SHIVAMOGGA | REGULAR | 180 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 566 | ON NH 766C (SAGARA TALUK) WITHIN 17 KM FROM SORABA ON SORABA - | SHIVAMOGGA | REGULAR | 160 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 567 | BANAVASI RD, SH77 IN BETWEEN PES COLLEGE SHIMOGA TO | SHIVAMOGGA | REGULAR | 150 | SC OPEN | CFS DC | 30 | 30 35 | 900 | 32 | 95 | DRAW OF LOTS | 15 | 3 5 |
| 569 | AYANUR JUNCTION ON NH 69 (LHS) FROM KATTE MALAWADI TO RAVANDUR ON | SHIVAMOGGA | REGULAR | 130 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 570 | SH-86 ON 100 FT ROAD, BETWEEN ALKOLA CIRCLE AND POLICE CHOWKI (SHIMOGA | MYSURU | REGULAR | 180 | OPEN | СС | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| | TOWN) | SHIVAMOGGA | <u> </u> | | <u> </u> | | | <u> </u> | | | | L | | |

| | ON ANY MAJOR ROAD IN BEJAI (WITHIN | | | | | | | l | l | l | l | 1 | | |
|------------|---|---|--------------------|------------|--------------|-----|----------|----------|--------------|----------|----|--------------------|----|-----|
| 571 | MANGALORE CITY CORPORATION LIMITS) | DAKSHINA KANNADA | REGULAR | 250 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 572 | BETWEEN MOORUKAVERI JUNCTION AND AIKALA VILLAGE ON SH 67 | DAKSHINA KANNADA | REGULAR | 160 | SC CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 573 | ON ANY MAJOR ROAD IN SHAKTHINAGAR (WITHIN MANGALURU CITY CORPORATION | | REGULAR | 180 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 574 | LIMITS) WITHIN KEPU VILLAGE LIMIT ON SH 64 | DAKSHINA KANNADA DAKSHINA KANNADA | REGULAR | 160 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 575 | WITHIN MOODBIDRI TALUK LIMITS ON NH | | REGULAR | 180 | OPEN PH | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| | WITH IN 14 KM FROM ANAVATTI BUSSTAND | DAKSHINA KANNADA | | | | | | | | | | | | |
| 576 | TOWARDS SHIRALAKOPPA ON SH 1 | SHIVAMOGGA | REGULAR | 200 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 577 | BETWEEN KUDUPU TO KAIKAMBA ON NH 169 | DAKSHINA KANNADA | REGULAR | 210 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 578 | BETWEEN KAIKAMBA AND GANJIMATTA ON | | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 579 | NH 169 (RHS TOWARDS MOODABIDRI) WITHIN SULLIA PANCHAYAT LIMITS ON NH | DAKSHINA KANNADA | REGULAR | 200 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| | 275 WITHIN KANYANA VILLAGE LIMITS (ON SH | DAKSHINA KANNADA | | | | | | | | | | | | |
| 580 | 100) | DAKSHINA KANNADA | REGULAR | 170 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 581 582 | WITHIN PUTTUR CITY ON NH 275 BY PASS BETWEEN NELLYADI AND UDANE- ON NH | DAKSHINA KANNADA | REGULAR REGULAR | 180 180 | OPEN OPEN | CC | 35 35 | 35 35 | 1225 1225 | 32 32 | 12 | BIDDING BIDDING | 30 | 5 |
| | 75 (LHS TOWARDS BANGALORE) | DAKSHINA KANNADA | | | | | | | | | | | | |
| 583 | MANGALURU OLD PORT AREA,MANGALURU SOMANTHADKA, WITHIN MUNDAJE | DAKSHINA KANNADA | REGULAR | 250 | OPEN | DC | 14 | 18 | 252 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 584 | VILLAGE ON NH 73 | DAKSHINA KANNADA | REGULAR | 200 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 585 | BETWEEN PAVANJE TO HALEANGADY ON NH 66 (LHS TOWARDS PADUBIDRI) | DAKSHINA KANNADA | REGULAR | 180 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 586 | BETWEEN KUMBRA AND KARINJE ON NH 275 | DAKSHINA KANNADA | REGULAR | 200 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 587 | BETWEEN KUMBRA JUNCTION AND BELLARE JUNTION ON SH 100 | DAKSHINA KANNADA | REGULAR | 160 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 588 | WITHIN 2 KM FROM VISHAL MEGA MART, | | REGULAR | 180 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| | CHOKKABETTU TOWARDS KRISHNAPURA WITHIN TENKAKARANDURU VILLAGE LIMIT | DAKSHINA KANNADA | | | | | | | | | | | | |
| 589 | ON SH (BETWEEN GURUVAYANAKERE AND NARAVI) | DAKSHINA KANNADA | REGULAR | 160 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 590 | WITHIN HOSANGADI VILLAGE LIMIT ON SH | DAKSHINA KANNADA | REGULAR | 160 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 591 | BETWEEN THOKOTTU JUNCTION AND | DAKSHINA KANNADA | REGULAR | 220 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 592 | PUMPWELL JUNCTION ON NH-66 ON PUTTUR-UPPINANGADY ROAD, WITHIN PUTTUR | | REGULAR | 200 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| | ON ANY MAJOR ROAD WITHIN ULLAL | DAKSHINA KANNADA | | | | | | | | | | | | |
| 593 | MUNICIPLE LIMITS (NOT ON NH/SH) BETWEEN GURUVAYANAKERE AND | DAKSHINA KANNADA | REGULAR | 185 | OPEN | CC | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 594 | BELTHANGADI (ON NH 73) | DAKSHINA KANNADA | REGULAR | 200 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 595 | BETWEEN LADYHILL CIRCLE AND KOTTARA CHOWKI (ON KULUR FERRY RD.) | DAKSHINA KANNADA | REGULAR | 240 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 596 | BETWEEN KPT JUNCTION AND KOTTARA CHOWKI ON NH 66 (LHS TOWARDS UDUPI) | DAKSHINA KANNADA | REGULAR | 260 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 597 | WITHIN PADANGADI VILLAGE LIMITS ON SH | | REGULAR | 160 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | (BETWEEN GURUVAYANAKERE AND VENUR) | DAKSHINA KANNADA | REGOLAR | 100 | OI EIV | 50 | | | 300 | 02 | ,, | DIAW OF EOTS | 10 | |
| 598 | WITHIN 3 KM FROM SURATHKAL JUNCTION TOWARDS KATIPALLA ON SH 101 | | REGULAR | 168 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | WITHIN NETTANIGE MUDNOOR VILLAGE | DAKSHINA KANNADA | 25011142 | 200 | 000 | | 20 | | 000 | 20 | 10 | DIDDING. | 20 | |
| 599 | LIMITS ON SH 55 BETWEEN KULASHEKARA TO KUDUPU ON | DAKSHINA KANNADA | REGULAR | 200 | OBC | cc | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 4 |
| 600 | NH 169 | DAKSHINA KANNADA | REGULAR | 250 | OPEN | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 601 | BETWEEN KAVOOR TO KENJARU ON SH 67 (LHS TOWARDS BAJPE) | DAKSHINA KANNADA | REGULAR | 200 | OPEN | cc | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 602 | BETWEEN UPPINANGADY TO NEJIKARU ON SH 118 | DAKSHINA KANNADA | REGULAR | 150 | ОВС | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 603 | WITHIN 2 KM FROM HONNAKATTE JUNCTION (ON VIDYA NAGAR ROAD) | DAKSHINA KANNADA | REGULAR | 200 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 604 | ON ANY MAJOR ROADS WITHIN MANGALURU CITY COPORATION LIMITS | DAKSHINA KANNADA | REGULAR | 250 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 605 | BETWEEN THODAR AND HANDEL ON NH | | REGULAR | 200 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 606 | 169 (RHS TOWARDS MOODABIDRA) WITHIN ARYAPPU VILLAGE LIMIT ON NH 275 | DAKSHINA KANNADA | REGULAR | 200 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| | BETWEEN KUNTIKANA JUNCTION AND | DAKSHINA KANNADA | | | | | | | | | | | | |
| 607 | KAVOOR JUNCTION BETWEEN KULUR BRIDGE TO KUNTIKANA | DAKSHINA KANNADA | REGULAR | 200 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 608 | JUNCTION (LHS ON NH 66 TOWARDS | DANCHINIA NASSISSISSISSISSISSISSISSISSISSISSISSISSI | REGULAR | 240 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| | KUNTIKANA JUNT.) BETWEEN TALAPADI TOLL GATE AND | DAKSHINA KANNADA | | | | | | | | | | | | |
| 609 | THOKOTTU JUNCTION-ON NH 66 (LHS TOWARDS THOKOTTU) | DAKSHINA KANNADA | REGULAR | 280 | OPEN | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 610 | BETWEEN MANI AND KABAKA ON NH 275 | DAKSHINA KANNADA | REGULAR | 200 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 611 | BETWEEN KOTTARA CHOWKI AND KULOOR BRIDGE -ON NH 66(LHS TOWARDS UDUPI) | DANCIUMA MATTER | REGULAR | 280 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 612 | WITHIN 3 KM FROM BC ROAD | DAKSHINA KANNADA | REGULAR | 200 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 613 | CIRCLE(TOWARDS BANTWAL ON NH 73) BETWEEN KENJARU TO BAJPE ON SH 67 | DAKSHINA KANNADA DAKSHINA KANNADA | REGULAR | 155 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 614 | WITHIN NARAVI LIMITS -ON SH 37 | DAKSHINA KANNADA | REGULAR | 125 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 615 | BETWEEN KARUVELU TO PERNE ON NH 75 (LHS TOWARDS MANGALORE) | DAKSHINA KANNADA | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 616 | ON MAJOR ROAD, JEPPU WITHIN MANGALORE CITY CORPORATION LIMITS | DAKSHINA KANNADA | REGULAR | 180 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 617 | BETWEEN THOKOTTU JUNCTION AND TALAPADI TOLL GATE -ON NH 66 (LHS | | REGULAR | 240 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 017 | TOWARDS TALAPADI) | DAKSHINA KANNADA | MEGULAK | 270 | OBC | DC | JJ | JJ | 1223 | J2 | 93 | SIMW OL FOLS | 13 | , T |
| 618 | BETWEEN KAVOOR JUNCTION AND KPT JUNCTION (ON AIRPORT ROAD) | DAKSHINA KANNADA | REGULAR | 260 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 619 | BETWEEN CLOCK TOWER CIRCLE TO RAILWAY GATE (ON MANGLADEVI TEMPLE | | REGULAR | 200 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | ROAD) BETWEEN LADYHILL CIRCLE AND CAR | DAKSHINA KANNADA | | | | | | | | | | | | |
| 620 | STREET ON KULUR FERRY RD. | DAKSHINA KANNADA | REGULAR | 260 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | | | | | | | | | | | | | | |

| | BETWEEN KAVALKATTE AND PUNJALKATTE | | | | | | | 1 | | | ı | | | |
|-----|--|------------------|--------------------|------------|--------------|-----------|----------|----------|-------------|----------|----------|----------------------------|----------|--------|
| 621 | (ON NH 73) | DAKSHINA KANNADA | REGULAR | 200 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 622 | BETWEEN KPT JUNCTION AND KAVOOR JUNCTION (ON AIRPORT ROAD) | DAKSHINA KANNADA | REGULAR | 260 | OPEN | cc | 24 | 24 | 576 | 32 | 12 | BIDDING | 30 | 5 |
| 623 | WITHIN MARAGOWDANAHALLI VILLAGE LIMITS, NOT ON RING ROAD, WITHIN MYSORE CITY CORPORATION LIMITS | MYSURU | REGULAR | 200 | OPEN CC 2 | сс | 35 | 28 | 980 | 32 | 12 | BIDDING | 30 | 5 |
| 624 | BETWEEN KILPADI TO KINNIGOLI ON SH 70 | DAKSHINA KANNADA | REGULAR | 150 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 625 | BETWEEN B. BASAVALINGAPPA CIRCLE (SILK FACTORY CIRCLE), AND RING ROAD JUNCTION ON MYSORE - HD KOTE ROAD (MANANTHAVADI RD), WITHIN MYSORE CITY CORPORATION LIMITS | MYSURU | REGULAR | 180 | SC CC 1 | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 626 | ON SH 84A, BETWEEN VARUNA VILAGE TO SUTTURU VILLAGE | MYSURU | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 627 | ON RING ROAD BETWEEN COLUMBIA ASIA HOSPITAL JUNCTION AND KRS ROAD | | REGULAR | 200 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| | JUNCTION ON ANY MAIN ROAD WITHIN MYSORE | MYSURU | | | | | | | | | | | | |
| 628 | URBAN DEVELOPMENT AUTHORITY LIMITS (NOT ON RING ROAD & NH) WITHIN MOODANAHALLI VILLAGE LIMITS | MYSURU | REGULAR | 160 | OBC | DC CFS | 35 | 35 | 900 | 32 0 | 75 0 | DRAW OF LOTS | 0 | 3 |
| | ON SH 7 ON NH 275, BETWEEN HINKAL RING ROAD | HASSAN | REGULAR | | SC | | 30 | 30 | | | | DRAW OF LOTS | | |
| 630 | JUNCTION AND POST OFFICE YELAWALA | MYSURU | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 631 | WITHIN 5 KM FROM RING ROAD JUNCTION (MANANTHAVADI RD) TOWARDS HD KOTE ON SH 33 | MYSURU | REGULAR | 160 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 632 | ON MAIN ROADS, N R MOHALLA WITHIN MYSORE CITY CORPORATION LIMTS (NOT ON RING ROAD) | MYSURU | REGULAR | 180 | OBC | СС | 24 | 24 | 576 | 32 | 12 | BIDDING | 30 | 4 |
| 633 | ON MAIN ROADS, LINGAMBUDHI VILLAGE, KASABA HOBLI, MYSORE TALUK, (NOT ON RING ROAD) | MYSURU | REGULAR | 150 | OPEN | СС | 40 | 30 | 1200 | 32 | 12 | BIDDING | 30 | 5 |
| 634 | BETWEEN SORABA TO SAGAR ON SH 77 (VIA KELADI) | SHIVAMOGGA | REGULAR | 150 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 635 | ON MAIN ROADS, HEBBALA VILLAGE, KASABA HOBLI, MYSORE TALUK (NOT ON RING ROAD) | MYSURU | REGULAR | 180 | OPEN | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 636 | ON MAIN ROADS, NAZARBAD MOHALLA, WITHIN MYSORE CITY CORPORATION LIMITS (NOT ON RING ROAD) | MYSURU | REGULAR | 200 | OBC | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 4 |
| 637 | ON ANY MAIN ROAD HINKAL, WITHIN MYSORE CITY CORPORATION LIMITS NOT ON NH | MYSURU | REGULAR | 160 | OPEN CC 1 | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 638 | WITHIN 5 KM FROM ANAVATTI BUS STAND ON SAGAR ROAD WITHIN ANAVATI TOWN PANCHAYAT LIMITS | SHIVAMOGGA | REGULAR | 120 | SC | CFS | 18 | 20 | 360 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 639 | WITHIN 5 KMS FROM KAVERI CIRCLE, BANNUR TO SRIRANGAPATNA ROAD, ON SH79 | MYSURU | REGULAR | 140 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 640 | WITHIN 4 KMS FROM THE DEVEGOWDA | MYSURU | REGULAR | 160 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 641 | ON ANY MAIN ROAD WITHIN MADIKERI | | REGULAR | 160 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 642 | TOWN LIMITS (NOT ON SH/NH) ON SH 90, ON VIRAJPET MYSORE ROAD, | KODAGU | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 643 | THAMMADIHALLI TO HARINAHALLI ON ANY MAJOR ROAD IN BOLURU, WITHIN MANGALURU CITY CORPORATION LIMITS | MYSURU | REGULAR | 200 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | (INCLUDING ASHOKNAGAR) ON ANY MAIN ROAD WITHIN MYSORE CITY | DAKSHINA KANNADA | | | | | | | | | | | | |
| 644 | CORPORATION LIMITS, NOT ON RING ROAD | MYSURU | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 645 | BETWEEN DAMDEN APARTMENTS AND SILENT SHORES RESORT ON R P G TELE CABLE ROAD, WITHIN MYSORE CITY | A.N.G.I.B.I. | REGULAR | 250 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 646 | CORPORATION LIMITS BETWEEN HUNSUR AND HANCHYA | MYSURU | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 647 | VILLAGE, HUNSUR TALUK ON SH 86 ON ANY MAIN ROAD WITHIN MYSORE CITY | MYSURU | REGULAR | 200 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | CORPORATION LIMITS BETWEEN MAHISHASURE STATUE TO DEVI | MYSURU | | | | | | | | | | | | |
| 648 | KERE, CHAMUNDI HILLS ON SH, WITHIN AMMATHI VILLAGE | MYSURU KODAGU | REGULAR REGULAR | 160 140 | OPEN OPEN | DC DC | 35 30 | 35 30 | 1225 900 | 32 32 | 75 75 | DRAW OF LOTS DRAW OF LOTS | 15 15 | 5 5 |
| 650 | ON SH 57, GALIHALLI, TARIKERE TALUK | CHIKKAMAGALUR | REGULAR | 140 | OBC PH | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 651 | ON SH 27 WITHIN 2 KM FROM GENERAL K S THIMMAIAH CIRCLE MADIKERI TOWARDS | | REGULAR | 140 | SC PH | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 652 | VIRAJPET ON RING ROAD, DATTAGALLI | KODAGU MYSURU | REGULAR | 300 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 653 | ON RING ROAD BETWEEN DEVEGOWDA CIRCLE AND COLUMBIA ASIA HOSPITAL JUNCTION | MYSURU | REGULAR | 200 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 654 | ON RING ROAD BETWEEN KANTHARAJ URS ROAD JUNCTION AND HINKAL JUNCTION | MYSURU | REGULAR | 300 | OBC | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 655 | ON RING ROAD BETWEEN NANJANGUD RING ROAD JUNCTION AND DEVEGOWDA CIRCLE | MYSURU | REGULAR | 250 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 656 | ON SH 91, WITHIN 2KM FROM SH-89 AND 91 JUNCTION AT SIDDAPURA TOWARDS | | REGULAR | 140 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 657 | VIRAJPET SRIMANGALA VILLAGE, WITHIN KUSHAL | KODAGU | REGULAR | 110 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 658 | NAGAR TALUK LIMITS ON SH 89 WITHIN 4KM TOWARDS BETTADAPURA FROM PERIYAPATNA & NH275 JUNCTION, | KODAGU | REGULAR | 110 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 659 | ON SH 21 ON SH 112, DODDAKODLI VILLAGE, KODLIPET PANCHAYAT, SOMWARPET | MYSURU | REGULAR | 110 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 650 | TALUK BETWEEN BANNUR TO T. NARSIPURA ON SH | KODAGU | DECL!! AC | 100 | | CEC | 20 | 20 | 000 | | _ | DRAW OF LOTS | 0 | 3 |
| 660 | 79 BETWEEN BOIKERI AND KODAGARAHALLI | MYSURU | REGULAR | 120 | SC | CFS DC | 30 | 30 | 900 | 32 | 0 95 | DRAW OF LOTS | 15 | 4 |
| 662 | VILLAGE ON NH275 WITHIN 5KMS FROM K YEDATHORE VILLAGE ON HD KOTE TOWN TO HUNSUR | KODAGU | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | TOWN ROAD ON SH 86 | MYSURU | COLAN | 100 | O. LIV | 20 | 30 | 30 | 200 | 32 | ' | 51 2013 | 10 | |

| | ON ANY MAIN ROAD KUSHALNAGARA TOWN | | | 100 | 00511 66 4 | D.C. | 20 | 20 | 000 | 20 | | DD4111 OF 1 OTS | | l _ |
|------------|---|------------------|--------------------|------------|--------------|-------|----|----------|------|----------|----------|-------------------------|----------|--------|
| 663 | LIMITS (NOT ON NH/SH) ON ANY MAIN ROAD WITHIN VIRAJPET | KODAGU | REGULAR | 130 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 664 | TOWN ON SH ON MAHADEVAPURA MAIN ROAD OR AZEEZ | KODAGU | REGULAR | 120 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 665 | SAIT MAIN ROAD BETWEEN FORUM MALL & RING ROAD, WITHIN MYSORE CITY CORPORATION LIMITS | MYSURU | REGULAR | 200 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 666 | ON SH 33, BETWEEN KAVERI CIRCLE, BANNUR AND SUMANGALI CONVENTION HALL | MYSURU | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 667 | ON NH 275, MANUGANAHALLI VILLAGE, BILEKERE HOBLI | MYSURU | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 668 | WITHIN GONIKOPPAL PANCHAYAT LIMITS ON SH | KODAGU | REGULAR | 140 | ОВС | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 669 | FROM PALYA TO BYRAPURA ON NH75 (LHS TOWARDS HASSAN) | HASSAN | REGULAR | 200 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 670 | SINDHUVALLI VILLAGE, NANJANGUD TALUK ON NH 766 | MYSURU | REGULAR | 160 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 671 | ON RING ROAD BETWEEN HINKAL JUNCTION AND KRS RD JUNCTION | MYSURU | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 672 | ON RING ROAD BETWEEN MANANTHAVADI RING RD JUNCTION AND NANJANGUD - RING ROAD JUNCTION | MYSURU | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 673 | WITHIN 3KM FROM ARAMERI POST OFFICE TOWARDS BHAGMANDALA ON SH90 | KODAGU | REGULAR | 140 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 674 | WITHIN 3KM FROM ARAMERI POST OFFICE TOWARDS MADIKERI ON SH27 | KODAGU | REGULAR | 140 | ST CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 675 | WITHIN 5 KM RADIUS FROM VILLAGE PANCHAYAT OFFICE SIDDAPURA GATE ON | | REGULAR | 150 | OPEN PH | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 676 | ANY SH WITHIN HETHUR VILLAGE LIMIT ON SH107 | HASSAN HASSAN | REGULAR | 150 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 677 | WITHIN 7 KM ON RHS OF NH 73 FROM HUNASEKATTE TOWARDS ARASIKERE | HASSAN | REGULAR | 200 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 678 | ON SH-65, BETWEEN KOPPA TO MADABURU | CHIKKAMAGALUR | REGULAR | 160 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 679 | WITHIN 4 KM FROM ARKALGUD POST OFFICE ON SH8 TOWARDS HOLENARSIPURA | HASSAN | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 680 | WITHIN 2 KM FROM NEHRU CIRCLE (BELUR) ON PROPOSED NH373 TOWARDS HASSAN | HASSAN | REGULAR | 200 | OBC | cc | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 681 | WITHIN ARKALGUD MUNICIPAL LIMIT (ON MAJOR ROADS NOT ON SH/NH) | HASSAN | REGULAR | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 682 | WITHIN SAKLESHPUR MUNCIPAL LIMIT ON NH75 (INCLUDING BY PASS) | HASSAN | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 683 | ON NH 373 WITHIN RAMACHANDRAPURA VILLAGE (BELUR TALUK) LIMIT | HASSAN | REGULAR | 200 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 684 | WITHIN 5 KM FROM HALLI MYSORE VILLAGE ON SH108 TOWARDS HOLENARSIPURA | HASSAN | REGULAR | 150 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 685 | WITHIN 3 KM RADIUS OF NUGGEHALLI POLICE STATION ON SH47 | HASSAN | REGULAR | 150 | OPEN | cc | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 686 | WITHIN MATHIGATTA VILLAGE LIMIT ON SH 8 | HASSAN | REGULAR | 150 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 687 | BETWEEN KM STONE-152 AND 154 ON NH 75 (LHS TOWARDS HASSAN) | HASSAN | REGULAR | 200 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 688 | WITHIN 7 KM FROM BELUR BUS STAND TOWARDS MANGALORE ON NH73 | HASSAN | REGULAR | 180 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 689 | BETWEEN KM STONES 188 AND 190 ON NH75 (RHS TOWARDS SAKLESHPURA) | HASSAN | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 690 | WITHIN 4 KM FROM BENDEKERE POST OFFICE TOWARDS BANAVARA ON LHS OF NH 73 | HASSAN | REGULAR | 200 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 691 | ON NH 373 WITHIN 5 KM 0F JAWAHAR NAVODAYA VIDYALAYA ,MAVINKERE TOWARDS HOLENARSIPURA | HASSAN | REGULAR | 200 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 692 | WITHIN 5 KM RADIUS OF GORUR BUS STAND ON SH21 | HASSAN | REGULAR | 150 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 693 | WITHIN 6 KM FROM JSS PUBLIC SCHOOL,BAGHE VILLAGE TOWARDS HASSAN ON NH75(LHS TOWARDS HASSAN) | HASSAN | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 694 | ON MAJOR ROADS WITHIN CHANNARAYAPATNA MUNICIPAL LIMIT (NOT ON NH) | HASSAN | REGULAR | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 695 | ON MAJOR ROADS WITHIN HOLENARASIPURA MUNICIPAL LIMIT (NOT ON NH) WITHIN 2 KM RADIUS FROM | HASSAN | REGULAR | 150 | OBC | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 696 | INTERSECTION OF SH102 AND SH121 AT HARIHARAPURA VILLAGE | HASSAN | REGULAR | 150 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 697 | WITHIN 3 KM FROM DAIRY CIRCLE ON RING ROAD (RHS) WITHIN HASSAN CITY MUNICIPAL LIMITS | HASSAN | REGULAR | 120 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 698 | ON MAJOR ROADS, WITHINSAKLESHPUR MUNCIPAL LIMITS (NOT ON SH/NH) | HASSAN | REGULAR | 180 | OPEN | СС | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 699 | WITHIN ODANAHALLI VILLAGE LIMIT ON SH 102 WITHIN 5 KM FROM MAHAVEER CIRCLE ON | HASSAN | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 700 | SH 21 TOWARDS SALAGAME, HASSAN TALUK BETWEEN THANNIRUHALLA CIRCLE AND | HASSAN | REGULAR | 120 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 701 | DEVIRAYAPATNA JUNCTION WITHIN HASSAN CITY MUNICIPAL LIMITS | HASSAN | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 702 | WITHIN 5 KM FROM TANNIRUHALLA JUNCTION ON NH373 TOWARDS BELUR | HASSAN | REGULAR | 200 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 703 704 | ON RACECOURSE ROAD WITHIN HASSAN CIT WITHIN 2 KM RADIUS FROM BELUR KSRTC | HASSAN | REGULAR REGULAR | 150 125 | OPEN OPEN | DC DC | 20 | 20 20 | 400 | 32 32 | 12 55 | BIDDING DRAW OF LOTS | 30 15 | 5 5 |
| 705 | BUS STAND (NOT ON SH/NH) WITHIN 4 KM FROM NEHRU CIRCLE (BELUR)TOWARDS CHIKKAMAGALUR ON | HASSAN | REGULAR | 200 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 706 | NH373 BETWEEN GANDSI AND MUDHUDI VILLAGE | HASSAN | REGIIIAD | 100 | OPC | DC | 30 | 30 | 900 | 30 | 75 | DRAW OF LOTE | 15 | 4 |
| 706 | ON SH 7 | HASSAN | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |

| | WITHIN 3 KM FROM SALAGAME CIRCLE | | | | 1 1 | | | l | | | I | 1 | | |
|------------|--|------------------------|--------------------|------------|-------------|----------|----------|----------|-------------|----------|----------|---------------------------|----------|--------|
| 707 | TOWARDS BELUR ON RING ROAD WITHIN HASSAN CITY MUNICIPAL LIMITS WITHIN 5 KM FROM SHYANEGERE | HASSAN | REGULAR | 150 | OPEN | cc | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 708 | GOVERNMENT SCHOOL TOWARDS BANAVARA ON NH 69 | HASSAN | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 709 | BETWEEN NILUVAGILU TOLL AND MORARJI DESAI SCHOOL,BARGURU ON SH21 | HASSAN | REGULAR | 150 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 710 | BETWEEN BITTANGALA AND KAIKERI BHAGAVATHI DEVASATANA ON SH90 | KODAGU | REGULAR | 140 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 711 | ON SH52, HOSANGADI VILLAGE, KUNDAPURA TALUK | UDUPI | REGULAR | 195 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 712 | ON NH-66, FROM MARAVANTHE TO UPPUNDHA, LHS TOWARDS SHIROOR | UDUPI | REGULAR | 170 | OPEN CC 1 | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 713 | ON NH-69, FROM ATHHIGANALU TO CHENNAPURA | CHIKKAMAGALUR | REGULAR | 260 | ОВС | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 714 | ON NH-169A, FROM ATHRADI TO PERDUR | UDUPI | REGULAR | 200 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 715 | ON NH-66, FROM HEJAMADI TO ENAGUDDE RHS TOWARDS SHIROOR | UDUPI | REGULAR | 300 | OPEN | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 716 | ON NH-69, FROM H. RANGAPURA TO BALENAHALLI | CHIKKAMAGALUR | REGULAR | 260 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 717 | ON NH-66, FROM KIRIYURU TO PUTTURU LHS TOWARDS SHIROOR | UDUPI | REGULAR | 300 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 718 | ON KATPADI - BELMAN ROAD, FROM | UDUPI | REGULAR | 160 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 719 | MOODABETTU TO SHIRVA CIRCLE ON NH-66, FROM UDHYAVARA TO PUTTURU | | REGULAR | 200 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 720 | RHS TOWARDS SHIROOR ON CHIKMANGALUR - MALLANDUR ROAD, | UDUPI | REGULAR | 300 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| | MALLANDUR CIRCLE TO JOLADHALU ON NH-66, FROM KUNDAPURA TO | CHIKKAMAGALUR | | | | | | | | | | | | |
| 721 | HEMMADI, LHS TOWARDS SHIROOR SRI SHARADA MANTAPA ROAD WITHIN | UDUPI | REGULAR | 300 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 722 | UDUPI TOWN LIMITS ON SH-65, NILANDHURU TO | UDUPI | REGULAR | 160 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 723 | HARIHARAPURA | CHIKKAMAGALUR | REGULAR | 140 | SC CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 724 | WITHIN T NARSIPURA TOWN LIMITS (NOT ON NH AND SH) | MYSURU | REGULAR | 120 | OPEN CC 2 | cc | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 725 | ON SH-152, WITHIN 3 KM FROM MARAVANJI CROSS CIRCLE, KADUR | CHIKKAMAGALUR | REGULAR | 150 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 726 | DR. VS ACHARYA ROAD (DC OFFICE ROAD), UDUPI TOWN LIMITS | UDUPI | REGULAR | 180 | OPEN | CC | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 727 | ON BOGADI ROAD BETWEEN PR TIPPESWAMY CIRCLE AND RING ROAD JUNCTION, WITHIN MYSORE CITY CORPORATION LIMITS | MYSURU | REGULAR | 200 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 728 | ON NH-66, FROM UPPURU TO KUMRAGODU LHS TOWARDS SHIROOR | UDUPI | REGULAR | 380 | ОВС | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 729 | ON NH-173, DODDABUKKASAGARA TO KADUR | CHIKKAMAGALUR | REGULAR | 190 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 730 | ON NH-66, FROM HEJAMADI TO | | REGULAR | 215 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 731 | ON NH-66, FROM THEKKATTE TO VADERA | UDUPI | REGULAR | 200 | OBC | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 732 | HOBLI RHS TOWARDS SHIROOR ON NH-173, BETWEEN MUDIGERE TO | UDUPI | REGULAR | 200 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 733 | KELAGURU ON NH-66, FROM AIRODI TO VADERA | CHIKKAMAGALUR | REGULAR | 240 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| | HOBLI LHS TOWARDS SHIROOR ON NH-66, FROM YADTHARE TO SHIROOR, | UDUPI | | | | | | | | | | | | |
| 734 | LHS TOWARDS SHIROOR ON NH-73, BANAKAL TO HANDPOST, | UDUPI | REGULAR | 220 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 735 | MUDIGERE ON PERAMPALLI ROAD, UDUPI TOWN | CHIKKAMAGALUR | REGULAR | 200 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 736 | LIMITS (LHS TOWARDS MANIPAL) | UDUPI | REGULAR | 160 | SC | CFS | 20 | 20 | 400 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 737 | ON NH-66, FROM MARAVANTHE TO SHIROOR, RHS TOWARDS SHIROOR | UDUPI | REGULAR | 170 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 738 | ON SH-57, BALEHALLI TO HALASABALU, CHIKMAGALUR TALUK | CHIKKAMAGALUR | REGULAR | 150 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 739 | ON NH-73, HANDPOST, MUDIGERE TO KAMMARAGODU | CHIKKAMAGALUR | REGULAR | 220 | OBC | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 740 | ON SH-24, FROM AJJAMPURA TO TAMATADAHALLI | CHIKKAMAGALUR | REGULAR | 180 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 741 | ON NH-66, FROM KUNDAPURA TO THRASSI, RHS TOWARDS SHIROOR | UDUPI | REGULAR | 200 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 742 | ON NH-169A, HERGA (MANIPAL) | UDUPI | REGULAR | 250 | OPEN | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 743 | ON SH-66, NIDUVALE TO MAGUNDI ON NH-69, FROM KORATEGE TO BEERURU | CHIKKAMAGALUR | REGULAR | 180 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 744 | KAVAL ON NH-66, FROM UPPURU TO MANURU, | CHIKKAMAGALUR | REGULAR | 170 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 745 | RHS TOWARDS SHIROOR | UDUPI | REGULAR | 200 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 746 747 | ON NH-69, GALIHALLI TO PUNDANAHALLI ON SH-1, NITTE | CHIKKAMAGALUR UDUPI | REGULAR REGULAR | 210 170 | OPEN OBC | DC DC | 35 30 | 35 30 | 1225 900 | 32 32 | 95 75 | DRAW OF LOTS DRAW OF LOTS | 15 15 | 5 4 |
| 748 | ON NH-169A, UDUPI TOWN LIMITS | UDUPI | REGULAR | 200 | OPEN | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 749 | ON NH-173, SAKARAYAPATNA VILLAGE ON KOLLUR - BYNDUR ROAD (NH-766C) | CHIKKAMAGALUR | REGULAR | 180 | SC PH | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 750 751 | FROM KOLLUR TO YADTARE CIRCLE ON ANY MAIN ROAD, MOODANIDAMBURU OR BADAGABETTU, UDUPI TOWN LIMITS | UDUPI | REGULAR | 300 140 | OBC PH OPEN | DC DC | 35 20 | 35 20 | 1225 | 32 | 95 55 | DRAW OF LOTS | 15 | 5 |
| | (NOT ON NH/SH) CHIKMAGALUR - KADUR BYPASS ROAD, BR | UDUPI | DEC: :: 4 - | 000 | OPEN | D.C. | | | 000 | | | DDAW OF 10== | 15 | |
| 752 | AMBEDKAR CIRCLE TO AIT CIRCLE ON KORANGRAPADY - ALEVOOR ROAD, | CHIKKAMAGALUR | REGULAR | 220 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 753 | UDUPI TALUK ON NH-69, FROM ULLENAGARU TO | UDUPI | REGULAR | 150 | OBC | DC | 24 | 24 | 576 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 754 | GEDDLEHALLI ON SH-57, FROM HIREMAGALUR TO | CHIKKAMAGALUR | REGULAR | 300 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 755 | MAGADI | CHIKKAMAGALUR | REGULAR | 160 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 756 | ON KR PETE ROAD, MOOGATHIHALLI OR GAVANAHALLI, CHIKMAGALUR TALUK | CHIKKAMAGALUR | REGULAR | 160 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 757 | ON NH-173, FROM DASARAHALLI TO KENKERE | CHIKKAMAGALUR | REGULAR | 180 | ОВС | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 758 | ON NH-173, BETWEEN CHITTHAVALLI TO NALLURU, CHIKMAGALUR TALUK | CHIKKAMAGALUR | REGULAR | 200 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 759 | ON SH-37, UDUPI TOWN LIMITS ON SH-27, WITHIN 3 KMS OF HALLADI, | UDUPI | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 760 | KUNDAPUR TALUK | UDUPI | REGULAR | 130 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | | | | | | | | | | | | | | |

| 761 | ON SH-65, MUTHINAKOPPA TO KANAGURU | CHIKKAMAGALUR | REGULAR | 160 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
|------------|--|-------------------------|--------------------|------------|------------------|-----------|----------|----------|-------------|----------|----------|----------------------------|----------|--------|
| 762 | ON NH-173, WITHIN 2 KM FROM AIT CIRCLE, LHS TOWARDS KADUR | CHIKKAMAGALUR | REGULAR | 220 | OBC | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 763 | WITHIN THIRUVAIL VILLAGE, GURUPURA | | REGULAR | 200 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| | HOBLI ON NH 169 ON NH-169, SANOOR TO KUDREMUKH | DAKSHINA KANNADA | | | | | | | | | | | | |
| 764 765 | CHECKPOST ON SH-67, FROM ATRADY TO SHIRVA | UDUPI UDUPI | REGULAR REGULAR | 255 160 | OPEN CC 1 OBC | DC DC | 35 30 | 35 30 | 1225 900 | 32 32 | 95 75 | DRAW OF LOTS DRAW OF LOTS | 15 15 | 5 4 |
| 766 | ON SH-07, FROM ATRADY TO SHIRVA ON SH-27, DEVADHANA TO YALEMADALU | CHIKKAMAGALUR | REGULAR | 200 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 767 | ON SH-76, AJJAMPURA TO BIRUR | CHIKKAMAGALUR | REGULAR | 150 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 768 | ON SH-1, WITHIN 5 KM OF AJEKAR BUS STOP | UDUPI | REGULAR | 160 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 769 | On SH, Within Muslapur Village, Gangawathi Taluk | KOPPAL | REGULAR | 100 | ОВС | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 770 | On NH 67 on Kudathini Bypass, LHS from Bellary towards Torangallu | BELLARI | REGULAR | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 771 | On SH, within 7 Kms from Karatagi Village towards Siddapur Village | KOPPAL | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 772 | On RHS, With in 2 Km from Raravi Village towards Siruguppa, on SH | BELLARI | REGULAR | 100 | SC CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 773 | On SH, On Bothsides From Shankarbanda Village to Rupangudi Village | BELLARI | REGULAR | 100 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 774 | On New By pass NH, Andral Village towards Hagari Check Post IN MELINAKANIVE VILLAGE, MOLAKALMURU | BELLARI | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 775 | TALUK ON STATE HIGHWAY | CHITRADURGA | REGULAR | 100 | OPEN PH | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 776 | Within Kushtagi town limits on any Main Road | KOPPAL | REGULAR | 100 | SC | CFS | 20 | 20 | 400 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 777 | On SH, within 5 Kms from Kurugodu on both sides On SH, Within Mariyammanahalli Village limits, | BELLARI | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 778 | Hospet Taluk On LHS, From Dharmasagara Village to | VIJAYANAGARA | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 779 | Papinayakanahalli Village on NH67 | VIJAYANAGARA | REGULAR | 150 | OBC | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 4 |
| 780 781 | On SH, On Rampura Village, Kanakagiri Taluk Within Hospet Muncipality Limits | KOPPAL VIJAYANAGARA | REGULAR REGULAR | 100 | ST OPEN | CFS DC | 30 20 | 30 20 | 900 400 | 0 32 | 0 55 | DRAW OF LOTS DRAW OF LOTS | 0 15 | 3 5 |
| 782 | In Koppal Town, with in 1 Km from Clock Tower on | | REGULAR | 100 | OPEN | CC | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 783 | any main road Gangavathi town limits on any Main road | KOPPAL KOPPAL | REGULAR | 100 | OPEN | СС | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 784 | On SH 45, both sides, from Itigi Village towards | VIJAYANAGARA | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 785 | Kottur Village With in 3 Km radius from Kanekal Bus stand, | | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 786 | Bellary Town Within Hagaribommanahalli town limits | BELLARI VIJAYANAGARA | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 787 | Shorapur Town Limits on any Main Road (Not on | VIJATANAGANA | REGULAR | 100 | OPEN CC 1 | DC | 18 | 18 | 324 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| | SH/NH) On SH, with in 7 km from Bala Theatre, Hospet | YADAGIRI | | | | | | | | | | | | |
| 788 | towards Hampi On SH, from Tornagal Airport upto Tharanagara | VIJAYANAGARA | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 789 | Village, | BELLARI | REGULAR | 150 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 790 | On NH new Bypass, on LHS from Aladahalli Village towards Halakundhi Village | BELLARI | REGULAR | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 791 | With in 2 Km from SGTPL Toll Plaza on SH23 on RHS From Budhigumpa towards Gangavathi | KOPPAL | REGULAR | 100 | OBC | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 4 |
| 792 | On LHS from Moti Circle, Bellary Town to Guggrahatti Village | BELLARI | REGULAR | 150 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 793 | On LHS from Hospet towards Mariyammanahalli on NH50 | VIJAYANAGARA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 794 | FROM ADAVI MALLAPURA TO HANAGALLU VILLAGE ON NH 150A | CHITRADURGA | REGULAR | 150 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 795 | On SH from Moka towards M Gonalu Village | BELLARI | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 796 | On LHS on NH 67 Within 06 km from Tornagal towards Bellary | BELLARI | REGULAR | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 797 | Within Siriguppa town Limits on any Main Road | BELLARI | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 798 | Within Kudligi town Limits on any Main Road With in 1.5 Km from CBS Circle towards Raichur on | VIJAYANAGARA | REGULAR | 100 | SC | CFS | 20 | 20 | 400 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 799 | RHS in Gangavathi Town | KOPPAL | REGULAR | 100 | OBC | DC | 18 | 18 | 324 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 800 | On NH 67, LHS from ParamadevanaHalli upto Karnataka AP Border | BELLARI | REGULAR | 150 | OPEN | cc | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 801 | Koppal City, Within Municipality Limits | KOPPAL | REGULAR | 100 | OPEN | DC | 18 | 18 | 324 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 802 | With in Yelburga Town Limits on any main road On SH, Within 3 KM on RHS from | KOPPAL | REGULAR | 100 | OBC | DC | 20 | 20 | 400 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 803 | Uppanayakanahalli Village towards Hagaribommanahalli | VIJAYANAGARA | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 804 | Hospet To Hitnal Cross (On NH-67 On LHS) | VIJAYANAGARA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 805 | Within HuvinaHadagali Town Limits on any Main Road | VIJAYANAGARA | REGULAR | 100 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 806 | On NH67,On LHS Within 08km From Genegera Cross towards Hosepet. | KOPPAL | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 807 | On NH 50, On LHS from Kolihal Village towards Hiresulikere Village | KOPPAL | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 808 | BELLARY TOWN ,Within 1 Km from Sangam Circle towards Moka | BELLARI | REGULAR | 100 | OPEN | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 809 810 | Ittigihal Village, On SH both sides On LHS from Hospet to Byluvadigeri Village on | BELLARI VIJAYANAGARA | REGULAR REGULAR | 100 | OPEN OBC | DC DC | 30 35 | 30 35 | 900 1225 | 32 32 | 75 95 | DRAW OF LOTS DRAW OF LOTS | 15 15 | 5 |
| 811 | NH67 Wihtin 2 Kms from Intersection of NH150 A and | | REGULAR | 100 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| | NH 67, in Bellary Town on KIDB Road On LHS towards Thintini Bridge, From Gurugunta- | BELLARI | | | | | | | | | | | | |
| 812 | Aidbhavi Cross to water canal in Gurugunta on NH 150A | RAICHUR | REGULAR | 100 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 813 | On Halkundi New ByPass NH 150 A, Halkundi Village, Bellary Taluk | BELLARI | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 814 | On Yadgir Bypass Road connecting NH 150 and Sedam Road near DC Office | YADAGIRI | REGULAR | 150 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 815 | Kamalapur Town-within 1km from Ambedkar Circle on Kamalapur-Hampi Road | VIJAYANAGARA | REGULAR | 100 | OPEN | сс | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| _ | | | | | | _ | - | | _ | - | _ | | - | |

| | | | 1 | | | | 1 | 1 | 1 | 1 | 1 | 1 | | |
|------------|--|-------------------------|--------------------|------------|-----------------|-----------|----------|----------|------------|---------|---------|----------------------|---------|---|
| 816 | On LHS, Within 2Kms from Raichur 7th mile cross in Hunsihalhuda towards Sirwar on Highway | RAICHUR | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 817 | On bothsides, On NH 367, from Bhanapur Village towards Yelburga | KOPPAL | REGULAR | 150 | OBC | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 818 | Within Bellary Municipal Limits on any Main road | BELLARI | REGULAR | 100 | OPEN | DC | 18 | 18 | 324 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 819 | WITHIN CHITRADURGA TOWN LIMITS NOT ON NH | CHITRADURGA | REGULAR | 100 | OPEN | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 820 | Within Jalahalli limits on SH (Devadurga to Thintini Road) | RAICHUR | REGULAR | 100 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 821 | On RHS, Within 1Km from Navalkal Devi camp - Hutti Cross towards Lingusugur on Sirwar to Lingsugur Road | RAICHUR | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 822 | On SH, Within 1 Km from Government School, Hosa Daroji Village towards Daroji Village | BELLARI | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 823 | On NH 367 A both sides from Koppal towards Irkalgada | KOPPAL | REGULAR | 150 | OPEN CC 2 | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 824 825 | Gajarkot Village Limits on SH IN JAMMAPURA VILLAGE, DAVANGERE TALUK ON | YADAGIRI DAVANAGERE | REGULAR | 100 | OBC CC 1 | DC CFS | 30 35 | 30 35 | 900 | 32 0 | 75 0 | DRAW OF LOTS | 15 0 | 3 |
| 826 | STATE HIGHWAY With in 2 Km both sides from JSW Mines Head | DAVANAGERE | REGULAR | 100 | OPEN | CC | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 827 | Office towards Hospet on Hospet Road Within 1 Km from Batrahalli Anjaneya Temple | BELLARI VIJAYANAGARA | REGULAR | 100 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 828 | Entrance in Hospet Town On LHS towards Sindhanur, With in Manvi Town | VIJATANAGARA | REGULAR | 100 | OBC | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 626 | Limits on Highway On RHS towards Raichur Bypass, Within 1km from | RAICHUR | REGULAR | 100 | OBC | | 20 | 20 | 400 | 32 | /5 | DRAW OF LOTS | 13 | - |
| 829 | Railway cross on Manchalapur Road in Raichur Town On RHS towards Krishna Bridge, Between KM | RAICHUR | REGULAR | 100 | SC | CFS | 25 | 25 | 625 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 830 | Stone 174 and 176 on NH 167 | RAICHUR | REGULAR | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 831 | On LHS, Within 5Kms from Hazrat Zahiruddin Pasha Cross in Devadurga towards Raichur on SH On LHS, Within 3Kms from Neermanvi Cross | RAICHUR | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 832 | towards Raichur on Highway On LHS towards Kushtagi , Within 3Kms from | RAICHUR | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 833 834 | Gandhi Circle in Sindhanur towards on SH On Either side of Raichur Bypass Road | RAICHUR RAICHUR | REGULAR REGULAR | 100 150 | OPEN SC | DC CFS | 30 35 | 30 35 | 900 | 32 0 | 75 0 | DRAW OF LOTS | 15 0 | 5 |
| 835 | On LHS towards Kowtal, Within 2Kms from Lingsugur KSRTC Busstand Cross on SH | RAICHUR | REGULAR | 100 | OPEN | DC | 20 | 20 | 400 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 836 | On LHS, Within 3kms from Govt PHC Hospital in Kallur on Highway towards Raichur | RAICHUR | REGULAR | 100 | ОВС | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 837 | WITHIN 4 KM FROM SANTHEBENNUR BUS STAND ON SOMALAPURA- SASALU STATE HIGHWAY. | DAVANAGERE | REGULAR | 100 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 838 | On LHS, Within 2Kms from Ankalimata Cross in Mudgal towards Khustagi on SH | RAICHUR | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 839 | On RHS towards Manvi, Within 1Kms from Ambedkar Statue in Amareswara Camp on | | REGULAR | 100 | ОВС | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 840 | On LHS, Within 2Kms from Lingsugur KSRTC Bus | RAICHUR | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 841 | stand Cross on NH 150A towards Maski On LHS, Within 5Kms from Maski-Pothnal Cross in | RAICHUR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 842 | Maski towards Sindhanur on NH 150A On LHS, Within 4Kms from Hattikuni Cross in | RAICHUR YADAGIRI | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 843 | Yadgir town towards Sedam on SH On LHS towards Mudgal, Within 3Kms from Ashoka Circle in Maski on SH | RAICHUR | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 844 | ON RHS, From Raichur Solvents Company road - Hyderabad Road Cross to AG&P CNG station in | | REGULAR | 100 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 845 | Raichur Town Medak Village on SH, Sedam Taluk | RAICHUR KALABURAGI | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 846 | On LHS, Within 5km From Basavanna Statue,Santhpur Towards Aurad on NH | BIDAR | REGULAR | 150 | ОВС | DC | 45 | 45 | 2025 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 847 | On LHS towards Eklashpur, With in 1 Km from Little Angels School on Eklaspur Road | RAICHUR | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 848 | On LHS towards Mantralayam, From KM Stone 153 to 147 on NH 167 | RAICHUR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 849 | On LHS towards Raichur, Within 4Kms from Tuntapur Cross on NH 167 | RAICHUR | REGULAR | 150 | OPEN | СС | 35 | 35 | 1225 | 32 | 12 | BIDDING DRAW OF LOTS | 30 | 5 |
| 850 851 | Within Karatagi town limits on any Main Road On SH 25, in Hadagali Taluk, within 6 Kms on | KOPPAL VIJAYANAGARA | REGULAR REGULAR | 100 | OBC PH SC PH | DC CFS | 18 30 | 18 30 | 324 900 | 32 0 | 55 0 | DRAW OF LOTS | 15 0 | 3 |
| 852 | bothsides from Ittigi Village On RHS towards Raichur,Between Nayara Pump near Karebudur (Gillesugur) and Hanchinal Village | PAICHES | REGULAR | 150 | OPEN | сс | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 853 | on NH On RHS towards Sirwar, within 1 km from Power Grid Main Gate on Raichur to Sirwar Road | RAICHUR | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 854 | On RHS towards Khembavi, Between KM Stone 113 and 115 on SH (Shorapur to Khembavi Road) | RAICHUR | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 855 | On Either sides, Between Basaveswara Circle and | YADAGIRI | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 856 | By pass Junction in Raichur Town on Sirwar Road On RHS towards Raichur, Within 1Km from | RAICHUR | REGULAR | 150 | ST | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 857 | Thungabhadra Bridge end in Raichur on NH 167 On LHS towards Sirwar, Within 2Kms from Power | RAICHUR | REGULAR | 100 | OPEN | CC | 35 | 35 | 1225 | 32 | 12 | BIDDING | 30 | 5 |
| 858 | grid main gate on Sirwar Road On RHS, Within 1Km from Ambedkar Circle | RAICHUR | REGULAR | 100 | OBC | DC | 18 | 18 | 324 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| - | towards Yadgir Railway Station in Yadgir town On LHS towards Dadhesugur, Within 5 Kms from | YADAGIRI | | 150 | OPEN | | | | | | | | 15 | |
| 859 | Shripuram Junction on NH 150A | RAICHUR | REGULAR | 150 | UPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |

| REGULAR 100 SC CFS 30 30 900 0 | 0 95 75 75 75 0 95 55 | DRAW OF LOTS | 0 15 15 15 15 0 15 | 3 4 5 5 4 3 5 |
|--|--|---|--------------------------------------|---------------------------------|
| REGULAR 150 OBC DC 35 35 1225 32 | 75 75 75 0 95 55 | DRAW OF LOTS | 15 15 15 0 | 5 5 4 3 5 |
| REGULAR 100 OPEN DC 30 30 900 32 | 75 75 0 95 55 75 | DRAW OF LOTS | 15 15 0 15 | 5 4 3 5 |
| S63 Alagoda Village on SH, Basavakalyan Taluk BIDAR REGULAR 100 OPEN CC 1 DC 30 30 900 32 | 75 0 95 55 75 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 15 0 15 | 4 3 5 |
| REGULAR 100 OBC DC 30 30 900 32 | 95 55 75 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 0 15 | 3 |
| Negular Negu | 95 55 75 | DRAW OF LOTS | 15 | 5 |
| Shripuram Junction on NH 150A RAICHUR REGULAR 150 OPEN DC 30 30 900 32 867 Wadgera Town Limits FROM PARASHURAMPURA VILLAGE TO 868 GOWRIPURA VILLAGE, CHALLEKERE TALUK ON STATEHIGHWAY On LHS towards Kurkunda, Between Canal Bridge | 55 75 | DRAW OF LOTS | | |
| REGULAR 100 OPEN DC 20 20 400 32 | 75 | | 15 | |
| 868 GOWRIPURA VILLAGE, CHALLEKERE TALUK ON STATEHIGHWAY CHITRADURGA REGULAR 100 OBC DC 35 35 1225 32 On LHS towards Kurkunda, Between Canal Bridge | | DRAW OF LOTS | | + - |
| | 0 | | 15 | 4 |
| Warehouse in Sindhanur town on Bappur Road RAICHUR | | DRAW OF LOTS | 0 | 3 |
| 870 On LHS towards Shorapur, Within 8Kms From Subhash Chowk, Yadgir on SH YADAGIRI REGULAR 100 OPEN DC 30 30 900 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 871 On LHS towards Yadgir, Within 2kms from Rayanna Statue in Doranahalli on SH YADAGIRI REGULAR 100 OPEN DC 30 30 900 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 872 With in 2 Kms from Sirwal Cross in Sirwal on Shahapur to Wadi Road-SH YADAGIRI REGULAR 100 OPEN DC 30 30 900 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 873 On LHS From Firozabad To Jewargi on NH 50 KALABURAGI REGULAR 150 OBC CC 1 DC 45 45 2025 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 874 On RHS, With in 2 Km from Raravi Village towards Siruguppa, on SH BELLARI REGULAR 100 ST CC 1 CFS 30 30 900 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 875 IN MEDAGINAKERE VILLAGE, JAGALUR TALUK ON STATE HIGHWAY 65 ON RHS FROM DAVANGERE DAVANAGERE REGULAR 100 OPEN PH DC 35 35 1225 32 TOWARDS JAGALUR | 75 | DRAW OF LOTS | 15 | 5 |
| 876 WITHIN 4KM FROM FIRE STATION, HIRIYUR ON CHITRADURGA REGULAR 100 OBC CC 30 30 900 32 | 12 | BIDDING | 30 | 4 |
| 877 On LHS, From Markunda Village To Telangana Border On NH65 BIDAR REGULAR 150 OPEN CC 45 45 2025 32 | 12 | BIDDING | 30 | 5 |
| 878 FROM CHIKKAMANAHALLI TO GIRIYAMMANAHALLI VILLAGE ON NH 150A ON LHS TOWARDS BELLARY CHITRADURGA REGULAR 150 SC CFS 35 35 1225 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 879 On LHS, Within 5Kms from Kumbarpet Cross in Shorapur on NH 150A towards Thintini Bridge YADAGIRI REGULAR 150 OPEN CC 35 35 1225 32 | 12 | BIDDING | 30 | 5 |
| 880 IN SRIRAMPURA VILLAGE ON ANY STATE HIGHWAY CHITRADURGA REGULAR 100 OBC DC 35 35 1225 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 881 Within 4km From Taj Sulthanpur Circle,Gulbarga Town towards Kalhangarga Village on SH KALABURAGI REGULAR 100 OPEN DC 30 30 900 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 882 On LHS towards Wadi, Within 3Kms from Subhash Chowk in Yadgir town on NH 150 YADAGIRI REGULAR 150 OPEN DC 30 30 900 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 883 IN KONASAGARA VILLAGE, MOLAKALMURU TALUK ON STATEHIGHWAY CHITRADURGA REGULAR 100 SC CFS 35 35 1225 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 884 WITHIN CHITRADURGA TOWN LIMITS ON BEGILI AR 100 ORC CC 20 20 400 32 | 12 | BIDDING | 30 | 4 |
| TURUVANOOR ROAD | 55 | DRAW OF LOTS | 15 | 5 |
| 886 Nandikur Village on NH 50, On LHS From Gulbarga To Jewargi Road. REGULAR 150 OPEN CC 1 DC 45 45 2025 32 | 95 | DRAW OF LOTS | 15 | 5 |
| FROM BG KERE VILLAGE TO YARENAHALLI VILLAGE, 887 MOLAKALMURU TALUK ON NH 150A ON LHS TOWARDS BELLARY CHITRADURGA REGULAR 150 ST CFS 30 30 900 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 888 WITHIN 4 KM FROM GOLLARAHALLI DAVANAGERE REGULAR 100 OBC DC 35 35 1225 32 VILLAGE,HONNALI TALUK ON STATE HIGHWAY 25 | 75 | DRAW OF LOTS | 15 | 4 |
| 889 From Ramasamudra towards yadgir on RHS between KM Stone 80 and 82 on NH 150 YADAGIRI REGULAR 150 OPEN CC 35 35 1225 32 | 12 | BIDDING | 30 | 5 |
| 890 From Balichekkar towards Saidapur on RHS between KM Stone 97 and 99 on NH 150 YADAGIRI REGULAR 150 OPEN DC 35 35 1225 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 891 WITHIN 2KM FROM TB CIRCLE, HIRIYUR ON NH 48, ON RHS TOWARDS JG HALLI CHITRADURGA REGULAR 150 OBC DC 35 35 1225 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 892 IN MALLAPURA VILLAGE, JAGALUR TALUK ON DAVANAGERE REGIJI AR 100 SC CFS 35 35 1225 0 | 0 | DRAW OF LOTS | 0 | 3 |
| STATE HIGHWAY 65 893 From Mirkhal Village To Hulsoor Village on NH BIDAR REGULAR 150 OPEN DC 45 45 2025 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 894 On Either sides, Within 3kms on Ashapur Road from Raichur Railway Station (Not on NH) RAICHUR REGULAR 100 OPEN DC 25 25 625 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 895 Within 1 Km from Siruguppa Government PU BELLARI REGULAR 100 OBC CC 20 20 400 32 College, SirguppaTown | 12 | BIDDING | 30 | 4 |
| ON CHITRADURGA NEW BYPASS NH 48 FROM 896 TURUVANUR ROAD INTERSECTION TO REGULAR 150 SC CFS 35 35 1225 0 MADAKARIPURA INTERSECTION CHITRADURGA | 0 | DRAW OF LOTS | 0 | 3 |
| 897 Anpur Village Limits on SH YADAGIRI REGULAR 100 OPEN DC 30 30 900 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 898 IN CHALLEKERE TOWN, WITH IN 1.5 KM FROM NEHRU CIRCLE ON HIRIYUR- BELLARY ROAD. CHITRADURGA REGULAR 100 OPEN DC 20 20 400 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 899 IN SOMALAPURA VILLAGE, CHANNAGIRI TALUK ON DAVANAGERE REGULAR 100 OBC DC 35 35 1225 32 | 75 | DRAW OF LOTS | 15 | 4 |
| ON LHS FROM RAMPURA TO DEVASAMUDRA 900 VILLAGE, MOLAKALMURU TALUK ON NEW NH 150A CHITRADURGA CHITRADURGA CHITRADURGA CHITRADURGA | 0 | DRAW OF LOTS | 0 | 3 |
| 901 IN VARAVUKAVALU VILLAGE, CHALLEKERE TALUK ON STATE HIGHWAY 45 CHITRADURGA REGULAR 100 OPEN DC 35 35 1225 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 902 IN SAVALANGA VILLAGE ON ANY STATE HIGHWAY DAVANAGERE REGULAR 100 OBC DC 35 35 1225 32 | 75 | DRAW OF LOTS | 15 | 4 |
| WITH 4 KM FROM MOLAKALMURU PRIVATE BUS 903 STAND ON NATIONAL HIGHWAY 544DD TOWARDS REGULAR 150 OPEN CC 35 35 1225 32 RAYADURGAM CHITRADURGA | 12 | BIDDING | 30 | 5 |

| | I | | 1 | | | | | | | | | 1 | | |
|---|---|--|---|--|--|---|--|--|---|--|--|--|--|---|
| 904 | WITHIN 3 KMS FROM NEHRU CIRCLE, CHALLEKERE ON CHITRADURGA - PARASURAMPPURA ROAD | CHITRADURGA | REGULAR | 100 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 905 | IN HOLLALKERE TOWN LIMITS FROM PWD OFFICE ON NH 369 ON RHS TOWARDS CHENNAGIRI | CHITRADURGA | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 906 | WITHIN 2 KM FROM HONNALI HANDPOST JUCTION ON LHS TOWARDS SAVALANGA ON STATE HIGHWAY | DAVANAGERE | REGULAR | 100 | OBC | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 907 | WITHIN 4 KM FROM MARIKANIME CIRCLE, HIRIYUR TOWARDS VV PURA ROAD | CHITRADURGA | REGULAR | 100 | OPEN | сс | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 908 | IN YALLADAKERE VILLAGE, HIRIYUR TALUK ON NH 150A. | CHITRADURGA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 909 | FROM MUDLAMACHIKERE TO BANGARAKKANAGUDDA VILLAGE, JAGALUR TALUK ON NH 50 | DAVANAGERE | REGULAR | 150 | SC | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 910 | FROM NARAYANAPURA VILLAGE TO HULIKATTE VILLAGE, HARPANHALII TALUK ON STATE HIGHWAY | VIJAYANAGARA | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 911 | FROM NEERAGUNDHA VILLAGE TO ADRIKATTE VILLAGE, HOSADURGA TALUK ON LHS ON HIGHWAY | CHITRADURGA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 912 | Miriyan Village On NH, Chincholi Taluk | KALABURAGI | REGULAR | 150 | OPEN CC 1 | DC | 45 | 45 | 2025 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 913 | On LHS Within 5km From Bomgondeshwar Circle, Bidar Town towards Mannakheli on SH 15 | BIDAR | REGULAR | 100 | ОВС | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 914 | Chimagaov To Murki Village On SH 122. From HOTTAPANAHALLI VILLAGE to, CHALLAKERE | BIDAR | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 915 | on New Bypass NH150A | CHITRADURGA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 916 | IN BANJAGONDANAHALLI VILLAGE ON NH 369 ON LHS FROM HOLLALKERE TOWARDS CHITRADURGA | CHITRADURGA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 917 | From Shadipura Village To Konchavaram Village on SH | KALABURAGI | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 918 | From Wadgaon D Village To Jambagi B Village On SH | BIDAR | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 919 | WITHIN 4 KMS FROM KARNATAKA GRAMINA BANK, DHARMAPURA, ON STATE HIGHWAY | CHITRADURGA | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 920 | FROM HALEHALLI VILLAGE TO KUDINEERAKATTE VILLAGE ON NH369 ON LHS | CHITRADURGA | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 921 | On LHS From Kachavara Village To Bhatagera B village on SH | KALABURAGI | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 922 | WITHIN 1.5 KM FROM SRI LAKSHMI RANGANATHA DEVASTHANA ENTRANCE, DEVARAHALLI ON STATE HIGHWAY TOWARDS CHENNAGIRI ON RHS | DAVANAGERE | REGULAR | 100 | OPEN | DC | 35 | 35 | 1225 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | | | | | | | | | | | | | | |
| 923 | On RHS, Within 5Kms from Basaveswara Circle in | RAICHUR | REGULAR | 100 | SC CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 924 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits | RAICHUR BIDAR | REGULAR | 100 | OPEN CC 2 | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS | | | | | | | | | | | | | |
| 924 925 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk | BIDAR KALABURAGI | REGULAR REGULAR | 100 100 | OPEN CC 2 OBC CC 1 | DC DC | 30 30 | 30 30 | 900 900 | 32 32 | 55 75 | DRAW OF LOTS DRAW OF LOTS | 15 15 | 5 |
| 924 925 926 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town | BIDAR KALABURAGI DAVANAGERE | REGULAR REGULAR REGULAR | 100 100 | OPEN CC 2 OBC CC 1 OPEN | DC DC | 30 30 35 | 30 30 35 | 900 900 1225 | 32 32 32 | 55 75 75 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 15 15 15 | 5 4 5 |
| 924 925 926 927 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards | BIDAR KALABURAGI DAVANAGERE BIDAR | REGULAR REGULAR REGULAR | 100 100 100 | OPEN CC 2 OBC CC 1 OPEN ST | DC DC DC | 30 30 35 30 | 30 30 35 30 | 900 900 1225 900 | 32 32 32 0 | 55 75 75 0 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 15 15 15 | 5 4 5 |
| 924 925 926 927 928 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town WITHIN 2KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI | REGULAR REGULAR REGULAR REGULAR | 100 100 100 100 100 | OPEN CC 2 OBC CC 1 OPEN ST OBC | DC DC CFS CC | 30 30 35 30 18 | 30 30 35 30 18 | 900 900 1225 900 324 | 32 32 32 0 32 | 55 75 75 0 12 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING | 15 15 15 0 30 | 5 4 5 3 4 |
| 924 925 926 927 928 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town WITHIN 2KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE | REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR | 100 100 100 100 150 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN | DC DC DC CFS CC DC | 30 30 35 30 18 | 30 30 35 30 18 | 900 900 1225 900 324 1225 | 32 32 32 0 32 | 55 75 75 0 12 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS | 15 15 15 0 30 | 5 4 5 3 4 |
| 924 925 926 927 928 929 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town WITHIN 2KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY TOWARDS SANTHEBENNUR ON RHS. On LHS From Basava kalyan to yedlapur village on SH 34 Watwati on SH32, Kalgi Taluk | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE | REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR | 100 100 100 100 150 100 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN OPEN | DC DC CFS CC DC | 30 30 35 30 18 35 | 30 30 35 30 18 35 | 900 900 1225 900 324 1225 | 32 32 32 0 32 32 32 | 55 75 75 0 12 75 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS | 15 15 15 0 30 15 | 5 4 5 3 4 5 |
| 924 925 926 927 928 929 930 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town WITHIN 2KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY TOWARDS SANTHEBENNUR ON RHS. On LHS From Basava kalyan to yedlapur village on SH 34 Watwati on SH32, Kalgi Taluk WITHIN 2 KM FROM DGR AMUSEMENT PARK, AMARAVATHI ON SH 76 ON LHS TOWARDS DAVANGERE | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR | REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR | 100 100 100 100 100 150 100 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN OPEN OPEN | DC DC CFS CC DC DC | 30 30 35 30 18 35 35 35 | 30 30 35 30 18 35 35 35 | 900 900 1225 900 324 1225 1225 | 32 32 32 0 32 32 32 32 | 55 75 75 0 12 75 75 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 15 15 15 0 30 15 | 5 4 5 3 4 5 |
| 924 925 926 927 928 929 930 931 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town WITHIN 2KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY TOWARDS SANTHEBENNUR ON RHS. ON LHS From Basava kalyan to yedlapur village on SH 34 Watwatt on SH32, Kalgi Taluk WITHIN 2 KM FROM DGR AMUSEMENT PARK, AMARAVATHI ON SH 76 ON LHS TOWARDS DAVANGERE HALAKANALU VILLAGE TO MARAVANJI VILLAGE, CHENNAGRIT TALUK ON STATE HIGHWAY | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI | REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR | 100 100 100 100 100 150 100 100 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN OPEN OPEN OBC SC | DC DC CFS CC DC DC CFS CC CFS | 30 30 35 30 18 35 35 30 30 30 | 30 30 35 30 18 35 35 30 30 30 | 900 900 1225 900 324 1225 1225 900 | 32 32 32 0 32 32 32 32 0 | 55 75 75 0 12 75 75 75 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS | 15 15 15 0 30 15 15 | 5 4 5 3 4 5 5 |
| 924 925 926 927 928 929 930 931 932 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA HOnnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cimenas, Gulbarga Town WITHIN 2KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY TOWARDS SANTHEBENNUR ON RHS. ON LHS From Basava kalyan to yedlapur village on SH 34 Watwati on SH32, Kalgi Taluk WITHIN 2 KM FROM DGR AMUSEMENT PARK, AMARAVATHI ON SH 76 ON LHS TOWARDS DAVANGERE HALAKANALU VILLAGE TO MARAVANJI VILLAGE, CHENNAGIRI TALUK ON STATE HIGHWAY ON LHS From Kallur village TO Hallikhed K village on | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE | REGULAR | 100 100 100 100 150 100 100 100 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN OPEN OPEN OBC SC OPEN | DC DC CFS CC DC DC DC DC | 30 30 35 30 18 35 35 30 30 30 35 | 30 30 35 30 18 35 35 30 30 30 35 | 900 900 1225 900 324 1225 1225 900 900 | 32 32 32 0 32 32 32 32 32 32 | 55 75 75 0 12 75 75 75 0 75 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS | 15 15 15 0 30 15 15 15 0 | 5 4 5 3 4 5 5 4 3 5 |
| 924 925 926 927 928 929 930 931 932 933 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town WITHIN 2KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY TOWARDS SANTHEBENNUR ON RHS. ON LHS From Basava kalyan to yedlapur village on SH 34 Watwati on SH32, Kalgi Taluk WITHIN 2 KM FROM DGR AMUSEMENT PARK, AMARAVATHI ON SH 76 ON LHS TOWARDS DAVANGERE HALAKANALU VILLAGE TO MARAVANJI VILLAGE, CHENNAGIRI TALUK ON STATE HIGHWAY ON LHS From Kallur village TO Hallikhed K village on | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE | REGULAR | 100 100 100 100 150 100 100 100 100 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN OPEN OPEN OPEN OBC SC OPEN OPEN | DC DC CFS CC DC | 30 30 35 30 18 35 35 35 30 30 35 35 | 30 30 35 30 18 35 35 35 30 30 35 | 900 900 1225 900 324 1225 1225 900 900 1225 | 32 32 32 0 32 32 32 32 32 32 32 | 55 75 75 0 12 75 75 75 75 0 75 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS | 15 15 15 0 30 15 15 15 0 15 | 5 4 5 3 4 5 5 5 4 3 5 5 |
| 924 925 926 927 928 929 930 931 932 933 934 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA HOnnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town WITHIN 2KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY TOWARDS SANTHEBENNUR ON RHS. ON LHS From Basava kalyan to yedlapur village on SH 34 Watwati on SH32, Kalgi Taluk WITHIN 2 KM FROM DGR AMUSEMENT PARK, AMARAVATHI ON SH 76 ON LHS TOWARDS DAVANGERE HALAKANALU VILLAGE TO MARAVANJI VILLAGE, CHENNAGIRI TALUK ON STATE HIGHWAY ON LHS From Kallur village To Hallikhed K village on NH 50 From Kharige Cross Circle To Old RTO Circle, | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE BIDAR | REGULAR | 100 100 100 100 150 100 100 100 100 100 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN OPEN OPEN OBC SC OPEN OPEN OBC | DC DC CFS CC DC DC DC CFS CC CFS CC | 30 30 35 30 18 35 35 30 30 30 35 45 | 30 30 35 30 18 35 35 30 30 30 35 45 | 900 900 1225 900 324 1225 1225 900 900 1225 1225 | 32 32 32 0 32 32 32 32 32 0 32 32 | 55 75 75 0 12 75 75 0 75 75 0 75 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS | 15 15 15 0 30 15 15 15 0 15 15 30 | 5 4 5 3 4 5 5 4 3 5 5 |
| 924 925 926 927 928 929 930 931 932 933 934 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town WITHIN 2KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY TOWARDS SANTHEBENNUR ON RHS. ON LHS From Basava kalyan to yedlapur village on SH 34 Watwati on SH32, Kalgi Taluk WITHIN 2 KM FROM DGR AMUSEMENT PARK, AMARAVATHI ON SH 76 ON LHS TOWARDS DAVANGERE HALAKANALU VILLAGE TO MARAVANJI VILLAGE, CHENNAGIRI TALUK ON STATE HIGHWAY ON LHS From Kallur village To Hallikhed K village on NH 50 From Kharige Cross Circle To Old RTO Circle, Gulbarga Town IN GOPANALA VILLAGE, CHENNAGIRI TALUK ON HIGHWAY ON RHS From Nidagunda Village To Chatrasala Village On SH | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI KALABURAGI | REGULAR | 100 100 100 100 150 100 100 100 100 100 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN OPEN OPEN OBC SC OPEN OPEN OBC SC OPEN OBC SC | DC DC CFS CC DC DC CFS DC CFS DC DC DC CFS DC DC CFS DC DC CFS | 30 30 35 30 18 35 35 30 30 35 35 45 | 30 30 35 30 18 35 35 30 30 35 35 45 | 900 900 1225 900 324 1225 1225 900 900 1225 1225 2025 | 32 32 32 0 32 32 32 32 0 32 32 0 | 55 75 75 0 12 75 75 0 75 75 0 75 12 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS | 15 15 15 0 30 15 15 15 0 15 15 0 15 | 5 4 5 3 4 5 5 4 3 5 4 3 5 |
| 924 925 926 927 928 929 930 931 932 933 934 935 936 937 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town WITHIN 2KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY TOWARDS SANTHEBENNUR ON RHS. ON LHS From Basava kalyan to yedlapur village on SH 34 Watwati on SH32, Kalgi Taluk WITHIN 2 KM FROM DGR AMUSEMENT PARK, AMARAVATHI ON SH 76 ON LHS TOWARDS DAVANGERE HALAKANALU VILLAGE TO MARAVANJI VILLAGE, CHENNAGIRI TALUK ON STATE HIGHWAY ON LHS From Kallur village To Hallikhed K village on NH 50 From Kharige Cross Circle To Old RTO Circle, Gulbarga Town IN GOPANALA VILLAGE, CHENNAGIRI TALUK ON HIGHWAY ON RHS From Nidagunda Village To Chatrasala Village On SH ON RHS From Honnikheri Village To Sevanagar Village On NH 50 | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE KALABURAGI DAVANAGERE | REGULAR | 100 100 100 100 150 100 100 100 100 150 15 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN OPEN OBC SC OPEN OPEN OBC SC OPEN OBC SC OPEN OBC SC OPEN OBC SC OPEN OBC | DC DC DC CFS CC DC DC CFS DC DC DC CFS DC DC CFS DC DC CFS DC CC CFS DC | 30 30 35 30 18 35 35 30 30 35 45 18 35 30 45 | 30 30 35 30 18 35 35 30 30 35 45 18 35 45 45 | 900 900 1225 900 324 1225 1225 900 900 1225 1225 2025 324 1225 900 2025 | 32 32 32 0 32 32 32 32 0 32 32 0 32 32 32 32 32 | 55 75 75 0 12 75 75 0 75 75 12 0 75 75 | DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS | 15 15 15 0 30 15 15 15 0 15 15 15 15 15 15 15 | 5 4 5 3 4 5 5 4 3 5 5 4 3 5 4 4 3 5 |
| 924 925 926 927 928 929 930 931 932 933 934 935 936 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town WITHIN 2KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY TOWARDS SANTHEBENNUR ON RHS. ON LHS From Basava kalyan to yedlapur village on SH 34 Watwatt on SH32, Kalgi Taluk WITHIN 2 KM FROM DGR AMUSEMENT PARK, AMARAVATHI ON SH 76 ON LHS TOWARDS DAVANGER HALAKANALU VILLAGE TO MARAVANJI VILLAGE, CHENNAGIRI TALUK ON STATE HIGHWAY ON LHS From Kallur village To Hallikhed K village on NH 50 From Kharige Cross Circle To Old RTO Circle, Gulbarga Town IN GOPANALA VILLAGE, CHENNAGIRI TALUK ON HIGHWAY ON RHS From Nidagunda Village To Sevanagar Village On SH ON RHS From Honnikheri Village To Sevanagar Village On SH 50 Hamilapur village, Bidar Taluk | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE KALABURAGI KALABURAGI DAVANAGERE | REGULAR | 100 100 100 100 150 100 100 100 100 150 15 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN OPEN OBC SC OPEN OPEN OBC SC OPEN OPEN OBC SC OPEN OPEN OBC SC OPEN OPEN OBC | DC DC CFS CC DC DC CFS DC CFS DC DC DC CFS DC DC CFS DC DC CFS | 30 30 35 30 18 35 35 30 30 35 45 18 35 30 | 30 30 35 30 18 35 35 30 30 35 45 48 35 30 | 900 900 1225 900 324 1225 1225 900 900 1225 1225 2025 324 1225 900 | 32 32 32 0 32 32 32 32 32 0 32 32 32 32 32 32 | 55 75 75 0 12 75 75 0 75 75 12 0 75 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 15 15 15 0 30 15 15 15 0 15 15 15 15 15 15 | 5 4 5 3 4 5 5 4 3 5 5 4 3 5 5 |
| 924 925 926 927 928 929 930 931 932 933 934 935 936 937 938 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA HONNAIL VILLAGE ON SH, Bhalki Taluk Within 1km on RHS from aland check post towards Shetty Cimenas, Gulbarga Town WITHIN 2KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY TOWARDS SANTHEBENNUR ON RHS. ON LHS FROM BOR AMUSEMENT PARK, AMARDATHI ON SH 76 ON LHS TOWARDS DAVANGERE HALAKANALU VILLAGE TO MARAVANJI VILLAGE, CHENNAGIRI TALUK ON STATE HIGHWAY ON LHS From Kallur village TO Hallikhed K village on NH 30 FOM Kharige Cross Circle TO Old RTO Circle, Gulbarga Town IN GOPANALA VILLAGE, CHENNAGIRI TALUK ON HIGHWAY ON RHS From Nidagunda Village TO Chatrasala Village On SH ON RHS From Honnikheri Village TO Sevanagar Village On SH ON RHS From Honnikheri Village TO Sevanagar Village ON SH ON RHS FROM BOR HATOLOGE FROM KSRTC NEW BUS STAND, DAVANGERE TO TATA SHOWROOM, AVAREGERE ON OLD PB ROAD ON LHS. WITHIN DAVANGERE TOWN LIMITS NOT ON | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE | REGULAR | 100 100 100 100 100 150 100 100 100 100 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN OPEN OPEN OBC SC OPEN OPEN OBC SC | DC DC CFS CC DC DC CFS DC DC CFS DC CFS DC CC CFS DC CC CFS DC CC CFS DC | 30 30 30 35 30 18 35 35 30 30 35 35 45 18 35 45 45 | 30 30 35 30 18 35 35 30 30 35 35 45 18 35 45 45 | 900 900 1225 900 324 1225 1225 900 900 1225 2025 324 1225 900 2025 2025 | 32 32 32 0 32 32 32 32 32 32 32 32 32 32 0 32 | 55 75 75 0 12 75 75 75 0 75 75 12 0 75 75 95 | DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS | 15 15 15 0 30 15 15 15 15 0 15 15 15 0 15 | 5 4 5 3 4 5 5 5 4 3 5 5 4 3 5 5 4 3 5 4 3 5 4 3 5 4 3 5 4 3 5 5 4 4 3 5 5 4 4 3 5 5 4 4 3 5 5 5 4 4 4 5 5 5 5 |
| 924 925 926 927 928 929 930 931 932 933 934 935 936 937 938 939 940 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town WITHIN 1KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY TOWARDS SANTHEBENNUR ON RHS. ON LHS From Basava kalyan to yedlapur village on SH 34 Watwati on SH32, Kalgi Taluk WITHIN 2 KM FROM DGR AMUSEMENT PARK, AMARAVATHI ON SH 76 ON LHS TOWARDS DAVANGERE HALAKANALU VILLAGE TO MARAVANJI VILLAGE, CHENNAGIRI TALUK ON STATE HIGHWAY ON LHS From Kallur village To Hallikhed K village on NH 50 From Kharige Cross Circle To Old RTO Circle, Gulbarga Town IN GOPANALA VILLAGE, CHENNAGIRI TALUK ON HIGHWAY ON RHS From Nidagunda Village To Chatrasala Village On SH ON RHS From Honnikheri Village To Sevanagar Village On NH 50 Hamilapur village, Bidar Taluk FROM KSRTC NEW BUS STAND, DAVANGERE TO TATA SHOWROOM, AVAREGERE ON OLD PB ROAD ON LHS. | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE | REGULAR | 100 100 100 100 100 150 100 100 100 100 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN OPEN OPEN OBC SC OPEN OPEN OBC SC OPEN OBC SC OPEN OBC SC OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN | DC DC CFS CC DC DC CFS DC DC CFS DC CFS CC CC CFS CC | 30 30 35 30 18 35 35 30 30 35 45 18 35 30 45 45 30 | 30 30 35 30 18 35 35 30 30 35 45 18 35 30 45 45 30 | 900 900 1225 900 324 1225 900 900 1225 2025 324 1225 900 2025 2025 | 32 32 32 0 32 32 32 32 0 32 32 32 0 32 32 32 0 32 32 | 55 75 75 0 12 75 75 75 0 75 75 12 0 75 75 12 0 75 | DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS | 15 15 0 30 15 15 15 0 15 15 15 0 0 15 15 30 0 15 15 30 0 30 15 | 5 4 5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5 5 |
| 924 925 926 927 928 929 930 931 932 933 934 935 936 937 938 939 940 941 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town WITHIN 1KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY TOWARDS SANTHEBENNUR ON RHS. ON LHS From Basava kalyan to yedlapur village on SH 34 Watwati on SH32, Kalgi Taluk WITHIN 2 KM FROM OGR AMUSEMENT PARK, AMARAVATHI ON SH 76 ON LHS TOWARDS DAVANGERE HALAKANALU VILLAGE TO MARAVANJI VILLAGE, CHENNAGIRI TALUK ON STATE HIGHWAY ON LHS From Kallur village To Hallikhed K village on NH 50 From Kharige Cross Circle To Old RTO Circle, Gulbarga Town IN GOPANALA VILLAGE, CHENNAGIRI TALUK ON HIGHWAY ON RHS From Nidagunda Village To Sevanagar Village On SH ON RHS From Honnikheri Village To Sevanagar Village On SH 50 Hamilapur village, Bidar Taluk WITHIN DAVANGERE TOWN LIMITS NOT ON NATIONAL HIGHWAY | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE KALABURAGI DAVANAGERE | REGULAR | 100 100 100 100 100 150 100 100 100 100 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN OPEN OPEN OPEN OPEN OPEN OBC SC OPEN OPEN OBC SC OPEN | DC DC DC CFS CC DC DC DC CFS DC CFS DC CC CC CC CC DC DC CC CFS DC DC CC CFS DC DC DC | 30 30 35 30 18 35 35 30 30 35 45 48 35 30 45 45 30 20 | 30 30 30 35 30 18 35 30 30 35 35 45 18 35 30 45 45 30 20 | 900 900 1225 900 324 1225 900 900 1225 2025 324 1225 900 2025 2025 900 | 32 32 32 32 32 32 32 32 32 32 | 55 75 75 0 12 75 75 0 75 75 0 75 12 0 75 75 12 0 12 12 | DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING BIDDING | 15 15 15 0 30 15 15 15 0 15 15 15 0 0 15 15 30 0 15 15 30 0 30 0 | 5 4 5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5 5 5 |
| 924 925 926 927 928 929 930 931 932 933 934 935 936 937 938 939 940 941 942 943 944 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA Honnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town WITHIN 1KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY TOWARDS SANTHEBENNUR ON RHS. ON LHS From Basava kalyan to yedlapur village on SH 34 Watwati on SH32, Kalgi Taluk WITHIN 2 KM FROM DGR AMUSEMENT PARK, AMARAVATHI ON SH 76 ON LHS TOWARDS DAVANGERE HALAKANALU VILLAGE TO MARAVANJI VILLAGE, CHENNAGIRI TALUK ON STATE HIGHWAY ON LHS From Kallur village To Hallikhed K village on NH 50 From Kharige Cross Circle To Old RTO Circle, Gulbarga Town IN GOPANALA VILLAGE, CHENNAGIRI TALUK ON HIGHWAY ON RHS From Nidagunda Village To Sevanagar Village On SH ON RHS From Honnikheri Village To Sevanagar Village On SH 50 Hamilapur village, Bidar Taluk FROM KSRTC NEW BUS STAND, DAVANGERE TO TATA SHOWROOM, AVAREGERE ON OLD PB ROAD ON LHS. WITHIN DAVANGERE TOWN LIMITS NOT ON NATIONAL HIGHWAY Dubalgundi Village On SH, Humnabad Taluk Within 2km From Chatrapathi Shivaji Maharaj Circle, Chitguppa Towards Humnabad on SH 75 Kalgi village on SH, Kalgi Taluk | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE BIDAR BIDAR BIDAR BIDAR BIDAR BIDAR BIDAR DAVANAGERE | REGULAR | 100 100 100 100 100 100 100 100 100 100 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN OPEN OBC SC OPEN OPEN OBC SC OPEN OBC SC OPEN OPEN OBC SC OPEN OPEN OBC SC OPEN OPEN OBC SC OPEN OPEN | DC DC DC CFS CC DC DC DC CFS DC CFS DC CC CFS DC CC CFS DC CC CFS CC CC CFS | 30 30 30 35 30 18 35 30 30 30 35 45 45 30 45 45 30 30 30 30 30 30 30 30 30 30 | 30 30 30 35 30 18 35 30 30 30 35 45 18 35 45 45 30 45 45 30 30 30 30 30 30 30 30 30 30 | 900 900 1225 900 324 1225 900 900 1225 900 1225 2025 324 1225 900 2025 2025 900 400 900 900 | 32 32 32 32 32 32 32 32 32 32 | 55 75 75 0 12 75 75 0 75 75 0 75 12 0 75 75 95 0 12 12 75 0 | DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS | 15 15 15 0 30 15 15 15 0 15 15 15 0 15 15 0 30 15 15 15 0 30 0 15 15 | 5 4 5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 5 5 4 5 5 6 7 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 |
| 924 925 926 927 928 929 930 931 932 933 934 935 936 937 938 939 940 941 942 943 944 | Mudgal towards Lingsugur on SH Bhalki within Municipal Limits Sulepeth Village on SH 15 WITHIN 1 KM FROM TAVEREKERE CROSS, KARKIKERE ON SH 76 ON RHS TOWARDS AJJAMPURA HOnnalli Village on SH, Bhalki Taluk within 1km on RHS from aland check post towards Shetty Cinemas, Gulbarga Town WITHIN 1KM FROM ARUNDI CROSS ROAD JUNCTION IN NYAMATHI VILLAGE, ON STATE HIGHWAY WITHIN 1.5 KM FROM SRI VINAYAKA HIGH SCHOOL, KAKANURU ON STATE HIGHWAY TOWARDS SANTHEBENNUR ON RHS. ON LHS From Basava kalyan to yedlapur village on SH 34 Watwati on SH32, Kalgi Taluk WITHIN 2 KM FROM DGR AMUSEMENT PARK, AMARAVATHI ON SH 76 ON LHS TOWARDS DAVANGERE HALAKANALU VILLAGE TO MARAVANJI VILLAGE, CHENNAGIRI TALUK ON STATE HIGHWAY ON LHS From Kallur village To Hallikhed K village on NH 50 From Kharige Cross Circle To Old RTO Circle, Gulbarga Town IN GOPANALA VILLAGE, CHENNAGIRI TALUK ON HIGHWAY ON RHS From Nidagunda Village To Sevanagar Village On SH ON RHS From Honnikheri Village To Sevanagar Village On SH ON RHS From Honnikheri Village To Sevanagar Village On SH ON RHS From Honnikheri Village To Sevanagar Village On SH ON RHS From Honnikheri Village To Sevanagar Village On SH ON RHS From Honnikheri Village To Sevanagar Village ON SH ON RHS From Honnikheri Village To Sevanagar Village ON HS ON HSS HAMMANAGERE TOWN LIMITS NOT ON NATIONAL HIGHWAY Dubalgundi Village On SH, Humnabad Taluk Within Zkm From Chatrapathi Shivaji Maharaj Circle, Chitguppa Towards Humnabad on SH 75 | BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE DAVANAGERE BIDAR KALABURAGI DAVANAGERE BIDAR KALABURAGI DAVANAGERE BIDAR BIDAR BIDAR DAVANAGERE DAVANAGERE | REGULAR | 100 100 100 100 100 100 100 100 100 100 | OPEN CC 2 OBC CC 1 OPEN ST OBC OPEN | DC DC DC CFS CC DC DC DC CFS DC CFS DC CC CC CC CC DC DC CC CFS DC DC CC CC CC CC CC CC CC CC | 30 30 30 35 30 18 35 30 30 30 35 35 45 48 35 30 45 45 30 30 30 30 30 30 30 30 30 30 | 30 30 30 35 30 18 35 30 30 30 35 45 48 35 30 45 45 30 45 45 30 30 30 30 30 30 30 30 30 30 | 900 900 1225 900 324 1225 900 900 1225 2025 324 1225 900 2025 2025 900 400 900 | 32 32 32 32 32 32 32 32 32 32 | 55 75 75 0 12 75 75 0 75 75 0 75 12 0 75 75 12 0 75 75 12 0 75 75 75 | DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS DRAW OF LOTS | 15 15 15 0 30 15 15 15 0 15 15 15 0 0 15 15 15 0 30 0 15 15 15 0 30 0 15 15 15 0 0 15 15 15 15 15 15 15 15 15 15 15 15 15 | 5 4 5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 5 5 4 5 5 6 7 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 |

| | T | | 1 | | | | 1 | | 1 | | | 1 | | |
|------------|---|--------------------------|--------------------|-----|------------|-----------|----------|----------|------|---------|---------|----------------------------|---------|--------|
| 948 | Within 2.5km From Guru Dwara Arch Towrards Chikpet Village Via Gurudwara Road, Bidar Town | BIDAR | REGULAR | 100 | OPEN | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 949 | On LHS, From Bapur Village To Vaddankhera Village On NH 65 | BIDAR | REGULAR | 150 | SC PH | CFS | 45 | 45 | 2025 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 950 | On LHS, Within 2Kms from Nagarhal Cross towards Mudgal on SH | RAICHUR | REGULAR | 100 | OBC PH | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 951 | Marikal Village On NH on LHS From Bidar To Janwada Road. | BIDAR | REGULAR | 150 | OPEN | DC | 45 | 45 | 2025 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 952 | On RHS, Within 2km From Sonna Cross Towards Jewargi On NH50 | KALABURAGI | REGULAR | 150 | OPEN | СС | 45 | 45 | 2025 | 32 | 12 | BIDDING | 30 | 5 |
| 953 | On RHS within 4km From Malkapur Cross towards Alamkeri Cross on Ring Road, Bidar Town. | BIDAR | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 954 | Humnabad within municipal limits | BIDAR | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 955 | On LHS from Jagajyothi Basaveswar Chowk,Bhalki to kalwaadi Village on SH | BIDAR | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 956 | Mohmadapur Village on SH, Aurad Taluk Within 1km On RHS From Malkapur Cross on Bidar | BIDAR | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 957 | Ring Road towards Bidar-Zaheerabad Road | BIDAR | REGULAR | 100 | OBC | CC | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 4 |
| 958 | Manhalli Village on SH, Bidar Taluk | BIDAR | REGULAR | 150 | ST | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 959 | Within 2km From Veerabhadreswar Swamy Temple, Polakpally Towards Bheemalkheda On NH | BIDAR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 960 | On RHS from Hola samudra Village to Diggi Village On NH 50 | BIDAR | REGULAR | 150 | OPEN | DC | 45 | 45 | 2025 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 961 | Jalasangi Village on NH 50 on LHS From Bidar to Humnabad | BIDAR | REGULAR | 150 | OPEN | DC | 45 | 45 | 2025 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 962 | From Andur Village To Hallikhed B village On NH 50, Humnabad Taluk | BIDAR | REGULAR | 150 | ОВС | DC | 45 | 45 | 2025 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 963 | On RHS Within 3km From Highcourt,gulbarga Town Towards Afzalpur On NH150E | KALABURAGI | REGULAR | 150 | SC | CFS | 45 | 45 | 2025 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 964 | Basavakalyan within Muncipal Limits On RHS from Aland Check Post, Gulbarga Town to | BIDAR | REGULAR | 100 | OPEN CC 1 | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 965 | Kheri Bhosga on SH 10 On LHS, From Narayanpur Village to Rajeshwar | KALABURAGI | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 966 | Village On NH 65 | BIDAR | REGULAR | 150 | OPEN | CC | 45 | 45 | 2025 | 32 | 12 | BIDDING | 30 | 5 |
| 967 968 | Nandur K Village on SH 149, Gulbarga Taluk On LHS, From Mannalli Village To Halli Village On | KALABURAGI | REGULAR | 100 | SC OPEN | CFS CC | 30 45 | 30 45 | 900 | 0 32 | 12 | DRAW OF LOTS BIDDING | 30 | 3 5 |
| 969 | NH 65 Kapnoor Village, On NH50 on LHS From Gulbarga | BIDAR | REGULAR | 150 | OBC | СС | 35 | 45 | 1575 | 32 | 12 | BIDDING | 30 | 4 |
| 970 | To Humnabad Road On RHS, From Mannalli Village To Halli Village On | KALABURAGI | REGULAR | 150 | OPEN | СС | 45 | 45 | 2025 | 32 | 12 | BIDDING | 30 | 5 |
| 971 | NH 65 On LHS, From Tadola Village To Triprantha Village | BIDAR | REGULAR | 150 | OPEN | СС | 45 | 45 | 2025 | 32 | 12 | BIDDING | 30 | 5 |
| 972 | on NH 65. On LHS, Within 3Kms from Kowthal KSRTC Busstand | BIDAR | REGULAR | 100 | SC CC 1 | CFS | 35 | 35 | 1225 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 973 | On LHS, Within 3Kms From 7th mile cross in | RAICHUR | REGULAR | 100 | OBC CC 1 | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| | Hunshalhuda towards Manvi on Highway On RHS Within 1km From Chowkandi Chowk | RAICHUR | | | | | | | | | | | | |
| 974 | towards Malkapur Cross on Ring Road, Bidar Town On LHS From Malkhed village to Tengli cross on | BIDAR | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 975 | SH10 Within 6km From Bidar Market Police station Circle | KALABURAGI | REGULAR | 100 | OPEN PH | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 976 977 | Towards Zaheerabad, Bidar Town | BIDAR KALABURAGI | REGULAR REGULAR | 100 | SC OBC | CFS DC | 30 30 | 30 30 | 900 | 0 32 | 0 75 | DRAW OF LOTS DRAW OF LOTS | 0 15 | 3 |
| 978 | Khanapur Village On SH 10, Aland Taluk On LHS From Bidar Market Police Station to Sri | RALABORAGI | | 100 | OPEN | DC | 30 | | 900 | 32 | | | | 5 |
| 9/8 | Laxmi Narasimha Jharna Main Dwara, Bidar Town. | BIDAR | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 3 |
| 979 | On LHS, On SH Within 1km From Ravoor Cross(3 Gate) towards Chittapur | KALABURAGI | REGULAR | 100 | OBC | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 4 |
| 980 | Within 3km From Madiwar Circle towards Naubad, Bidar Town | BIDAR | REGULAR | 100 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 981 | On LHS From Aliyabad Village To Chickpet Village On Ring Road, Bidar Town | BIDAR | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 982 | Within 2km On LHS From Malkapur Cross on Bidar Ring Road towards Bidar-Zaheerabad Road | BIDAR | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 55 | DRAW OF LOTS | 15 | 5 |
| 983 | On RHS within 4km from Bhalki Bus Depot towards Hulsoor On NH | BIDAR | REGULAR | 150 | OPEN | DC | 35 | 35 | 1225 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 984 | On LHS, From Malgatti Village To Ravoor Village on NH150 | KALABURAGI | REGULAR | 150 | ОВС | DC | 45 | 45 | 2025 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 985 | On RHS Within 1km From Ram Mandir Circle towards Highcourt on Ring Road,Gulbarga Town | KALABURAGI | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 986 | within 5km From Kharige Cross Circle (on Gulbarga Ring road) towards Sedam On SH10. | KALABURAGI | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 987 | On RHS From Shahabad Cross, Gulbarga Town To Nandoor B village On NH 150 | KALABURAGI | REGULAR | 150 | OPEN CC 1 | DC | 45 | 45 | 2025 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 988 | On LHS Within 4km from Basaveshawara Circle,Afzalpur towards Akkalkot on NH150E | KALABURAGI | REGULAR | 150 | OBC | DC | 45 | 45 | 2025 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| 989 | From Karaknahalli Village To Undamnalli Village on SH | BIDAR | REGULAR | 100 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 990 | On LHS Within 2km From Central University of Karnataka Main Gate Towards Gulbarga on SH10 | VALABUBACI | REGULAR | 100 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 991 | Srinivas Saradhagi Village on SH, on RHS From | KALABURAGI | REGULAR | 100 | OBC | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 4 |
| 992 | Gulbarga To Sedam Road Khajuri village on SH, Aland Taluk | KALABURAGI KALABURAGI | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 993 | From Annapurna circle to Old RTO circle, Gulbarga Town | KALABURAGI | REGULAR | 150 | OPEN | СС | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 994 | Khanapur village on SH , Basavakalyan Taluk From Jamga B Village to Kalhangarga Village on SH, | BIDAR | REGULAR | 100 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 995 | Gulbarga Taluk | KALABURAGI | REGULAR | 100 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |

| | | | 1 | | | | | | | | | 1 | | |
|------|--|---------------------------|-----------|-----------|----------------|----------|----|----------|------------|----------|----------|--------------|----|----------|
| 996 | within 2km on RHS from aland check post towards Hirapur Cross on Ring Road,Gulbarga Town | KALABURAGI | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 997 | within 2km on LHS from aland check post towards Humnabad Cross on Ring Road, Gulbarga Town | KALABURAGI | REGULAR | 150 | OPEN | СС | 30 | 30 | 900 | 32 | 12 | BIDDING | 30 | 5 |
| 998 | On RHS From Ram mandir Circle, Gulbarga Town to Sirnoor Village on NH 50 | KALABURAGI | REGULAR | 100 | sc | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 999 | On LHS From Hagarga cross, Gulbarga Town to | | REGULAR | 100 | ОВС | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 1000 | Hagarga Village on SH within 2km on LHS from aland check post towards | KALABURAGI | REGULAR | 150 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| | Shetty Cinemas, Gulbarga Town Within 1km Radius On any Main Road From | KALABURAGI | | | | | | | | | | | | |
| 1001 | Thimmapuri Circle, Gulbarga Town | KALABURAGI | REGULAR | 150 | OPEN | CC | 18 | 18 | 324 | 32 | 12 | BIDDING | 30 | 5 |
| 1002 | ON LHS, On ring road From Ram Mandir Circle to Highcourt, Gulbarga Town | KALABURAGI | REGULAR | 150 | OBC | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 1003 | On LHS towards Mudgal, Within 3Kms from Sharada College of Pharmacy in Lingsugur Town towards Mudgal on SH | RAICHUR | REGULAR | 100 | SC | CFS | 25 | 25 | 625 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 1004 | within 1km from Shri Mayee Mandir on SAW MILL road, Gulbarga Town | KALABURAGI | REGULAR | 150 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 1005 | 2km Radius From jagat circle on any Main Road, | | REGULAR | 150 | OPEN | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 1006 | Gulbarga Town On RHS From Navdhagi B Village To Kamalapur | KALABURAGI | REGULAR | 150 | OBC | DC | 45 | 45 | 2025 | 32 | 95 | DRAW OF LOTS | 15 | 4 |
| | Village On NH 50 Within 3Kms from Gunjanoor Cross towards | KALABURAGI | | | | | | | | | | | | |
| 1007 | Kandkoor Cross on SH On RHS From Ram Mandir Circle To Humnabad | YADAGIRI | REGULAR | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 1008 | Circle on Ring Road, Gulbarga Town | KALABURAGI | REGULAR | 150 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 1009 | From New Jewargi Cross To Ram Mandir Circle on New Jewargi Road, Gulbarga Town | KALABURAGI | REGULAR | 150 | OPEN | СС | 20 | 20 | 400 | 32 | 12 | BIDDING | 30 | 5 |
| 1010 | Anywhere in Gulbarga Municipal Limits On LHS From Sharana Sirasagi Village to | KALABURAGI | REGULAR | 150 | OBC | DC | 18 | 18 | 324 | 32 | 75 | DRAW OF LOTS | 15 | 4 |
| 1011 | Hadagilharuthi Village on NH150E | KALABURAGI | REGULAR | 150 | OPEN | CC | 45 | 45 | 2025 | 32 | 12 | BIDDING | 30 | 5 |
| 1012 | Within 2.5 kms radius from Ambedkar Circle in Raichur Town (Not on Sirwar Road) | RAICHUR | REGULAR | 100 | ST | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 3 |
| 1013 | Bidar within municipal limits From Malkapura Village To Sulthanapura(J) Village | BIDAR | REGULAR | 100 | OBC | DC | 18 | 18 | 324 | 32 | 55 | DRAW OF LOTS | 15 | 4 |
| 1014 | On NH. | BIDAR | REGULAR | 150 | OPEN CC 1 | DC | 45 | 45 | 2025 | 32 | 95 | DRAW OF LOTS | 15 | 5 |
| 1015 | Yenagundi Village on SH, Sedam Taluk On Dr BR Ambedkar Road from Margondhalli | KALABURAGI | REGULAR | 100 | OPEN | DC | 30 | 30 | 900 | 32 | 75 | DRAW OF LOTS | 15 | 5 |
| 1 | Village to Kanakadasa Statue KAMADENAHALLI VILLAGE ON KOLAR - | BENGALURU | RURAL | 100 | OPEN | DC | 20 | 20 | 400 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 2 | MANIGHATTA ROAD | KOLAR | RURAL | 60 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 3 | Anywhere on Bidarahalli - Aduru main road On RHS MC estate Road , From Shree Veera | BENGALURU | RURAL | 100 | SC | CFS | 20 | 20 | 400 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| 5 | Ajaneya Swamy Temple to D Mart warehouse Airport Back Gate BK Halli Road Chikkanahalli | BENGALURU BENGALURU RURAL | RURAL | 100 | OPEN OPEN | DC DC | 20 | 20 | 400 400 | 16 16 | 35 35 | DRAW OF LOTS | 5 | 4 |
| 6 | WITHIN DONIMADUGU VILLAGE LIMITS ON | | RURAL | 60 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| | MUSTRAHALLI ROAD (BANGARPET TALUK) On Thornahalli Agrahara to Chikkanahalli road LHS | KOLAR | | | | | | | | | | | | |
| 7 | from Sharanya Narayani International school to Poojaramanhalli cross | BENGALURU RURAL | RURAL | 100 | SC | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| 8 | On Jigani to Harohalli Road, LHS From Mahanthalingapura Village to Shree Veeranjinaya Swamy Temple, Krishnadoddi | BENGALURU | RURAL | 100 | OPEN | DC | 20 | 20 | 400 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 9 | Anyhwhere on Hoskote- Chimmandally Road | BENGALURU RURAL | RURAL | 100 | OPEN | DC | 18 | 18 | 324 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 10 | WITHIN KAMASAMUDRAM VILLAGE LIMITS ON BUDHIKOTE ROAD | KOLAR | RURAL | 60 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 11 | ON RAMASAMUDRAM ROAD, BOTH SIDES WITHIN 3 KM OF VOMMASANDRA VILLAGE (MULBAGAL TALUK) | KOLAR | RURAL | 60 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 12 | FROM AGALAGURKI TO SRIRAMPURA, CHIKKABALLAPUR TALUK | CHIKKBALLAPURA | RURAL | 60 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| | ON LHS FROM MUSTOOR VILLAGE TO ISHA | CHINADALLAPUKA | | | | | | | | | | | | |
| 13 | FOUNDATION GATE (OUTSIDE CHIKKABALLAPUR MUNICIPAL LIMITS) IN SUNDARAPALYA VILLAGE (KGF TALUK), ON | CHIKKBALLAPURA | RURAL | 60 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 14 | ROAD FROM EXPRESS HIGHWAY TO SH-95 JUNCTION On solur Road , RHS from kolathur to solur | KOLAR BENGALURU RURAL | RURAL | 60 100 | OPEN CC 1 OPEN | DC DC | 30 | 30 20 | 900 | 16 16 | 35 35 | DRAW OF LOTS | 5 | 4 |
| 16 | On Devangundi-Vagata road from HPCL Devangudi | BENGALURU RURAL | RURAL | 100 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| 17 | Terminal to Vagata Cross IN THIPPADODDI VILLAGE, WITHIN 1 KM FROM AP BORDER TOWARDS THIPPADODDI VILLAGE, | | RURAL | 60 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| | MULBAGAL TALUK On LHS sarjapura- Hoskote Road , In between | KOLAR | D/ ID : : | 400 | 025:: | | 20 | | **** | | 35 | DDAW OF : TT | | \vdash |
| 18 | Bellikere to Muttsandra main Road On Rahuthnahalli Main Road from Nelmangala | BENGALURU | RURAL | 100 | OPEN | DC | 20 | 20 | 400 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 19 | RTO to Shivanapura Colony | BENGALURU RURAL | RURAL | 350 | OPEN | DC | 25 | 25 | 625 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 20 | IN HUDUGURU VILLAGE ON GAURIBIDANUR - GUDIBANDE ROAD Amachavadi Village on Haradanhalli to | CHIKKBALLAPURA | RURAL | 60 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| 21 | Amachavadi Road on LHS from Amachavadi to Hardanhalli | CHAMARAJANAGAR | RURAL | 100 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 22 | On LHS of IVC Road from Hosahalli Gate to Sobha Lifestyle | BENGALURU | RURAL | 240 | OPEN | СС | 25 | 25 | 625 | 16 | 6 | BIDDING | 10 | 4 |
| 23 | ON MULBAGAL ROAD WITHIN 2 KM FROM AP BORDER TOWARDS K.BYAPPALLI | KOLAR | RURAL | 60 | OPEN CC 2 | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 24 | IN KESARANAHALLI VILLAGE ON KAMASAMUDRAM ROAD (BANGARPET TALUK) | KOLAR | RURAL | 60 | OBC CC 1 | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 25 | Bommalapura Village | CHAMARAJANAGAR | RURAL | 100 | SC CC 1 | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| 26 | WITHIN EMMANATHA VILLAGE LIMITS ON MULBAGAL ROAD | KOLAR | RURAL | 60 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| | | | • | | | | | • | • | | | | | |

| 1 | | | | | | | | | | | | | | |
|--|---|---|---|---|--|--|--|--|--|---|---|---|---|---|
| 27 | WITHIN MARASANDRA VILLAGE LIMITS ON MALUR - WHITEFIELD ROAD | KOLAR | RURAL | 60 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| | On main road Nagalmadaka village, Pavagada | KOLAK | | | | | | | | | | | | |
| 28 | Taluk | TUMAKURU | RURAL | 70 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 29 | On Main road Venkatammanahalli Village , Pavagada Taluk, | TUMAKURU | RURAL | 70 | sc | CFS | 18 | 18 | 324 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| | WITHIN KAVARANAHALLI VILLAGE LIMITS ON | TUMAKUKU | | | | | | | | | | | | |
| 30 | AVALAGURIKI ROAD (ISHA FOUNDATION ROAD) | CHIKKBALLAPURA | RURAL | 60 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 31 | FROM J K PURAM TO GUTLUR VILLAGE, KGF TALUK | KOLAD | RURAL | 60 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| | Between NH 75 Junction to SH 94 Junction on | KOLAR | | | | | | | | | | | | |
| 32 | Magadi to Kunigal Road | RAMANAGARA | RURAL | 100 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| | Bhimenahalli Village Within 2 kms from | | | | | | | | | | _ | | | _ |
| 33 | Nandhavana Hotel on RHS towards Maruthi Nagar before Sai baba Temple | RAMANAGARA | RURAL | 100 | OPEN | cc | 30 | 30 | 900 | 16 | 6 | BIDDING | 10 | 4 |
| | IN NARASPURA INDUSTRIAL AREA, ON RHS WITHIN | ITAIWATAGAITA | | | | | | | | | _ | | | _ |
| 34 | 2 KM FROM MAIN GATE | KOLAR | RURAL | 60 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| 35 | Within 2 Kms from Harohalli circle on Bidadi - | DANAANACADA | RURAL | 100 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| | Harohalli Road Anywhere in Aerospace park/ITBT park/ Hardware | RAMANAGARA | | | | | | | | | | | | |
| 36 | Park | BENGALURU RURAL | RURAL | 100 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 37 | On Main Road , Ammasandra Village , Turuvekere | | | | | | | | | | | | | |
| | Taluk WITHIN 2 KM FROM KANAMANAHALLI VILLAGE | TUMAKURU | RURAL | 70 | OPEN CC 1 | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 38 | (BANGARPET TALUK) TO TAMIL NADU BORDER | KOLAR | RURAL | 60 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| | On Madhugiri- Kodigenahalli - Hindupur Road, On | | | | | | | | | | | | | |
| 39 | LHS Within 2 km from Kodigenahalli towards Madhugiri | THAARUS | BUDAL | 70 | 000 | DC | 20 | 20 | 000 | 1.0 | 35 | DRAW OF LOTE | _ | |
| | mounugiii | TUMAKURU | RURAL | 70 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 40 | On main road ,Dasarighatta Village , Tiptur Taluk | TUMAKURU | RURAL | 70 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 41 | On main road , Within 2 km from Hagalwadi | TUBARCON | BURA | | 00551 | | 20 | 20 | 000 | | _ | ninec | 10 | |
| 42 | Village towards Hosakere Besagrahalli Village not on Koppa Maddur road | TUMAKURU MANDYA | RURAL | 70 120 | OPEN OBC | CC DC | 30 30 | 30 30 | 900 900 | 16 16 | 6 35 | BIDDING DRAW OF LOTS | 10 5 | 3 |
| 43 | Within Madhabahvi Village Limits, Athani Taluq | BELAGAVI | RURAL | 88 | SC | CFS | 20 | 25 | 500 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| 44 | Within Hattimattur Village of Savanur Taluka | HAVERI | RURAL | 75 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 45 | Within Chinchalli Village Of Gadag Taluk(Not on Highway) | GADAG | RURAL | 70 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 46 | Shahabandar Village Limits To Hagedal Village | UNDING | DI ID A I | 80 | OBC | 500 | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 46 | Limits On Pachapur To Chikkaladinni Road | BELAGAVI | RURAL | 80 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 47 | Within 2 Km From Grama Panchayat Sulage On Yellur Road | BELAGAVI | RURAL | 75 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| | Within Haranagiri Village Of Ranebennur Taluk On | DELAGAVI | | | | | | | | | | | | |
| 48 | RHS From Govt.Primary School Towards Kudrihal | | RURAL | 75 | OPEN | DC | 25 | 25 | 625 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 40 | On Ranebennur Road | HAVERI | | | | | | | | | | | | |
| 49 | Within Bassapur Village Limit, Belagavi Taluk Umraj Village On Nandeshwar- Marvade- | BELAGAVI | RURAL | 80 | OPEN | DC | 25 | 25 | 625 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 50 | Mandrup Road | VIJAYAPURA | RURAL | 80 | OBC PH | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 51 | Sulikeri Village On LHS Towards Navanagar On | | RURAL | 100 | SC PH | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| | Sulikeri- Navanagar Road, Taluka: Badami | BAGALKOT | | 100 | | 0.5 | | | | · | | | - | |
| I 52 | Vatnal Villago Limit On Vatnal Vijavanura Boad | VIIAVADLIDA | DLIDAL | 00 | ODEN | DC | 20 | 20 | 000 | 16 | 25 | DRAW OF LOTS | r | 4 |
| 52 53 | Yatnal Village Limit On Yatnal -Vijayapura Road Village Manki Not On NH Taluk Honnavar | VIJAYAPURA UTTARA KANNADA | RURAL | 90 80 | OPEN OPEN | DC DC | 30 30 | 30 30 | 900 900 | 16 16 | 35 35 | DRAW OF LOTS | 5 | 4 |
| 53 54 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road | UTTARA KANNADA VIJAYAPURA | RURAL RURAL | 90 80 80 | OPEN OBC | DC DC | 30 30 30 | 30 30 30 | 900 900 900 | 16 16 | 35 35 | DRAW OF LOTS DRAW OF LOTS | 5 5 | 4 |
| 53 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side | UTTARA KANNADA | RURAL | 80 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 53 54 55 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs | UTTARA KANNADA VIJAYAPURA | RURAL RURAL RURAL | 80 80 100 | OPEN OBC OPEN | DC DC DC | 30 30 30 | 30 30 30 | 900 900 900 | 16 16 16 | 35 35 35 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 5 5 5 | 4 3 4 |
| 53 54 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side | UTTARA KANNADA VIJAYAPURA | RURAL RURAL | 80 80 | OPEN OBC | DC DC | 30 30 | 30 30 | 900 900 | 16 16 | 35 35 | DRAW OF LOTS DRAW OF LOTS | 5 5 | 4 |
| 53 54 55 56 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur | UTTARA KANNADA VIJAYAPURA VIJAYAPURA | RURAL RURAL RURAL RURAL | 80 80 100 75 | OPEN OBC OPEN ST | DC DC DC | 30 30 30 25 | 30 30 30 25 | 900 900 900 625 | 16 16 16 | 35 35 35 0 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 5 5 5 | 4 3 4 2 |
| 53 54 55 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI | RURAL RURAL RURAL | 80 80 100 | OPEN OBC OPEN | DC DC DC | 30 30 30 | 30 30 30 | 900 900 900 | 16 16 16 | 35 35 35 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 5 5 5 | 4 3 4 |
| 53 54 55 56 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri | UTTARA KANNADA VIJAYAPURA VIJAYAPURA | RURAL RURAL RURAL RURAL | 80 80 100 75 | OPEN OBC OPEN ST | DC DC DC | 30 30 30 25 | 30 30 30 25 | 900 900 900 625 | 16 16 16 | 35 35 35 0 | DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS | 5 5 5 | 4 3 4 2 |
| 53 54 55 56 57 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt. Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LHS Of Suranagi To | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA | RURAL RURAL RURAL RURAL RURAL RURAL | 80 80 100 75 100 | OPEN OBC OPEN ST OPEN OBC | DC DC CFS DC DC | 30 30 30 25 25 | 30 30 30 25 25 30 | 900 900 900 625 625 | 16 16 16 0 16 | 35 35 35 0 35 35 | DRAW OF LOTS | 5 5 5 0 | 4 3 4 2 4 3 |
| 53 54 55 56 57 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village on Chadchan Road Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LHS Of Suranagi To Balehosur Road(Not on Highway) | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI | RURAL RURAL RURAL RURAL | 80 80 100 75 | OPEN OBC OPEN ST | DC DC CFS DC | 30 30 30 25 | 30 30 30 25 | 900 900 900 625 | 16 16 16 0 | 35 35 35 0 | DRAW OF LOTS | 5 5 5 0 | 4 3 4 2 |
| 53 54 55 56 57 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LHS Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGAREE (NOT ON | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG | RURAL RURAL RURAL RURAL RURAL RURAL | 80 80 100 75 100 | OPEN OBC OPEN ST OPEN OBC | DC DC CFS DC DC | 30 30 30 25 25 | 30 30 30 25 25 30 | 900 900 900 625 625 | 16 16 16 0 16 | 35 35 35 0 35 35 | DRAW OF LOTS | 5 5 5 0 | 4 3 4 2 4 3 |
| 53 54 55 56 57 58 59 60 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village on Chadchan Road Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LHS Of Suranagi To Balehosur Road (Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA | RURAL | 80 80 100 75 100 80 100 | OPEN OBC OPEN ST OPEN OBC OPEN SC | DC DC DC CFS DC DC CFS CFS | 30 30 30 30 25 25 30 30 | 30 30 30 25 25 30 30 | 900 900 900 625 625 900 900 | 16 16 16 0 16 16 16 16 | 35 35 35 35 0 35 35 35 | DRAW OF LOTS | 5 5 5 0 5 5 5 | 4 3 4 2 4 3 4 2 |
| 53 54 55 56 57 58 59 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LHS Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGAREE (NOT ON | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG | RURAL RURAL RURAL RURAL RURAL RURAL RURAL RURAL | 80 80 100 75 100 80 | OPEN OBC OPEN ST OPEN OBC OPEN | DC DC DC CFS DC DC | 30 30 30 25 25 30 30 | 30 30 30 25 25 30 30 | 900 900 900 625 625 900 900 | 16 16 16 0 16 16 16 | 35 35 35 0 35 35 35 | DRAW OF LOTS | 5 5 5 0 5 5 | 4 3 4 2 4 3 4 |
| 53 54 55 56 57 58 59 60 61 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On Lhs Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN | RURAL | 80 80 100 75 100 80 100 | OPEN OBC OPEN ST OPEN OBC OPEN ST OBC OPEN OBC OPEN | DC DC DC CFS DC DC CFS DC DC DC DC DC | 30 30 30 30 25 25 25 30 30 30 | 30 30 30 30 25 25 25 30 30 30 | 900 900 900 625 625 900 900 | 16 16 16 0 16 16 16 16 16 | 35 35 35 0 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 0 5 5 5 0 | 4 3 4 2 3 4 2 3 3 |
| 53 54 55 56 57 58 59 60 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LHS Of Suranagi To Balehosur Road(Not on Highway) WITHIN A KIM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN | RURAL | 80 80 100 75 100 80 100 | OPEN OBC OPEN ST OPEN OBC OPEN SC | DC DC DC CFS DC DC CFS CFS | 30 30 30 30 25 25 30 30 | 30 30 30 25 25 30 30 | 900 900 900 625 625 900 900 | 16 16 16 0 16 16 16 16 | 35 35 35 35 0 35 35 35 | DRAW OF LOTS | 5 5 5 0 5 5 5 | 4 3 4 2 4 3 4 2 |
| 53 54 55 56 57 58 59 60 61 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On Lhs Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALLURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA | RURAL | 80 80 100 75 100 80 100 | OPEN OBC OPEN ST OPEN OBC OPEN ST OBC OPEN OBC OPEN | DC DC DC CFS DC DC CFS DC DC DC DC DC | 30 30 30 30 25 25 25 30 30 30 | 30 30 30 30 25 25 25 30 30 30 | 900 900 900 625 625 900 900 | 16 16 16 0 16 16 16 16 16 | 35 35 35 0 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 0 5 5 5 0 | 4 3 4 2 3 4 2 3 3 |
| 53 54 55 56 57 58 59 60 61 62 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LHS Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALLURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA | RURAL | 80 80 100 75 100 80 100 90 80 70 | OPEN OBC OPEN ST OPEN OBC OPEN OBC OPEN SC OPEN OPEN OPEN OPEN CC 1 | DC DC DC CFS DC | 30 30 30 30 25 25 30 30 30 30 24 | 30 30 30 30 25 25 30 30 30 30 24 | 900 900 900 625 625 900 900 900 576 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 | 35 35 35 0 35 35 35 0 35 35 35 35 | DRAW OF LOTS | 5 5 5 0 5 5 5 0 5 5 | 4 3 4 2 4 3 4 2 3 4 |
| 53 54 55 56 57 58 59 60 61 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On ths From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LhS Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALLURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA | RURAL | 80 80 100 75 100 80 100 90 80 | OPEN OBC OPEN ST OPEN OBC OPEN OBC OPEN SC OPEN | DC DC DC CFS DC | 30 30 30 30 25 25 30 30 30 30 | 30 30 30 30 25 25 30 30 30 30 24 | 900 900 900 625 625 900 900 900 576 | 16 16 16 0 16 16 16 16 16 | 35 35 35 0 35 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 0 5 5 5 0 5 5 | 4 3 4 2 4 3 4 4 |
| 53 54 55 56 57 58 59 60 61 62 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LHS Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA | RURAL | 80 80 100 75 100 80 100 90 80 70 | OPEN OBC OPEN ST OPEN OBC OPEN OBC OPEN SC OPEN OPEN OPEN OPEN CC 1 | DC DC DC CFS DC | 30 30 30 30 25 25 30 30 30 30 24 | 30 30 30 30 25 25 30 30 30 30 24 | 900 900 900 625 625 900 900 900 576 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 | 35 35 35 0 35 35 35 0 35 35 35 35 | DRAW OF LOTS | 5 5 5 0 5 5 5 0 5 5 | 4 3 4 2 4 3 4 2 3 4 |
| 53 54 55 56 57 58 59 60 61 62 63 64 65 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On ths From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LhS Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALLURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROADINOT ON SHI IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 2 KM FROM ARLAPADAVU | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 | OPEN OBC OPEN ST OPEN OBC OPEN OPEN OPEN SC OBC OPEN SC OBC OPEN SC OFEN OFEN OFEN OFEN OFEN OFEN OFEN OFEN | DC DC DC CFS DC | 30 30 30 30 25 25 30 30 30 30 24 30 30 | 30 30 30 30 25 25 30 30 30 30 24 30 30 | 900 900 900 625 625 900 900 900 576 900 900 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 0 35 35 35 0 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 0 5 5 5 5 5 5 0 | 4 3 4 2 4 3 4 2 3 4 4 3 4 2 |
| 53 54 55 56 57 58 59 60 61 62 63 64 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LHS Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAJOR SOADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 2 KM FROM ARLAPADAVU JUNCTION (RHS TOWARDS NELLITTIMAR) | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA | RURAL | 80 80 100 75 100 80 100 90 80 70 | OPEN OBC OPEN ST OPEN OBC OPEN OBC OPEN SC OPEN OBC OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN OBC | DC DC DC CFS DC | 30 30 30 25 25 30 30 30 30 30 30 30 | 30 30 30 30 25 25 30 30 30 30 24 | 900 900 900 625 625 900 900 900 576 900 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 0 35 35 35 35 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 0 5 5 0 5 5 5 | 4 3 4 2 4 3 4 2 3 4 4 2 |
| 53 54 55 56 57 58 59 60 61 62 63 64 65 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On ths From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LHS Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALLURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 2 KM FROM ARLAPADAVU JUNCTION (RHS TOWARDS NELLITTIMAR) ON SHIRTHADY AND MUDBIDRI ROAD, WITHIN ROODUKONAJE VILLAGE, | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI DAKSHINA KANNADA | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 | OPEN OBC OPEN ST OPEN OBC OPEN OPEN OPEN SC OBC OPEN SC OBC OPEN SC OFEN OFEN OFEN OFEN OFEN OFEN OFEN OFEN | DC DC DC CFS DC | 30 30 30 30 25 25 30 30 30 30 24 30 30 | 30 30 30 30 25 25 30 30 30 30 24 30 30 | 900 900 900 625 625 900 900 900 576 900 900 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 0 35 35 35 0 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 0 5 5 5 5 5 5 | 4 3 4 2 4 3 4 2 3 4 4 3 4 2 |
| 53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubil On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On Lhs Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALLURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAJOR KOADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 2 KM FROM ARLAPADAVU JUNCTION (RHS TOWARDS NELLITTIMAR) ON SHIRTHADY AND MUDBIDRI ROAD, WITHIN MOODUKONAJE VILLAGE, MUDBIDRI HOBLI | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 160 125 | OPEN OBC OPEN ST OPEN OBC OPEN SC OPEN OBC OPEN SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN | DC DC DC CFS DC | 30 30 30 30 25 25 30 30 30 24 30 30 30 30 24 | 30 30 30 30 25 25 30 30 30 24 30 30 30 30 30 | 900 900 900 625 625 900 900 900 576 900 900 576 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 0 35 35 35 0 35 35 35 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 | 4 3 4 2 4 3 4 2 3 4 4 4 3 2 4 4 4 4 |
| 53 54 55 56 57 58 59 60 61 62 63 64 65 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LHs Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 2 KM FROM ARLAPADAVU JUNCTION (RHS TOWARDS NELLITTIMAR) ON SHIRTHADY AND MUDBIDRI ROAD, WITHIN MOODUKONAJE VILLAGE, MUDBIDRI HOBLI ON NAKREPATNA - BANAVARA ROAD (NOT ON NH) | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI DAKSHINA KANNADA | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 160 | OPEN OBC OPEN ST OPEN OBC OPEN SC OPEN SC OPEN OBC OPEN CC 1 OBC SC OPEN OBC OPEN OPEN OPEN OPEN OBC | DC DC DC CFS DC | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 | 900 900 900 625 625 900 900 900 576 900 900 900 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 35 0 35 35 35 35 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 5 0 5 5 5 5 5 0 5 5 5 5 | 4 3 4 2 4 3 4 2 3 4 4 3 4 |
| 53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On Lhs Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALLURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 2 KM FROM ARLAPADAVU JUNCTION (RIS TOWARDS NELLITTIMAR) ON SHIRTHADY AND MUDBIDRI ROAD, WITHIN MOODUKONAJE VILLAGE, MUDBIDRI HOBLI ON SAKREPATNA - BANAVARA ROAD (NOT ON NH) WITHIN BADAGAKARANDOORU VILLAGE | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI DAKSHINA KANNADA | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 160 125 115 | OPEN OBC OPEN ST OPEN OBC OPEN SC OPEN SC OPEN OPEN COPEN OPEN OPEN OBC | DC DC DC DC CFS DC | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 900 900 900 625 625 900 900 900 576 900 900 576 900 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 35 0 35 35 35 35 35 35 35 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 5 5 0 5 5 5 5 0 5 5 5 5 5 5 5 5 5 | 4 3 4 2 4 3 4 2 3 4 4 3 2 4 4 3 3 |
| 53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LHs Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 2 KM FROM ARLAPADAVU JUNCTION (RHS TOWARDS NELLITTIMAR) ON SHIRTHADY AND MUDBIDRI ROAD, WITHIN MOODUKONAJE VILLAGE, MUDBIDRI HOBLI ON NAKREPATNA - BANAVARA ROAD (NOT ON NH) | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI DAKSHINA KANNADA | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 160 125 | OPEN OBC OPEN ST OPEN OBC OPEN SC OPEN OBC OPEN SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN | DC DC DC CFS DC | 30 30 30 30 25 25 30 30 30 24 30 30 30 30 24 | 30 30 30 30 25 25 30 30 30 24 30 30 30 30 30 | 900 900 900 625 625 900 900 900 576 900 900 576 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 0 35 35 35 0 35 35 35 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 | 4 3 4 2 4 3 4 2 3 4 4 4 3 2 4 4 4 4 |
| 53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On Lhs Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALLURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 2 KM FROM ARLAPADAVU JUNCTION (RHS TOWARDS NELLITTIMAR) ON SHIRTHADY AND MUDBIDRI ROAD, WITHIN MOODUKONAJE VILLAGE, MUDBIDRI HOBLI ON SAKREPATNA - BANAVARA ROAD (NOT ON NH) WITHIN BADAGAKARANDOORU VILLAGE LIMITS, BELTHANGADY TALUK (NOT ON SH) ON KEDDU TO KARAMBARU ROAD CHOOTNAHALLI VILLAGE ON ANY MAIN | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI DAKSHINA KANNADA CHIKKAMAGALUR | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 160 125 115 | OPEN OBC OPEN ST OPEN OBC OPEN SC OPEN SC OPEN OPEN CC 1 OBC SC OPEN OPEN SC OPEN SC OPEN SC OPEN SC OPEN OPEN SC OPEN SC OPEN SC OPEN OPEN OPEN OPEN OPEN | DC DC DC CFS DC | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 900 900 900 625 625 900 900 900 576 900 900 576 900 900 900 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 0 35 35 35 35 35 35 35 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 5 0 5 5 5 5 5 0 5 5 5 5 0 5 5 | 4 3 4 2 4 3 4 2 3 4 4 3 2 4 4 3 2 |
| 53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On ths From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LhS Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALLURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROADINOT ON SHI IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 2 KM FROM ARLAPADAVU JUNCTION (RHS TOWARDS NELLITTIMAR) ON SHIRTHADY AND MUDBIDRI ROAD, WITHIN DENDELON (SHE) ON SAKEPATNA - BANAVARA ROAD (NOT ON NH) WITHIN BODDIKONAJE VILLAGE, MUDBIDRI HOBLI ON SAKEPATNA - BANAVARA ROAD (NOT ON NH) WITHIN BADAGAKARANDOORU VILLAGE LIMITS, BELTHANGADY TALUK (NOT ON SH) ON KEDDU TO KARAMBARU ROAD CHOOTNAHALLI VILLAGE ON ANY MAIN ROAD, HAMPAPURA HOBLI, HD KOTE | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI DAKSHINA KANNADA CHIKKAMAGALUR | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 160 125 115 | OPEN OBC OPEN ST OPEN OBC OPEN SC OPEN SC OPEN OPEN COPEN OPEN OPEN OBC | DC DC DC DC CFS DC | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 900 900 900 625 625 900 900 900 576 900 900 576 900 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 35 0 35 35 35 35 35 35 35 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 5 5 0 5 5 5 5 0 5 5 5 5 5 5 5 5 5 | 4 3 4 2 4 3 4 2 3 4 4 3 2 4 4 3 3 |
| 53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On ths From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On LhS Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 4 KM FROM ARLAPADAVU JUNCTION (RHS TOWARDS NELLITTIMAR) ON SHIRTHADY AND MUDBIDRI ROAD, WITHIN MOODUKONAJE VILLAGE MUDBIDRI HOBLI ON SAKREPATNA - BANAVARA ROAD (NOT ON NH) WITHIN BADAGAKARANDOORU VILLAGE LIMITS, BELTHANGAND TALUK (NOT ON SH) ON KEDDU TO KARAMBARU ROAD CHOOTNAHALLI VILLAGE ON ANY MAIN ROAD, HAMPAPURA HOBLI, HD KOTE TALUK (NOT ON SH) | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI DAKSHINA KANNADA CHIKKAMAGALUR DAKSHINA KANNADA | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 160 125 115 100 | OPEN OBC OPEN ST OPEN OBC OPEN SC OPEN OBC OPEN OPEN COPEN OPEN OBC SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN | DC DC CFS DC DC CFS DC DC CFS DC | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 900 900 900 625 625 900 900 900 576 900 900 576 900 900 900 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 35 0 35 35 35 35 35 35 35 35 35 0 35 35 0 35 | DRAW OF LOTS | 5 5 5 5 0 5 5 5 5 5 5 5 0 5 5 5 5 0 5 5 5 5 0 5 5 5 5 5 5 5 5 5 5 6 7 6 7 7 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 | 4 3 4 2 4 3 4 2 3 4 4 3 2 4 4 3 2 4 |
| 53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Within Balehosur Village On Lhs Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAJOR SOADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 2 KM FROM ARLAPADAVU JUNCTION (RHS TOWARDS NELLITTIMAR) ON SHIRTHADY AND MUDBIDRI ROAD, WITHIN MOODUKONAJE VILLAGE, MUDBIDRI HOBLI ON SAKREPATNA - BANAVARA ROAD (NOT ON NH) WITHIN BADAGAKARANDOORU VILLAGE LIMITS, BELTHANGADY TALUK (NOT ON SH) WITHIN BADAGAKARANDOORU VILLAGE LIMITS, BELTHANGADY TALUK (NOT ON SH) WITHIN BADAGAKARANDOORU VILLAGE LIMITS, BELTHANGADY TALUK (NOT ON SH) ON KEDDU TO KARAMBARU ROAD CHOOTNAHALLI VILLAGE ON ANY MAIN ROAD, HAMPAPURA HOBLI, HD KOTE TALUK (NOT ON SH) ON HUNSUR ATHINAPURI ROAD, WITHIN DODDAHUNSUR VILLAGE LIMIT, HUNSUR | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI DAKSHINA KANNADA CHIKKAMAGALUR DAKSHINA KANNADA CHIKKAMAGALUR | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 160 125 115 | OPEN OBC OPEN ST OPEN OBC OPEN SC OPEN SC OPEN OPEN CC 1 OBC SC OPEN OPEN SC OPEN SC OPEN SC OPEN SC OPEN OPEN SC OPEN SC OPEN SC OPEN OPEN OPEN OPEN OPEN | DC DC DC CFS DC | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 900 900 900 625 625 900 900 900 576 900 900 576 900 900 900 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 0 35 35 35 35 35 35 35 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 5 0 5 5 5 5 5 0 5 5 5 5 0 5 5 | 4 3 4 2 4 3 4 2 3 4 4 3 2 4 4 3 2 |
| 53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 70 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On ths From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On Lhs Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALLURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 2 KM FROM ARLAPADAVU JUNCTION (RHS TOWARDS NELLITTIMAR) ON SHIRTHADY AND MUDBIDIR ROAD, WITHIN MOODUKONAJE VILLAGE, MUDBIDRI HOBLI ON SAKERPATNA - BANAVARA ROAD (NOT ON NH) WITHIN BADAGAKARANDOORU VILLAGE LIMITS, BELTHANGADY TALUK (NOT ON SH) ON KEDDU TO KARAMBARU ROAD CHOOTNAHALLI VILLAGE ON ANY MAIN ROAD, HAMPAPURA HOBLI, HD KOTE TALUK (NOT ON SH) ON HUNSUR RATHNAPURI ROAD, WITHIN DODDAHUNSURU VILLAGE LIMIT, HUNSUR TALUK BETWEEN PERUMBADI AND BITTANGALA | UTTARA KANNADA VIJAYAPURA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI DAKSHINA KANNADA CHIKKAMAGALUR DAKSHINA KANNADA MYSURU MYSURU | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 125 115 100 125 70 | OPEN OBC OPEN ST OPEN OBC OPEN SC OPEN OBC OPEN SC OPEN OPEN OPEN SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN | DC D | 30 30 30 30 25 25 30 30 30 30 30 30 30 30 30 30 30 30 30 | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 900 900 900 625 625 900 900 900 576 900 900 900 900 900 900 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 35 0 35 35 35 35 35 35 35 35 35 0 35 35 35 0 35 35 35 35 35 35 35 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 5 0 5 5 5 5 0 5 5 5 0 5 5 5 0 5 5 5 5 0 0 5 5 5 5 0 0 5 5 0 | 4 3 4 2 4 3 4 2 3 4 4 3 2 4 4 3 2 4 4 4 4 |
| 53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubil On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On Lhs Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALLURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 2 KM FROM ARLAPADAVU JUNCTION (RHS TOWARDS NELLITTIMAR) ON SHIRTHADY AND MUDBIDRI ROAD, WITHIN MOODUKONAJE VILLAGE, MUDBIDRI HOBLI ON SAKREPATNA - BANAVARA ROAD (NOT ON NH) WITHIN BADAGAKARANDOORU VILLAGE LIMITS, BELTHANGADY TALUK (NOT ON SH) ON KEDDU TO KARAMBARU ROAD CHOOTNAHALLI VILLAGE ON ANY MAIN ROAD, HAMPAPURA HOBLI, HD KOTE TALUK (NOT ON SH) ON HUNSUR RATHNAPURI ROAD, WITHIN ONDDAHAPURA HOBLI, HD KOTE TALUK (NOT ON SH) ON HUNSUR RATHNAPURI ROAD, WITHIN ONDDAHAPURA HOBLI, HD KOTE TALUK (NOT ON SH) | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI DAKSHINA KANNADA CHIKKAMAGALUR DAKSHINA KANNADA CHIKKAMAGALUR | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 160 125 115 100 | OPEN OBC OPEN ST OPEN OBC OPEN SC OPEN OBC OPEN OPEN COPEN OPEN OBC SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN | DC DC CFS DC DC CFS DC DC CFS DC | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 900 900 900 625 625 900 900 900 576 900 900 576 900 900 900 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 35 0 35 35 35 35 35 35 35 35 35 0 35 35 0 35 | DRAW OF LOTS | 5 5 5 5 0 5 5 5 5 5 5 5 0 5 5 5 5 0 5 5 5 5 0 5 5 5 5 5 5 5 5 5 5 6 7 6 7 7 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 | 4 3 4 2 4 3 4 2 3 4 4 3 2 4 4 3 2 4 |
| 53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 70 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On ths From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On Lhs Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALLURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 2 KM FROM ARLAPADAVU JUNCTION (RHS TOWARDS NELLITTIMAR) ON SHIRTHADY AND MUDBIDIR ROAD, WITHIN MOODUKONAJE VILLAGE, MUDBIDRI HOBLI ON SAKERPATNA - BANAVARA ROAD (NOT ON NH) WITHIN BADAGAKARANDOORU VILLAGE LIMITS, BELTHANGADY TALUK (NOT ON SH) ON KEDDU TO KARAMBARU ROAD CHOOTNAHALLI VILLAGE ON ANY MAIN ROAD, HAMPAPURA HOBLI, HD KOTE TALUK (NOT ON SH) ON HUNSUR RATHNAPURI ROAD, WITHIN DODDAHUNSURU VILLAGE LIMIT, HUNSUR TALUK BETWEEN PERUMBADI AND BITTANGALA | UTTARA KANNADA VIJAYAPURA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI DAKSHINA KANNADA CHIKKAMAGALUR DAKSHINA KANNADA MYSURU MYSURU | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 125 115 100 125 70 | OPEN OBC OPEN ST OPEN OBC OPEN SC OPEN OBC OPEN SC OPEN OPEN OPEN SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN | DC D | 30 30 30 30 25 25 30 30 30 30 30 30 30 30 30 30 30 30 30 | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 900 900 900 625 625 900 900 900 576 900 900 900 900 900 900 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 35 0 35 35 35 35 35 35 35 35 35 0 35 35 35 35 35 35 35 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 5 0 5 5 5 5 0 5 5 5 0 5 5 5 0 5 5 5 5 0 0 5 5 5 5 0 0 5 5 0 | 4 3 4 2 4 3 4 2 3 4 4 3 2 4 4 3 2 4 4 4 4 |
| 53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 70 71 72 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Chitthakula Village not on NH, Taluk: Karwar Within Balehosur Village On Lhs Of Suranagi To Balehosur Road(Not on Highway) WITHIN 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALLURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON SHIRTHADY AND MUDBIDRI ROAD, WITHIN 2 KM FROM ARLAPADAVU JUNCTION (RIS TOWARDS NELLITTIMAR) ON SHIRTHADY AND MUDBIDRI ROAD, WITHIN MOODUKONAJE VILLAGE, MUDBIDRI HOBLI ON SAKREPATNA - BANAVARA ROAD (NOT ON NH) WITHIN BADAGAKARANDOORU VILLAGE LIMITS, BELTHANGADY TALUK (NOT ON SH) ON KEDDU TO KARAMBARU ROAD CHOOTNAHALLI VILLAGE ON ANY MAIN ROAD, HAMPAPURA HOBLI, HD KOTE TALUK (NOT ON SH) ON HUNSUR RATHNAPURI ROAD, WITHIN DODDAHUNSURU VILLAGE LIMIT, HUNSUR TALUK (NOT ON SH) FROM KABKOLA TO TVS PLANT, BYATHAHALLI ON TVS PLANT, | UTTARA KANNADA VIJAYAPURA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI DAKSHINA KANNADA CHIKKAMAGALUR DAKSHINA KANNADA MYSURU MYSURU | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 160 125 115 100 125 70 | OPEN OBC OPEN ST OPEN OBC OPEN SC OPEN OBC OPEN SC OPEN OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN | DC DC CFS DC DC CFS DC | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 900 900 900 900 625 625 900 900 900 576 900 900 900 900 900 900 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 35 0 35 35 35 35 35 35 35 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 5 0 5 5 5 5 5 0 5 5 5 5 0 5 5 5 5 | 4 3 4 2 4 3 4 2 3 4 4 3 2 4 4 4 3 2 |
| \$3 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 70 71 | Village Manki Not On NH Taluk Honnavar Jigajeevani Village on Chadchan Road Basarkod Village To Rudagi village On Both Side Within Huralikuppi Village Of Savanur Taluk On Lhs From Govt.Primary Health Center Towards Savanur Within Devagiriyallapur Village On Lhs From Haveri Towards Hubli On Old Pb Road (Not On Highway) Within Balehosur Village on Lhs Of Suranagi To Balehosur Road(Not on Highway) WiThin 4 KM FROM HOYSALA CIRCLE (HALEBEEDU) TOWARDS HAGARE (NOT ON NH/SH) ON MAJOR ROADS WITHIN GOVINDAPURA VILLAGE LIMITS OF SHIMOGA TALUKA BILIGALURU VILLAGE LIMITS, WITHIN 2 KMS FROM KARGAL PANCHAYAT OFFICE TOWARDS SAGAR ROAD(NOT ON SH) IN BETWEEN TALAGUPPA TO VARADAHALLI NOT ON NH ON MAJOR ROADS WITHIN GENDEHALLI VILLAGE LIMITS ON MAIN ROAD BETWEEN KOTESHWARA AND HALADY WITHIN 2 KM FROM ARLAPADAVU JUNCTION (RHS TOWARDS NELLITTIMAR) ON SHIRTHADY AND MUDBIDRI ROAD, WITHIN MOODUKONAJE VILLAGE, MUDBIDRI HOBLI ON SAKKEPATNA - BANAVARA ROAD (NOT ON NH) WITHIN BADAGAKARANDOORU VILLAGE LIMITS, BESLTHANGADY TALUK (NOT ON SH) WITHIN BADAGAKARANDOORU VILLAGE LIMITS, BESLTHANGADY TALUK (NOT ON SH) WITHIN BADAGAKARANDOORU VILLAGE LIMITS, BESLTHANGADY TALUK (NOT ON SH) WITHIN BADAGAKARANDOORU VILLAGE LIMITS, BESLTHANGADY TALUK (NOT ON SH) ON KEDDU TO KARAMBARU ROAD CHOOTNAHALLI VILLAGE ON ANY MAIN ROAD, HAMPAPURA HOBLI, HD KOTE TALUK (NOT ON SH) ON HUNSUR RATHNAPURI ROAD, WITHIN DODDAHUNSUR VILLAGE LIMIT, HUNSUR TALUK BETWEEN PERUMBADI AND BITTANGALA VILLAGE (NOT ON SH) FROM KADKOLA TO TVS PLANT, BYATHAHALLI ON TVS PLANT, BYATHAHALLI ON TVS PLANT, BYATHAHALLI ON TVS PLANT ROAD (NOT | UTTARA KANNADA VIJAYAPURA VIJAYAPURA HAVERI HAVERI UTTARA KANNADA GADAG HASSAN SHIVAMOGGA SHIVAMOGGA SHIVAMOGGA HASSAN UDUPI DAKSHINA KANNADA CHIKKAMAGALUR DAKSHINA KANNADA MYSURU KODAGU | RURAL | 80 80 100 75 100 80 100 90 80 70 100 80 160 125 115 100 125 70 | OPEN OBC OPEN ST OPEN OBC OPEN SC OPEN OBC OPEN SC OPEN OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN | DC DC CFS DC DC CFS DC | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 30 30 30 30 25 25 30 30 30 30 24 30 30 30 30 30 30 30 30 30 30 30 30 30 | 900 900 900 900 625 625 900 900 900 576 900 900 900 900 900 900 | 16 16 16 0 16 16 16 16 16 16 16 16 16 16 16 16 16 | 35 35 35 35 0 35 35 35 35 35 35 35 35 35 35 35 35 35 | DRAW OF LOTS | 5 5 5 5 0 5 5 5 5 5 0 5 5 5 5 0 5 5 5 5 | 4 3 4 2 4 3 4 2 3 4 4 3 2 4 4 4 3 2 |

| | ON ANY MAIN ROAD WITHIN GONIKOPPAL | | ı | | 1 1 | | ı | ı | ı | | 1 | 1 | | 1 |
|------------|--|-----------------------|----------------|----------|--------------|-----------|----------|----------|------------|----------|----------|----------------------------|---------|---|
| 75 | PACHAYAT LIMITS (NOT ON SH) | KODAGU | RURAL | 80 | OPEN PH | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 76 | ON MAIN ROADS WITHIN HALEYURU VILLAGE, CHUNCHANKATTE HOBLI, SALIGRAMA TALUK | MYSURU | RURAL | 120 | ОВС | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 77 | ON ANY MAIN ROAD NERALAKUPPE VILLAGE, HANAGODU HOBLI, HUNSUR TALUK (NOT ON SH) | MYSURU | RURAL | 70 | OPEN | DC | 24 | 24 | 576 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 78 | FROM TVS PLANT, BYATHAHALLI TO JAYAPURA (NOT ON NH/SH) | MYSURU | RURAL | 120 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| 79 | ON MAJOR ROADS WITHIN NITTUR VILLAGE LIMIT | HASSAN | RURAL | 90 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 80 | BETWEEN DONANAKATTE AND PANCHANAHALLI HAND POST ON ARSIKERE-PANCHANAHALLI ROAD (WITHIN HASSAN DISTRICT) | HASSAN | RURAL | 90 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 81 | ON MAJOR ROADS WITHIN DODDABEMMATTI VILLAGE | HASSAN | RURAL | 90 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 82 | ON MAJOR ROADS BETWEEN KATTEHAKKLU TO HOSAKOPPA IN TIRTHAHALLI TALUK | SHIVAMOGGA | RURAL | 100 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 83 | ON MAJOR ROADS WITHIN BANAVARA VILLAGE LIMITS (NOT ON NH) | HASSAN | RURAL | 90 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| 84 | WITHIN 5 KM FROM AREHALLI POLICE STATION TOWARDS SAKLESHPUR | HASSAN | RURAL | 110 | ОВС | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 85 | ON MAIN ROAD, WITHIN NEERUMARGA VILLAGE, GURUPURA TALUK | DAKSHINA KANNADA | RURAL | 149 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 86 | ON MAJOR ROADS WITHIN KEMBALU VILLAGE LIMIT | HASSAN | RURAL | 80 | OPEN CC 1 | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 87 | WITHIN KELANJARU VILLAGE LIMITS, ON MASTHIKATTE ROAD, GURUPURA HOBLI | DAKSHINA KANNADA | RURAL | 130 | ST | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| 88 | ON MAIN ROAD FROM BIRUR TO UPPAHUNASE VILLAGE, KADUR TALUK (NOT ON NH/SH) | CHIKKAMAGALUR | RURAL | 140 | ОВС | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 89 | ON MAIN ROAD GONIBEDU VILLAGE LIMITS (NOT ON NH) | CHIKKAMAGALUR | RURAL | 130 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 90 | ON KEMMANU ROAD, WITH 4 KM FROM SANTHEKATTE JUNCTION | UDUPI | RURAL | 150 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 91 | ON MAIN ROAD, PADUTHONSE VILLAGE, UDUPI TALUK | UDUPI | RURAL | 150 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 92 | ON MAIN ROAD, WITHIN 1.5 KM RADIUS OF NR PURA POLICE STATION, NARASIMHARAJAPURA TALUK | CHIKKAMAGALUR | RURAL | 120 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| 93 | Erabanahalli Village, Sanduru Taluka | BELLARI | RURAL | 100 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 94 | Within Talamari Village Limits on Yeragera Road | RAICHUR | RURAL | 70 | OPEN | CC | 30 | 30 | 900 | 16 | 6 | BIDDING | 10 | 4 |
| 95 | On RHS Within 1 Km from AP-KA Border towards Karur, in MataSugura Village, Siriguppa Taluka | BELLARI | RURAL | 70 | OBC | СС | 30 | 30 | 900 | 16 | 6 | BIDDING | 10 | 3 |
| 96 97 | In Basarakodu village, Bellary Taluka With in Mudhaballi Village, Koppal Taluk | BELLARI KOPPAL | RURAL | 70 70 | SC OPEN | DC DC | 30 30 | 30 30 | 900 900 | 0 16 | 0 35 | DRAW OF LOTS DRAW OF LOTS | 5 | 2 |
| 98 | Within 2Kms from Kopper Village in Devadurga Town towards Googal | RAICHUR | RURAL | 70 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 99 | With in Hirebenkal Village, Ganagwathi Taluk | KOPPAL | RURAL | 100 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 100 | Kotehalu Village, Siruguppa Taluka On LHS towards Raichur, From Nandinne-Raichur checkpost to Annapurna Hotel on Gadwal to | BELLARI | RURAL | 70 | ST OPEN | CFS CC | 30 | 30 | 900 | 16 | 6 | DRAW OF LOTS BIDDING | 10 | 4 |
| 102 | Raichur Road On LHS towards PamanKallur, Within 2kms from | RAICHUR | RURAL | 70 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 103 | Hatti-Pamankallur Cross in Hatti Within 2Kms from Panchmukhi Cross (Mantralayam NH Road) on the road towards | RAICHUR | RURAL | 70 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 104 | Ganadhal HEMANAGHATTA VILLAGE TO MADAMANAHALLI VILLAGE, CHITRADURGA TALUK ON BHARAMASAGARA - BILCHODU ROAD | RAICHUR CHITRADURGA | RURAL | 70 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 105 | In Danayakanakeri Village, Hospete Taluk, Within 1 Km from NH 50 towards Gollarahalli | VIJAYANAGARA | RURAL | 70 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| 106 | Dhabaka Village,Kamal nagar Taluk | BIDAR | RURAL | 70 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 107 | BELAGURU TO KABBALA ON HOSADURGA ROAD NOT ON SH | CHITRADURGA | RURAL | 70 | OPEN | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 108 109 | Ramteerth D Village, Basavakalyan Taluk Ballurgi Village, Afzalpur Taluk | BIDAR KALABURAGI | RURAL | 70 70 | OPEN SC | DC CFS | 30 30 | 30 30 | 900 900 | 16 0 | 35 0 | DRAW OF LOTS DRAW OF LOTS | 5 0 | 2 |
| 110 | On LHS, From Saidapur RTC Busstand towards Railway Gate in Saidapur | YADAGIRI | RURAL | 70 | OBC | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 111 112 | chinmagera village, Afzalpur Taluk Within Hyati Village, Koppal Taluk | KALABURAGI KOPPAL | RURAL RURAL | 70 70 | OPEN CC 1 | CC DC | 30 30 | 30 30 | 900 900 | 16 16 | 6 35 | BIDDING DRAW OF LOTS | 10 5 | 4 |
| 113 | On Either Sides, Within 2Km from Hediginal Camp- Jawalgera-Pothnal Cross in Hediginal | RAICHUR | RURAL | 70 | ОВС | DC | 30 | 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 3 |
| 114 | With in 2 Kms from Kakkera cross on Tintani to Hunasagi Road | YADAGIRI | RURAL | 70 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| 115 116 | Mehkar Village, Bhalki Taluk On LHS Within 1.5km From Malkhed KEB sub | BIDAR | RURAL | 70 70 | OPEN | DC DC | 30 30 | 30 30 | 900 | 16 | 35 | DRAW OF LOTS | 5 | 4 |
| 116 | station Towards Chittapur. Chondi Muthakheda village, Kamalnagar Taluk | KALABURAGI BIDAR | RURAL | 70 70 | OPEN OBC | DC | 30 | 30 | 900 | 16 16 | 35 35 | DRAW OF LOTS DRAW OF LOTS | 5 | 3 |
| 118 | Kuppagal Village, Bellary Taluka | BELLARI | RURAL | 70 | SC | CFS | 30 | 30 | 900 | 0 | 0 | DRAW OF LOTS | 0 | 2 |
| 119 120 | Kotehalu Village, Siruguppa Taluka Sonth Village, Kamalapur Taluk | BELLARI KALABURAGI | RURAL | 70 70 | OPEN OPEN | DC DC | 30 30 | 30 30 | 900 900 | 16 16 | 35 35 | DRAW OF LOTS DRAW OF LOTS | 5 | 4 |
| 140 | Johan village, Kalilalaput Taluk | NALABUKAGI | NUKAL | 70 | UPEN | νC | JU | JU | 900 | 10 | 33 | DUWANA OL FO12 | J | 4 |

[#] Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (www.hindustanpetroleum.com / www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

| Type of RO | Type of Site | | Applicati on fee in Rs. | Type of | Type of Site | Category | Applicati on fee in Rs. |
|------------|--------------|-------|-------------------------------|-----------|-----------------|----------|-------------------------------|
| Regular | CFS | SC/ST | 3000 | Rural ROS | CFS | SC/ST | 2500 |
| ROs | CC | OBC | 5000 | | CC | OBC | 4000 |
| | CC | Open | 10000 | | CC | Open | 8000 |
| | DC | OBC | 5000 | | DC | OBC | 4000 |
| | DC | Open | 10000 | | DC | Open | 8000 |

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of $\underline{\bf 10}$ years and renewable every $\underline{\bf 10}$ years thereafter.

This is only a notice inviting application for all otment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

| Address / Contact Numbers | For Districts |
|---|--|
| HINDUSTAN PETROLEUM CORPORATION LIMITED, BANGALORE RETAIL REGIONAL OFFICE, NO:77,OLD MADRAS ROAD, DOORAVANINAGAR POST, KRISHNARAJAPURAM, BENGALURU – 560016 KARNATAKA, CONTACT NOS: 080 22167000, 9845795689 | BENGALURU, BENGALURU RURAL, RAMANAGARA, MANDYA, CHAMRAJNAGAR, KOLAR, CHIKKABALLAPURA, TUMKURU |
| HINDUSTAN PETROLEUM CORPORATION LIMITED, MANGLORE RETAIL REGIONAL OFFICE, FIRST FLOOR, DEO GRATIAS, BUILDING, CHILIMBI, URVA STORES MANGALORE - 575 006 KARNATAKA CONTACT NUMBERS:0824- 2451565, 9483521035 | CHIKKAMAGALUR, DAKSHINA KANNADA, HASSAN, KODAGU, MYSURU, SHIVAMOGGA, UDUPI |
| HINDUSTAN PETROLEUM CORPORATION LIMITED, BELGAUM RETAIL REGIONAL OFFICE, SAMBHAJI ROAD, RANI CHANNAMMA NAGAR, BELGAUM-590006, KARNATAKA CONTACT NOS: 0831-2400901, 9669660033 | BAGALKOT, BELAGAVI, VIJAYAPURA, DHARWAD, GADAG, HAVERI, UTTARA KANNADA |
| HINDUSTAN PETROLEUM CORPORATION LIMITED, BELLARY RETAIL REGIONAL OFFICE, ZND FLOOR, SLV GURUDUTTA TOWERS, ABOVE INDIAN BANK, GANDHINAGAR 3RD CROSS, BELLARY-S85103 KARNATAKA CONTACT NO. 08392-257773, 9442588444 | BELLARI, BIDAR, CHITRADURGA, DAVANGERE, KALABURAGI, KOPPAL, RAICHUR, YADAGIR , VIJAYANAGARA |